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 x……®……ΔEÚ Roll No. 
  

 
 

      

No. of Questions — 30  SS—30–Accountancy 

No. of Printed Pages — 15 
 

=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2013 
SENIOR SECONDARY EXAMINATION, 2013 

±…‰J……∂……∫j… 
ACCOUNTANCY  

∫…®…™… :  3 
4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 80 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… :  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â*  
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ∫…¶…“ |…∂x… + x…¥……™…« ΩÈ˛*  
  All the questions are compulsory.  
 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙ {…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  
  Write the answer to each question in the given answer-book 

only. 
 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 
  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙h… ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ / 

 ¥…Æ˙…‰v……¶……π… Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ Ω˛“ ∫…Ω˛“ ®……x…Â*  
  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 

 6. i) ™…Ω˛ |…∂x… {…j… n˘…‰ J…hb˜…Â ®…Â  ¥…¶…HÚ ΩË˛ — + +…ËÆ˙ §… 
  ii) J…hb˜ "+' ∫…¶…“ UÙ…j……Â E‰Ú  ±…B + x…¥……™…« ΩË˛* 
  iii) J…hb˜ "§…' E‰Ú n˘… ‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ 

¶……M… E‰Ú ∫…¶…“ ∫……i… |…∂x……Â E‰Ú Ω˛±… EÚÆ˙x…… ΩË˛*   
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  i) This question paper contains two Parts A and B. 
  ii) Part 'A' is compulsory for all candidates. 
  iii) Part 'B' has two portions. Every portion has 'a set' of seven 

questions. Candidate can attempt only a set of seven 
questions of any one portion.  

 7. ¶……M… |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… 
  + 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

  §… 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

+l…¥…… 
   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
  Part Question Nos. Marks per question 
   A 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

   B 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

OR 

   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
 8. |…∂x… ∫…ΔJ™…… 22 (¶……M…-+) i…l…… 30 (¶……M…-§…) ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛*  
  There are internal choices in Q. No. 22 ( Part-A ) and Q. No. 30  

( Part-B ). 
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J…hb˜ - + 
PART – A  

1. V…§… BEÚ x…™…… ∫……Z…‰n˘…Æ˙ ∫……Z…‰n˘…Æ˙“ °Ú®…« ®…Â |…¥…‰∂… EÚÆ˙i…… ΩË˛ i……‰ °Ú®…« EÚ“ ∫…®{… k… B¥…Δ ±……¶… ®…Â 
 Ω˛∫∫…… |……{i… EÚÆ˙x…‰ E‰Ú  ±…B V……‰ Æ˙… ∂… ±……i…… ΩË˛ =∫…‰ C™…… EÚΩ˛i…‰ ΩÈ˛˛? 

 When a new partner enters in a partnership firm, what is called the 
amount that he brings to receive share in firm's assets and profit ? 1 

2. +Δ EÚi… +…ËÆ˙ §…∫…xi… °Ú®…« ®…Â ±……¶… i…l…… Ω˛… x… EÚ…‰ 3 : 2 ®…Â §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛˛* M……‰ ¥…xn˘ EÚ…‰ 

5
1 ¶……M… E‰Ú  ±…B ∫……Z…‰n˘…Æ˙“ ®…Â |…¥…‰∂… n‰˘i…‰ ΩÈ˛* M……‰ ¥…xn˘ =∫…‰ +Δ EÚi… +…ËÆ˙ §…∫…xi… ∫…‰ 2 : 3 E‰Ú 
+x…÷{……i… ®…Â |……{i… EÚÆ˙i…… ΩË˛* ∫……Z…‰n˘…Æ˙…Â EÚ… x…™…… ±……¶…-Ω˛… x… +x…÷{……i… C™…… Ω˛…‰M…… ?  

 Ankit and Basant are partners in a firm sharing profits and losses in 
the ratio of 3 : 2. Govind is admitted in the firm for 5

1 th share in profit. 
Govind gets it from Ankit and Basant in the ratio of 2 : 3. Calculate the 
new profit and loss sharing ratio of the partners. 1 

3. + +…ËÆ˙ §… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛˛* °Ú®…« EÚ“  ¥… x…™……‰ V…i… {…⁄ƒV…“ 5,00,000 Ø˚0 ΩË˛ +…ËÆ˙ 
∫……®……x™… |…i™……™… EÚ“ n˘Æ˙ 10% ¥……Ãπ…EÚ ΩË˛* |…i™…‰EÚ ∫……Z…‰n˘…Æ˙ EÚ… ¥……Ãπ…EÚ ¥…‰i…x… 8,000 Ø˚0 ΩË˛* 
M…i… 10 ¥…π……Á EÚ… +…Ë∫…i… ±……¶… 80,000 Ø˚0 l……* + v…±……¶……Â E‰Ú {…⁄ƒV…“EÚÆ˙h…  ¥… v… E‰Ú +…v……Æ˙ 
{…Æ˙ J™…… i… EÚ“ M…h…x…… EÚ“ V…B* 

 A and B are partners in a firm. The capital employed of the firm is    
Rs. 5,00,000 and normal rate of return is 10% per annum.         
Annual salary of each partner is Rs. 8,000. The average profit was    
Rs. 80,000 for last 10 years. Calculate the value of goodwill by super- 
profit capitalisation method. 1 

4. +, §… +…ËÆ˙ ∫… BEÚ °Ú®…« ®…Â 5 : 3 : 2 E‰Ú +x…÷{……i… ®…Â ±……¶…-Ω˛… x… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛˛* °Ú®…« 
x…‰ BEÚ 1,50,000 Ø˚0 EÚ“ ∫…Δ™…÷HÚ V…“¥…x… §…“®…… {……Ï±…“∫…“ ±…“* §… EÚ“ ®…fii™…÷ Ω˛…‰ M…<«* ®…fii™…÷ E‰Ú 
∫…®…™… {……Ï±…“∫…“ EÚ… ∫…®…{…«h… ®…⁄±™… 50,000 Ø˚0 {…÷∫i…EÚ…Â ®…Â n˘V…« l……* ∫…Δ™…÷HÚ V…“¥…x… §…“®…… E‰Ú 
∫…®……™……‰V…x… Ω‰˛i…÷ BEÚ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* 

 A, B and C are partners in a firm sharing profits and losses in the ratio 
of 5 : 3 : 2. The firm took a joint life policy of Rs. 1,50,000.          B 
died. The surrender value of the policy was Rs. 50,000 in the books at 
the time of death. 

 Pass a journal entry for adjustment of joint life policy. 1 
5. °Ú®…« E‰Ú ∫…®……{…x… E‰Ú ∫…®…™…  S…_‰ˆ ®…Â 60,000 Ø˚0 E‰Ú n‰˘x…n˘…Æ˙ l…‰* =x…®…Â ∫…‰ 20,000 Ø˚0 b⁄˜§… 

M…™…‰* ∂…‰π… ∫…‰ 5% §…^‰ı {…Æ˙ ¥…∫…⁄±… Ω÷˛B*  ¥…∫…⁄±…“ {…Æ˙ BEÚ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* 
 At the time of dissolution of a firm the Debtors were Rs. 60,000 in the 

Balance Sheet in which Rs. 20,000 were Bad debts. Balance were 
realised at 5% discount. Pass a journal entry on realisation. 1 

6. ∫¥…‰]ı <ŒC¥…]ı“ +Δ∂……Â EÚ…  x…M…«®…x… C™……Â +…ËÆ˙  EÚx…EÚ…‰  EÚ™…… V……i…… ΩË˛ ? 
 Why and to whom are sweat equity shares issued ? 1 
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7. "∫…Δ S…i… {…⁄ƒV…“' EÚ®{…x…“ u˘…Æ˙… EÚ§… ®……ƒM…“ V……i…“ ΩË˛ ? <∫…EÚ… BEÚ =q‰˘∂™… §…i……<B* 
 When is 'Reserved Capital' called by the company ? Write any one 

purpose of it. 1 
8. ∫…®…{……Ã∑…EÚ |… i…¶…⁄ i… E‰Ú ∞¸{… ®…Â  x…M…« ®…i…  EÚ™…‰ M…™…‰ @Òh…{…j……Â E‰Ú ∫…®§…xv… ®…Â C™…… |… ¥…Œπ]ı    

Ω˛…‰M…“ ? 
 What will be the entry when the debentures are issued as collateral 

security ? 1 
9. ∫……Z…‰n˘…Æ˙“ ∫…Δ±…‰J… E‰Ú +¶……¥… ®…Â ±……M…⁄ Ω˛…‰x…‰ ¥……±…‰ S……Æ˙  x…™…®…  ±… J…B* 
 Write any four rules applicable in the absence of partnership deed. 2 
10. + +…ËÆ˙ §… GÚ®…∂…: 20,000 Ø˚0 +…ËÆ˙ 10,000 Ø˚0 EÚ“ {…⁄ƒV…“ E‰Ú ∫……l… ∫……Z…‰n˘…Æ˙ ΩÈ˛* =xΩ˛…Âx…‰ 

°Ú®…« E‰Ú ±……¶……Â ®…Â 5
1   Ω˛∫∫…‰ E‰Ú ∫……l… ∫… EÚ…‰ ∫……Z…‰n˘…Æ˙ E‰Ú ∞¸{… ®…Â |…¥…‰∂…  n˘™……* ∫… +{…x…‰  Ω˛∫∫…‰ 

EÚ“ {…⁄ƒV…“ E‰Ú ∞¸{… ®…Â 10,000 Ø˚0 ±……i…… ΩË˛* °Ú®…« EÚ“ J™…… i… E‰Ú ®…⁄±™… EÚ“ M…h…x…… EÚ“ V…B* 
 A and B are partners with capital of Rs. 20,000 and Rs. 10,000. They 

admitted C as a partner with 5
1 th share of firm's profit. C brings      

Rs. 10,000 as his share of capital. Calculate the value of firm's 
goodwill. 2 

11. + x…±…, ∫…÷x…“±… +…ËÆ˙ M……‰ ¥…xn˘ 2 : 2 : 1 ®…Â ±……¶… B¥…Δ Ω˛… x… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* M……‰ ¥…xn˘ E‰Ú 
+¥…EÚ…∂… O…Ω˛h… EÚÆ˙x…‰ {…Æ˙ ∫…¶…“ ∫…®……™……‰V…x……Â E‰Ú §……n˘ ∫……Z…‰n˘…Æ˙…Â E‰Ú {…⁄ƒV…“ J……i……Â E‰Ú ∂…‰π… GÚ®…∂…: 
40,000 Ø˚0, 30,000 Ø˚0 ¥… 20,000 Ø˚0 l…‰* + x…±… +…ËÆ˙ ∫…÷x…“±… x…‰ M……‰ ¥…xn˘ EÚ…‰ ¶…÷M…i……x… 
EÚ…  x…∫i……Æ˙h…  EÚ™…‰  §…x…… +M…±…‰ 6 ®……Ω˛ i…EÚ ¥™……{……Æ˙ S……±…⁄ Æ˙J…x…‰ EÚ…  x…∂S…™…  EÚ™……* <∫…      
6 ®……Ω˛ EÚ“ +¥… v… ®…Â °Ú®…« x…‰ 18,000 Ø˚0 EÚ… ±……¶… +ÃV…i…  EÚ™……* 6 ®……Ω˛ §……n˘ M……‰ ¥…xn˘ EÚ…‰ 
 EÚi…x…“ Æ˙… ∂… EÚ… ¶…÷M…i……x… |……{i… Ω˛…‰M…… ? 

 Anil, Sunil and Govind are partners sharing profits and losses in the 
ratio of 2 : 2 : 1. At Govind's retirement the balance of the partners 
capital A/c after making all adjustments were Rs. 40,000, Rs. 30,000 
and Rs. 20,000 respectively. Anil and Sunil decided to continue 
business for next 6 months without disposal of Govind's payment.     
Rs. 18,000 profit was earned by the firm during these six months. 
After six months what will be the amount received by Govind ? 2 

12. °Ú®…« EÚ… x™……™……±…™… u˘…Æ˙… ∫…®……{…x… EÚ“ S……Æ˙ {… Æ˙Œ∫l… i…™……Â E‰Ú x……®…  ±… J…B* 
 Write any four conditions when the firm is dissolved by the court. 2 
13. BC∫…  ±… ®…]‰ıb˜ x…‰ {…“  ±… ®…]‰ıb˜ ∫…‰ 5,00,000 Ø˚0 EÚ“ BEÚ ®…∂…“x… J…Æ˙“n˘“* BC∫…  ±… ®…]‰ıb˜ x…‰ 

100 Ø˚0 ¥……±…‰ 4,000 +Δ∂… {…⁄h…« ¶…÷M…i……x… ®…Â  x…M…« ®…i…  EÚ™…‰* BC∫…  ±… ®…]‰ıb˜ EÚ“ {…÷∫i…EÚ…Â ®…Â 
V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B* 

 X Ltd. purchased a machinery from P Ltd. for Rs. 5,00,000. X Ltd. 
issued 4,000 shares of Rs. 100 each in full settlement. Give journal 
entries in the books of X Ltd. 2 
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14. BEÚ EÚ®{…x…“ x…‰ 1 +|…Ë±…, 2011 EÚ…‰ 100 Ø˚0 ¥……±…‰ 2,000, 10% @Òh…{…j……Â EÚ…‰ 10% §…^‰ı 
{…Æ˙  x…M…« ®…i…  EÚ™……  V…x…EÚ… ∂……‰v…x… ∫…®… ®…⁄±™… {…Æ˙ 4 ¥…π…« {…∂S……i…  EÚ™…… V……x…… ΩË˛*  x…M…«®…x… B¥…Δ 
§…^‰ı EÚ…‰ +{… ±… J…i… EÚÆ˙x…‰ EÚ“ E‰Ú¥…±… |…l…®… ¥…π…« EÚ“ V…x…«±… |… ¥… π]ı™……ƒ EÚ“ V…B*  

 On 1st April, 2011 a company issued 10%, 2000 debentures of        
Rs. 100 each at 10% discount which will be redeemable at par after 
four years. Write journal entries for issue and discount written off only 
for first year. 2 

15. {…¥…x… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩË˛* =∫…x…‰ 31 ®……S…«, 2012 EÚ…‰ ∫…®……{i… ¥…π…« ®…Â  x…®x… Æ˙… ∂…™……ƒ 
+…Ω˛ Æ˙i… EÚ“ : 

  1 V…÷±……<«, 2011   20,000 Ø˚0 
  31 +M…∫i…, 2011  40,000 Ø˚0 
  1 +C]⁄ı§…Æ˙, 2011  10,000 Ø˚0 
  31 V…x…¥…Æ˙“, 2012    5,000 Ø˚0 
  1 ®……S…«, 2012    5,000 Ø˚0 
  31 ®……S…«, 2012  10,000 Ø˚0 
 +…Ω˛Æ˙h… {…Æ˙ 12% ¥……Ãπ…EÚ §™……V… ±…M……™…… V……i…… ΩË˛* +…Ω˛Æ˙h… {…Æ˙ §™……V… EÚ“ M…h…x…… EÚ“ V…B* 
 Pawan is a partner in a firm. He withdrew the following amounts 

during the year ended on 31st March, 2012 : 
  1st July, 2011 Rs. 20,000 
  31st August, 2011 Rs. 40,000 
  1st Oct., 2011 Rs. 10,000 
  31st January, 2012 Rs.   5,000 
  1st March, 2012 Rs.   5,000 
  31st March, 2012 Rs. 10,000 
 Interest on drawing is to be charged @12% p.a. Calculate Interest on 

drawings.  4 
16. Œ∫l…Æ˙ +…ËÆ˙ {… Æ˙¥…i…«x…∂…“±… {…⁄ƒV…“ J……i……Â ®…Â EÚ…‰<« S……Æ˙ +xi…Æ˙  ±… J…B* 
 Write any four differences between fixed and fluctuating capital 

accounts. 4 
17. ®……‰Ω˛x…, ®…x……‰V… +…ËÆ˙ ®…h…“π… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛ V……‰ ±……¶…-Ω˛… x… EÚ…‰ 3 : 2 : 1 E‰Ú +x…÷{……i… 

®…Â  ¥…¶…… V…i… EÚÆ˙i…‰ ΩÈ˛* ∫……Z…‰n˘…Æ˙“ ∫…Δ±…‰J… ®…Â ™…Ω˛ ¥™…¥…∫l…… ΩË˛  EÚ  EÚ∫…“ ∫……Z…‰n˘…Æ˙ E‰Ú +¥…EÚ…∂… 
O…Ω˛h… EÚÆ˙x…‰ {…Æ˙ =∫…‰ n˘“ V……x…‰ ¥……±…“ Æ˙… ∂… EÚ… ¶…÷M…i……x… ¥……Ãπ…EÚ“ u˘…Æ˙…  EÚ™…… V……™…‰M……* 31 ®……S…«,  
2008 EÚ…‰ ®……‰Ω˛x… °Ú®…« ∫…‰ +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛* =∫…E‰Ú  Ω˛∫∫…‰ EÚ“ Æ˙… ∂… EÚ…  x…v……«Æh… 
50,000 Ø˚0  EÚ™…… M…™……* ∫…Δ±…‰J… E‰Ú +x…÷∫……Æ˙, +¥…EÚ…∂… O…Ω˛h… EÚÆ˙x…‰ ¥……±…‰ ∫……Z…‰n˘…Æ˙ EÚ“ n‰˘™… 
Æ˙… ∂… EÚ… ¶…÷M…i……x… 10,000 Ø˚0 EÚ“ ¥……Ãπ…EÚ“ E‰Ú ∞¸{… ®…Â |…i™…‰EÚ ¥…π…« 1 +|…Ë±… EÚ…‰  EÚ™…… 
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V……™…‰M……* 4 +|…Ë±…, 2010 EÚ…‰ ®……‰Ω˛x… EÚ“ ®…fii™…÷ Ω˛…‰ M…<«* ™…Ω˛ ®……x…i…‰ Ω÷˛B  EÚ +n˘k… ∂…‰π… {…Æ˙ 
10% ¥……Ãπ…EÚ EÚ“ n˘Æ˙ ∫…‰ §™……V…  n˘™…… V……i…… ΩË˛, ¥……Ãπ…EÚ“ =S…xi…“ J……i…… §…x……<B* 

 Mohan, Manoj and Manish are partners in a firm sharing profits and 
losses in the ratio of 3 : 2 : 1. The partnership deed provides that in 
the event of retirement of any of the partner the total amount due to 
the outgoing partner would be settled by an annuity. On 31st March, 
2008, Mohan retires from the firm. The amount of his share was 
determined for Rs. 50,000. The amount was as per deed, commuted 
into an annuity of Rs. 10,000 which was to be paid on 1st April each 
year. On 4th April, 2010 Mohan died. Draw up the Annuity Suspense 
Account, assuming that unpaid portion thereof carried interest    
@10% p.a. 4  

18. ®…Ë∫…∫…« Æ˙…®… Bhb˜ •…n˘∫…« EÚ…‰ 31 ®……S…«, 2011 EÚ…‰  ¥…P… ]ıi… EÚÆ˙ n˘“ M…<«* =∫…  i… l… {…Æ˙ =∫…E‰Ú 
∫…®{… k… B¥…Δ n˘… ™…i¥…  x…®x… |…EÚ…Æ˙ l…‰ : 

 S…_ˆ… 31 ®……S…«, 2011 EÚ…‰ 

n˘… ™…i¥… Æ˙EÚ®…
(Ø˚0) ∫…®{… k…™……ƒ Æ˙EÚ®… 

(Ø˚0) 
±…‰x…n˘…Æ˙ 
∫……®……x™… ∫…ΔS…™… 
{…⁄ƒV…“ J……i…‰ 
        Æ˙…®…           30,000 
        ®……‰Ω˛x…         20,000 

20,000 
10,000 

 
 

50,000 
 

80,000 

x…EÚn˘ 
n‰˘x…n˘…Æ˙               30,000 
P…]ı…™…… : b⁄˜§…i… @Òh…    
           +…™……‰V…x…  5,000 
 ¥… ¥…v… ∫…®{… k…™……ƒ 
∫……‰Ω˛x… EÚ“ {…⁄ƒV…“ J……i…… 

10,000 
 
 

25,000 
30,000 
15,000 
80,000 

 +x™… ∫…⁄S…x……Bƒ <∫… |…EÚ…Æ˙ ΩÈ˛ : 
i) ∫……Z…‰n˘…Æ˙…Â EÚ… ±……¶…  ¥…¶……V…x… +x…÷{……i… 5 : 3 : 2 (Æ˙…®… : ®……‰Ω˛x… :˙ ∫……‰Ω˛x…)  
ii) n‰˘x…n˘…Æ˙…Â ®…Â 8,000 Ø˚0 b⁄§… M…™…‰*  
iii)  ¥… ¥…v… ∫…®{… k…™……Â E‰Ú 2

1 ¶……M… EÚ…‰ Æ˙…®… x…‰ 10,000 Ø˚0 ®…Â  ±…™…… +…ËÆ˙ ∂…‰π… ∫…®{… k…™……Â EÚ…‰ 
8,000 Ø˚0 ®…Â x…EÚn˘ §…‰S……*  

 ¥…∫…⁄±…“ J……i…… §…x……<B* 
  M/s. Ram and Brothers was dissolved on 31st March, 2011. On that 

date their Assets and Liabilities are as follows : 
Balance Sheet as on 31st March, 2011 

Liabilities Amount 
(Rs.) 

Assets Amount 
(Rs.) 

Creditors 
General Reserve 
Capital A/c 
    Ram           30,000 
    Mohan        20,000 

20,000 
10,000 

 
 

50,000 

Cash 
Debtors            30,000 
Less :Provision    
  for Bad debts    5,000 
Sundry Assets 

10,000 
 
 

25,000 
30,000 
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80,000 

Sohan's Capital A/c 15,000 
80,000 

 Other information : 
i) Profit sharing ratio is 5 : 3 : 2 (Ram : Mohan : Sohan) 
ii) Rs. 8,000 were bad debts 
iii) Ram took 2

1  part of sundry assets for Rs. 10,000 and remaining 
assets were sold in cash for Rs. 8,000. 

 Prepare Realisation Account. 4 

19. +…‰®…  ±… ®…]‰ıb˜ x…‰ |…i™…‰EÚ 10 Ø˚0 ¥……±…‰ 10,000  ∫…®…i…… +Δ∂… 2 Ø˚0 |… i… +Δ∂… |…“ ®…™…®… {…Æ˙ 
 x…M…« ®…i…  EÚ™…‰* 5 Ø˚0 |……l…«x…… {…j… {…Æ,˙ 5 Ø˚0 §…Δ]ıx… {…Æ˙ (|…“ ®…™…®… ∫… Ω˛i…), ∂…‰π… Æ˙… ∂… |…l…®… B¥…Δ 
+Œxi…®… ®……ƒM… {…Æ˙ n‰˘™… l…“* ®…÷E‰Ú∂…  V…∫…E‰Ú {……∫… 1,000 +Δ∂… l…‰ |…l…®… B¥…Δ +Œxi…®… ®……ƒM… EÚ“ 
Æ˙… ∂… x…Ω˛” S…÷EÚ… {……x…‰ E‰Ú EÚ…Æ˙h… =∫…E‰Ú +Δ∂… V…§i… EÚÆ˙  ±…™…‰ M…™…‰* <x…®…Â ∫…‰ 600 +Δ∂… 11 Ø˚0 
|… i… +Δ∂… {…⁄h…«n˘k… ®……x…EÚÆ˙ ®…n˘x… EÚ…‰ {…÷x…Ãx…M…« ®…i…  EÚ™…‰* 

 +Δ∂… V…§i… B¥…Δ {…÷x…Ãx…M…«®…x… ∫…‰ ∫…®§…Œxv…i… +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

 Om Ltd. issued 10,000 equity shares of Rs. 10 each at a premium of 
Rs. 2 per share, payable at Rs. 5 on Application, Rs. 5 on Allotment 
(including premium) and balance in First and Final Call. Mukesh who 
had 1,000 shares could not pay First and Final Call and his shares 
were forfeited. Out of these 600 shares were reissued to Madan           
@Rs. 11 per share fully paid up. 

 Give necessary journal entries regarding share forfeiture and reissue. 

   4 

20.  x…®x… ±… J…i… ¥™…¥…Ω˛…Æ˙…Â ∫…‰ EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B : 
i) BC∫…  ±… ®…]‰ıb˜ x…‰ |…i™…‰EÚ 100 Ø˚0 ¥……±…‰ 400, 10% @Òh…{…j…  V…xΩÂ˛ 10% §…^‰ı {…Æ˙ 

 x…M…« ®…i…  EÚ™…… l…… EÚ… ∂……‰v…x… 10 Ø˚0 ¥……±…‰ ∫…®…i…… +Δ∂……Â ®…Â {… Æ˙¥…i…«x… u˘…Æ˙…  EÚ™……* x…™…‰ 
+Δ∂… ∫…®… ®…⁄±™… {…Æ˙  x…M…« ®…i…  EÚ™…‰ M…™…‰*   

ii) BC∫…  ±… ®…]‰ıb˜ x…‰ |…i™…‰EÚ 100 Ø˚0 ¥……±…‰ ∫¥…™…Δ E‰Ú 500 @Òh…{…j……Â EÚ…‰  95 Ø˚0 |… i… 
@Òh…{…j… EÚ“ n˘Æ˙ ∫…‰ J…÷±…‰ §……V……Æ˙ ∫…‰ GÚ™… EÚÆ˙E‰Ú Æ˙q˘ EÚÆ˙  n˘™…‰* 

 Give necessary journal entries for the following transactions in the 
books of the company : 

i) X Ltd. redeemed 400, 10% debentures of Rs. 100 each which      
were issued at 10% discount by issuing new equity share of        
Rs. 10 each. New share were issued at par. 
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ii) X Ltd. purchased 500 own debentures of Rs. 100 each from the 
open market for cancellation at Rs. 95 per debenture. 4 

21. x…“ i…x…  ±… ®…]‰ıb˜ EÚ“ {…÷∫i…EÚ…Â ®…Â 31 ®……S…«, 2012 EÚ…‰  x…®x… ±… J…i… ∂…‰π… l…‰ : 
 10% @Òh…{…j… — 10,00,000 Ø˚0 
 @Òh…{…j… ∂……‰v…x… EÚ…‰π… — 10,00,000 Ø˚0* 
 @Òh…{…j… ∂……‰v…x… EÚ…‰π…  ¥… x…™……‰M…  x…®x… |…EÚ…Æ˙ ΩË˛ : 

i) 6,00,000  Ø˚0 E‰Ú 9% @Òh…{…j… 5,00,000 Ø˚0 ®…Â   
ii) 4,00,000 Ø˚0 E‰Ú 8% ∫…Æ˙EÚ…Æ˙“ @Òh… 5,00,000 Ø˚0 ®…Â*   

 ={…™…÷«HÚ  i… l… {…Æ˙  ¥… x…™……‰M……Â EÚ…‰  x…®x……x…÷∫……Æ˙ §…‰S…… M…™…… : 
 9% @Òh…{…j… 10% §…^‰ı {…Æ˙ 
 8% ∫…Æ˙EÚ…Æ˙“ @Òh… 20% |…“ ®…™…®… {…Æ˙* 
 @Òh…{…j……Â EÚ… ∂……‰v…x… EÚÆ˙  n˘™……* 
 @Òh…{…j… ∂……‰v…x… EÚ…‰π… J……i…… B¥…Δ @Òh…{…j… ∂……‰v…x… EÚ…‰π…  ¥… x…™……‰M… J……i…… §…x……<B*  
 On 31st March, 2012 Nitin Ltd. has following balances in the books : 
 10% debenture — Rs. 10,00,000 
 Debenture Redemption Fund — Rs. 10,00,000. 
 Debenture Redemption Fund Investments are as follows : 

i) Rs. 6,00,000,  9% debenture in Rs. 5,00,000 
ii) Rs. 4,00,000,  8% Govt. loan in Rs. 5,00,000. 

 On above date investments were sold as following : 
 9% debenture at 10% discount 
 8% Govt. loan at 20% premium. 
 The debentures were redeemed. 
 Prepare Debenture Redemption Fund account and Debenture 

Redemption Fund Investment account. 4 
22. ∫…÷Æ‰˙∂…, Æ˙®…‰∂… i…l…… ®…Ω‰˛∂… ±……¶…-Ω˛… x… GÚ®…∂…: 3 : 2 : 1 E‰Ú +x…÷{……i… ®…Â §……ƒ]ıi…‰ ΩÈ˛˛* 1 +|…Ë±…, 

2012 EÚ…‰ =x…EÚ…  S…_ˆ…  x…®x… ±… J…i… l…… : 
 S…_ˆ… (1 +|…Ë±…, 2012 ) 

n˘… ™…i¥… 
Æ˙EÚ®… 
(Ø˚0) 

∫…®{… k…™……ƒ 
Æ˙EÚ®… 
(Ø˚0) 

±…‰x…n˘…Æ˙ 
∫……®……x™… ∫…ΔS…™… 
{…⁄ƒV…“ J……i…‰ : 

    ∫…÷Æ‰˙∂…    1,80,000 
   Æ˙®…‰∂…   1,20,000 

®…Ω‰˛∂…      88,000 

1,60,000 
1,08,000 

 
 
 

3,88,000 
6,56,000 

x…EÚn˘ 
 ¥… ¥…v… ∫…®{… k…™……ƒ 
±……¶…-Ω˛… x… J……i…… 

1,40,000 
4,80,000 

36,000 
 
 
 

6,56,000 



 9   

SS—30–Accountancy SS–558   [ Turn over 

 =∫…  i… l… EÚ…‰ =xΩ˛…Âx…‰ i…™…  EÚ™……  EÚ ∫…÷Æ‰˙∂…, Æ˙®…‰∂… i…l…… ®…Ω‰˛∂… ¶… ¥…π™… ®…Â ±……¶…-Ω˛… x… GÚ®…∂…:    
2 : 2 : 1 E‰Ú +x…÷{……i… ®…Â §……ƒ]ÂıM…‰* =∫…  i… l… EÚ…‰ °Ú®…« EÚ“ J™…… i… EÚ… ®…⁄±™… 72,000 Ø˚0 ®……x…… 
M…™……* °Ú®…« EÚ“ {…÷∫i…EÚ…Â ®…Â ∫……Z…‰n˘…Æ˙…Â E‰Ú {…⁄ƒV…“ J……i…‰ §…x……<™…‰ i…l…… °Ú®…« EÚ…  S…_ˆ… §…x……<B* 

 Suresh, Ramesh and Mahesh share profits and losses in the ratio of     
3 : 2 : 1 respectively. Their Balance Sheet as on 1st April, 2012 was   
as — 

Balance Sheet as on 1st April, 2012 

Liabilities 
Amount 

(Rs.) 
Assets 

Amount 
(Rs.) 

Creditors 
General Reserve 
Capital A/c 
    Suresh   1,80,000 
   Ramesh  1,20,000 
    Mahesh     88,000 

1,60,000 
1,08,000 

 
 
 

3,88,000 
6,56,000 

Cash 
Sundry Assets 
Profit & Loss A/c 

1,40,000 
4,80,000 

36,000 
 
 
 

6,56,000 
 On that date they decided that Suresh, Ramesh and Mahesh will share 

profits and losses in future in the ratio of 2 : 2 : 1 respectively. The 

goodwill of the firm was valued at Rs. 72,000 on that date. Prepare 

Partners' Capital Accounts and Balance Sheet of the firm. 6 

+l…¥……  / OR 
 1.4.2012 EÚ…‰ +, §… +…ËÆ˙ ∫… ∫……Z…‰n˘…Æ˙ ΩÈ˛˛ V……‰ ±……¶…-Ω˛… x… EÚ…‰ 3 : 2 : 1 E‰Ú +x…÷{……i… ®…Â 

 ¥…¶…… V…i… EÚÆ˙i…‰ ΩÈ˛* =xΩ˛…Âx…‰ 1,20,000 Ø˚0 EÚ“ BEÚ ∫…Δ™…÷HÚ V…“¥…x… §…“®…… {……Ï ±…∫…“ ±…‰ Æ˙J…“ ΩË˛* 
 V…∫…EÚ… ¥……Ãπ…EÚ |…“ ®…™…®… 8,000 Ø˚0 °Ú®…« E‰Ú ±……¶…-Ω˛… x… J……i…‰ ®…Â  ±…J…… V……i…… ΩË˛* °Ú®…« E‰Ú 
J……i…‰ |… i… ¥…π…« 31 ®……S…« EÚ…‰ §…xn˘  EÚ™…‰ V……i…‰ ΩÈ˛˛*  1 +M…∫i…, 2012 EÚ…‰ ∫… EÚ“ ®…fii™…÷ Ω˛…‰ V……i…“ 
ΩË˛* +{…x…‰ {…⁄ƒV…“ i…l…… §…“®…… Æ˙… ∂… ®…Â  Ω˛∫∫…‰ E‰Ú ∫……l… ∫……l… ∫… E‰Ú ¥…Ëv…… x…EÚ |… i… x… v… EÚ…‰  x…®x… 
¶…÷M…i……x… |……{i… EÚÆ˙x…‰ EÚ… + v…EÚ…Æ˙ Ω˛…‰M…… : 

i) ®…fii™…÷ EÚ“  i… l… i…EÚ 10% ¥……Ãπ…EÚ n˘Æ˙ ∫…‰ {…⁄ƒV…“ {…Æ˙ §™……V…* 

ii) ∫……Z…‰n˘…Æ˙ EÚ… ±……¶… ®…Â  Ω˛∫∫…… V……‰  EÚ M…i… S……Æ˙ ¥…π……Á E‰Ú +…Ë∫…i… ±……¶… {…Æ˙ +…v…… Æ˙i… Ω˛…‰M……* 

iii) ∫……Z…‰n˘…Æ˙ EÚ“ J™…… i… ®…Â  Ω˛∫∫…… V……‰ °Ú®…« EÚ“ J™…… i… E‰Ú M…i… S……Æ˙ ¥…π……Á E‰Ú +…Ë∫…i… ±……¶… E‰Ú 
i…“x… ¥…π…« E‰Ú GÚ™… E‰Ú +…v……Æ˙ {…Æ˙ M…h…x…… EÚ“ V……™…‰M…“* 1 +|…Ë±…, 2012 EÚ…‰ ∫… EÚ“ {…⁄ƒV…“ 
1,80,000 Ø˚0 l…“* <∫…  i… l… ∫…‰ ®…fii™…÷ EÚ“  i… l… i…EÚ ∫… x…‰ 11,000 Ø˚0 +…Ω˛Æ˙h… 
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 EÚ™…… l……* M…i… S……Æ˙ ¥…π……Á E‰Ú ±……¶…-Ω˛… x… <∫… |…EÚ…Æ˙ l…‰ : 30,000 Ø˚0, 56,000 Ø˚0, 
10,000 Ø˚0 (Ω˛… x…) i…l…… 68,000 Ø˚0* 

 ∫… E‰Ú ¥…Ëv…… x…EÚ |… i… x… v… EÚ… J……i…… §…x……<B* 

 On 1.4.2012, A, B and C are partners sharing profits and losses in the 
ratio of 3 : 2 : 1. They had a joint life policy of Rs. 1,20,000 and the 
annual premium of Rs. 8,000 has been charged to Profit and Loss A/c 
every year. Accounts are closed on 31st March annually. C died on      
1st August, 2012. Besides his Capital and Insurance money, C's legal 
representatives are entitled to 
i) Interest on Capital at 10% per annum up to the date of death. 
ii) Partner's share in profit based on the average profit of the last four 

completed years. 
iii) Partner's share in goodwill, which is to be calculated at three 

year's purchase of the average profit of the last four years. C's 
capital on 1st April, 2012 stood at Rs. 1,80,000 and his drawing 
from that date to the death amounted to Rs. 11,000. Profit        
and loss for the last four years were Rs. 30,000, Rs. 56,000,       
Rs. 10,000 (Loss) and Rs. 68,000. 

 Prepare C's legal representative's account. 6 
23. {…⁄V……  ±… ®…]‰ıb˜ x…‰ 100 Ø˚0 ¥……±…‰ 20,000 ∫…®…i…… +Δ∂……Â E‰Ú  ±…B 10% §…^‰ı {…Æ˙ +…¥…‰n˘x… Ω‰˛i…÷ 

|… ¥…¥…Æ˙h… V……Æ˙“  EÚ™……* Æ˙… ∂…™……ƒ <∫… |…EÚ…Æ˙ n‰˘™… l…” : 
  +…¥…‰n˘x… {…Æ˙  30 Ø˚0 
  +…§…Δ]ıx… {…Æ˙  30 Ø˚0 
  |…l…®… B¥…Δ +Œxi…®… ®……ƒM… {…Æ˙  30 Ø˚0 
 19,000 +Δ∂……Â E‰Ú  ±…B +…¥…‰n˘x… {…j… |……{i… Ω÷˛B*  V…i…‰xp˘  V…∫…‰ 800 +Δ∂… +…§…Δ ]ıi…  EÚ™…‰ 

+…§…Δ]ıx… {…Æ˙ Ω˛“ ®……ƒM… Æ˙… ∂… EÚ… ¶…÷M…i……x… EÚÆ˙  n˘™……* Æ˙®…‰∂…  V…∫…‰ 1,000 +Δ∂… §…Δ ]ıi…  EÚ™…‰ §…Δ]ıx… 
¥… ®……ƒM… Æ˙… ∂… EÚ… ¶…÷M…i……x… x…Ω˛” EÚÆ˙ ∫…EÚ… +…ËÆ˙ =∫…E‰Ú +Δ∂……Â EÚ…‰ V…§i… EÚÆ˙  ±…™……* <x…®…Â ∫…‰ 
+…v…‰ +Δ∂… ∫……‰Ω˛x… EÚ…‰ 20% §…^‰ı {…Æ˙ {…⁄h…« |…n˘k… ®……x… EÚÆ˙ {…÷x…: x…M…« ®…i… EÚÆ˙  n˘™…‰* 

 {…⁄V……  ±… ®…]‰ıb˜ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 
 Pooja Ltd. issued prospectus inviting applications for 20,000 equity 

share of Rs. 100 at 10% discount payable as  
  On Application  Rs. 30 
  On Allotment  Rs. 30 
  On First and Final Call  Rs. 30 
 Applications were received for 19,000 shares. Jitendra, who was 

allotted 800 shares paid call money at allotment. Ramesh, to whom         
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1,000 shares were allotted failed to pay the allotment money and call 
money and his shares were forfeited. Half of them were reissued to 
Sohan at 20% discount as fully paid up. 

 Pass necessary journal entries in the books of Pooja Ltd. 6 
J…hb˜ - §… 

PART – B 

 J…hb˜ "§…' E‰Ú n˘…‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ ¶……M… E‰Ú ∫…¶…“ 

∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛* 

 Part 'B' has two portions. Every portion has a set of seven questions. 

Candidate can attempt only one set of seven questions of any one 

portion. 

24.  ¥… x…™……‰M… ∫…®§…xv…“  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ +xi…: |…¥……Ω˛ EÚ“ EÚ…‰<« n˘…‰ ®…nÂ˘  ±… J…B* 

 Write any two items of cash inflows from investing activities. 1 

25. {… Æ˙S……±…x…  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ |…¥……Ω˛ E‰Ú |…∫i…÷i…“EÚÆ˙h… EÚÆ˙x…‰ EÚ“  ¥… v…™……Â E‰Ú x……®…  ±… J…B* 

 Write the names of the methods of presentation of cash flow from 

operating activities. 1 

26. Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… B¥…Δ +…™…  ¥…¥…Æ˙h… ®…Â EÚ…‰<« n˘…‰ +xi…Æ˙  ±… J…B* 

 Write any two differences between cash flow statement and income 

statement. 2 

27.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ M…h…x…… EÚ“ V…B (i)  ∫…EÚ±… ±……¶… +x…÷{……i…, (ii)  ∫]ı…ÏEÚ +…¥…i…« 
+x…÷{……i… : 

  ¥…GÚ™… 5,00,000 Ø˚0, GÚ™… 3,00,000 Ø˚0, |……Æ˙Œ®¶…EÚ ∫]ı…ÏEÚ 20,000 Ø˚0,         
+Œxi…®… ∫]ı…ÏEÚ 40,000 Ø˚0, +…¥…EÚ M……c˜“ ¶……c˜… 30,000 Ø˚0, V……¥…EÚ M……c˜“            
¶……c˜… 15,000 Ø˚0* 

 From the following information, calculate (i) Gross profit ratio,           

(ii) Stock turnover ratio : 
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 Sales Rs. 5,00,000, Purchase Rs. 3,00,000, Opening Stock Rs. 20,000, 

Closing Stock Rs. 40,000, Carriage inward Rs. 30,000, Carrying 

outward Rs. 15,000. 2 

28.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ 31 ®……S…«, 2012 EÚ…‰ ∫…®……{i… Ω˛…‰x…‰ ¥……±…‰ ¥…π…« E‰Ú  ±…B Æ˙…‰EÚc˜ |…¥……Ω˛ 
 ¥…¥…Æ˙h… i…Ë™……Æ˙ EÚ“ V…B : 

 ¥…¥…Æ˙h… 
Æ˙EÚ®… 
(Ø˚0) 

|……Æ˙Œ®¶…EÚ Æ˙…‰EÚc˜ ∂…‰π… 
+Œxi…®… Æ˙…‰EÚc˜ ∂…‰π… 
n‰˘x…n˘…Æ˙…Â ®…Â EÚ®…“ 
±…‰x…n˘…Æ˙…Â ®…Â ¥…fi r˘ 
∫l……™…“ ∫…®{… k…™……Â EÚ“  §…GÚ“ 
@Òh…{…j……Â EÚ… ∂……‰v…x… 
¥…π…« EÚ… ∂…÷r˘ ±……¶… 

20,000 
24,000 
10,000 
14,000 
40,000 

1,00,000 
40,000 

 From the following information, prepare Cash flow statement for the 
year ended 31st March, 2012 : 4 

Particulars Amount 
Opening Cash Balance 
Closing Cash Balance 
Decrease in Debtors 
Increase in Creditors 
Sale of Fixed Assets 
Redemption of Debentures 
Net Profit for the year 

20,000 
24,000 
10,000 
14,000 
40,000 

1,00,000 
40,000 

29. BEÚ EÚ®{…x…“ E‰Ú ∫…®§…xv… ®…Â  x…®x… ∫…⁄S…x…… n˘“ M…<« ΩË˛ : 
   ¥…GÚ™…  8,00,000 Ø˚0 
  {… Æ˙S……±…x… ¥™…™…  64,000 Ø˚0 
  ∫…EÚ±… ±……¶…  1,20,000 Ø˚0 
  |……Æ˙Œ®¶…EÚ ∫EÚxv…  1,00,000 Ø˚0 
  +Œxi…®… ∫EÚxv…  1,60,000 Ø˚0 
  n‰˘x…n˘…Æ˙  80,000 Ø˚0 
  ∂…÷r˘ ±……¶…  60,000 Ø˚0 
  ∂…÷r˘ ∫l……™…“ ∫…®{… k…™……ƒ  4,00,000 Ø˚0 
 ∫…®…∫i…  ¥…GÚ™… EÚ…‰ =v……Æ˙ ®……x…EÚÆ˙ ={…™…÷«HÚ ∫…⁄S…x…… ∫…‰  x…®x… +x…÷{……i……Â EÚ“ M…h…x…… EÚ“ V…B : 
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i) {… Æ˙S……±…x… +x…÷{……i… 
ii) ∂…÷r˘ ±……¶… +x…÷{……i… 
iii) n‰˘x…n˘…Æ˙ +…¥…i…« +x…÷{……i… 
iv) ∫l……™…“ ∫…®{… k… +…¥…i…« +x…÷{……i…*  

 The following information are given regarding a company : 
  Sales  Rs. 8,00,000 
  Operaing Expenses Rs.    64,000 
  Gross Profit  Rs. 1,20,000 
  Opening Stock  Rs. 1,00,000 
  Closing Stock  Rs. 1,60,000 
  Debtors  Rs.    80,000 
  Net Profit  Rs.    60,000 

  Net Fixed Assets  Rs. 4,00,000 
 From the above information, calculate the following ratios assuming all 

sales as credit sales : 
i) Operating ratio 
ii) Net Profit ratio 
iii) Debtors Turnover ratio  
iv) Fixed Assets Turnover ratio. 4 

30.  x…®x… ±… J…i… ∫…⁄S…x……+…Â EÚ“ ∫…Ω˛…™…i…… ∫…‰ BC∫…  ±… ®…]‰ıb˜ EÚ… ∫…®……x……EÚ…Æ˙ +…™…  ¥…¥…Æ˙h… i…Ë™……Æ˙ 
EÚ“ V…B : 

+…™…  ¥…¥…Æ˙h… 
  31 ®……S…«, 2010 31 ®……S…«, 2011 

∂…÷r˘  ¥…GÚ™… 
§…‰S…‰ M…™…‰ ®……±… EÚ“ ±……M…i… 
{… Æ˙S……±…x… ¥™…™… 
®…⁄±™… ø…∫… 
 ¥… x…™……‰M… ∫…‰ +…™… 
+…™…EÚÆ˙ 

5,00,000 
4,00,000 

60,000 
20,000 
40,000 
12,000 

4,00,000 
3,00,000 

50,000 
20,000 
60,000 
18,000 

 Prepare common size Income Statement from the following information 
: 6 

Income Statement 
 31st March, 2010 31st March, 2011 
Net Sales 
Cost of goods sold 
Operating Expenses 

5,00,000 
4,00,000 

60,000 

4,00,000 
3,00,000 

50,000 



 14 

SS—30–Accountancy SS–558   

Depreciation 
Income from Investment 
Income Tax 

20,000 
40,000 
12,000 

20,000 
60,000 
18,000 

+l…¥…… / OR 
 {…¥…x… Bhb˜ ∫…x∫… EÚ“  ¥… ¶…z… ¥…π……Á EÚ“  §…GÚ“  x…®x… |…EÚ…Æ˙ ΩË˛ : 

   ¥…π…«     §…GÚ“ 

        Ø˚0 

  2006 2,00,000 

  2007 2,40,000 

  2008 1,60,000 

  2009 2,25,000 

  2010 2,50,000 

  2011 3,00,000 

 ¥…π…« 2006 EÚ“  §…GÚ“ EÚ…‰ +…v……Æ˙ ®……x…EÚÆ˙ Y……i… EÚ“ V…B (i)  +…v……Æ˙ ¥…π…« ∫…‰ |… i…∂…i… {… Æ˙¥…i…«x…, 
(ii)  |…¥…fi k… +x…÷{……i…* 

 Following are the sales of different years of Pawan and Sons : 

  Year   Sales 
      (Rs.) 
  2006 2,00,000 

  2007 2,40,000 

  2008 1,60,000 

  2009 2,25,000 

  2010 2,50,000 

  2011 3,00,000 

 Assuming 2006 year's sales as a base calculate (i) Percentage change 

from base year, (ii) Trend ratio. 6 

+l…¥…… / OR 

¶……M… - §… 
PART – B 

24. CAS  C™…… ΩË˛ ? 
 What is CAS ? 1 
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25. ±…‰J……ΔEÚx… ¥™…¥…Ω˛…Æ˙…Â ®…Â EÚ…‰<« n˘… ‰ b‰˜]ı… i…i¥……Â E‰Ú x……®…  ±… J…B* 
 Write the names of any two data elements in accounting transactions. 1 
26. Æ‰˙b˜“®…‰b˜ ∫……Ï}]ı¥…‰™…Æ˙ E‰Ú n˘…‰ ±……¶…  ±… J…B* 
 Write two advantages of readymade software. 2 
27. CAS EÚ“ C™……  ¥…∂…‰π…i……Bƒ ΩÈ˛ ? 

 What are the characteristics of CAS ? 2 
28. a) CAS ∫……Ï}]ı¥…‰™…Æ˙ ∫…‰ ∫…Δ§…Δ v…i… ∫…÷Æ˙I……  ¥…∂…‰π…i……Bƒ §…i……<B* 
 b) BEÚ ]‰ı §…±… 'Employee' E‰Ú ∫…fiV…x… E‰Ú  ¥… ¶…z… S…Æ˙h… §…i……<B* 

 a) Explain the security features associated with CAS. 

 b) Write the different steps to create a table 'Employee'. 2 + 2  
29. b‰˜]ı…§…‰∫… |…§…Δv… |…h……±…“ C™…… ΩË˛ ? <∫…E‰Ú n˘…‰ ±……¶……Â EÚ… ¥…h…«x… EÚ“ V…B* 

 What is Database Management System ? Explain its two advantages. 

   4 
30. M……ËÆ˙¥…  ±…0 +{…x…‰ EÚ®…«S…… Æ˙™……Â EÚ…‰ =x…E‰Ú u˘…Æ˙… EÚ“ M…™…“  ¥…GÚ™… E‰Ú +…v……Æ˙ {…Æ˙ ™……j…… ¶…k…… EÚ“ 

M…h…x…… EÚÆ˙i…“ ΩË˛* MS-Excel ®…Â  x…®x… ±… J…i… EÚ“ M…h…x…… E‰Ú  ±…™…‰ ∫…⁄j…  ±… J…B : 
a) |…i™…… ∂…i…  §…GÚ“ ¥… ¥……∫i… ¥…EÚ  §…GÚ“ E‰Ú ®…v™… +xi…Æ˙  
b) ™… n˘ EÚ®…«S……Æ˙“ |…i™…… ∂…i…  ¥…GÚ™… ±…I™… EÚ…‰ |……{i… EÚÆ˙ ±…‰i…… ΩË˛ i……‰ ™……j…… ¶…k…… 5,000 Ø˚0 

i…l…… §…‰S…“ M…™…“ |…i™…‰EÚ + i… Æ˙HÚ <EÚ…<« E‰Ú  ±…™…‰ 50 Ø˚0  ®…±…ÂM…‰* 
c) ™… n˘ |…i™…… ∂…i… <EÚ…<™……ƒ x…Ω˛” §…‰S…“ V……™…Â i……‰ ¶…“ 1,000 Ø˚0*  

 Gaurav Ltd. calculates conveyance allowance on the basis of sales 
made by its employees. Write the formula in MS-Excel for calculating 
the following : 

a) The difference between expected sales and actual sales. 

b) The conveyance allowance will be Rs. 5,000 if the employee meets 
the expected sales target and for every extra unit sold, he would 
get Rs. 50. 

c) Rs. 1,000 even if expected units are not sold. 6 
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 x……®……ΔEÚ Roll No. 
  

 
 

      

No. of Questions — 30  SS—30–Accountancy 

No. of Printed Pages — 15 
 

=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2014 
SENIOR SECONDARY EXAMINATION, 2014 

±…‰J……∂……∫j… 
ACCOUNTANCY  

∫…®…™… :  3 
4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 80 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… :  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â*  
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ∫…¶…“ |…∂x… + x…¥……™…« ΩÈ˛*  
  All the questions are compulsory.  
 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙ {…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  
  Write the answer to each question in the given answer-book 

only. 
 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 
  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ / 

 ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ Ω˛“ ∫…Ω˛“ ®……x…Â*  
  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 

 6. i) ™…Ω˛ |…∂x… {…j… n˘…‰ J…hb˜…Â ®…Â  ¥…¶…HÚ ΩË˛ — + +…ËÆ˙ §…* 
  ii) J…hb˜ "+' ∫…¶…“ UÙ…j……Â E‰Ú  ±…B + x…¥……™…« ΩË˛* 
  iii) J…hb˜ "§…' E‰Ú n˘… ‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ 

¶……M… E‰Ú ∫…¶…“ ∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛*   
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  i) This question paper contains two Parts — A and B. 
  ii) Part 'A' is compulsory for all candidates. 
  iii) Part 'B' has two portions. Every portion has a set of seven 

questions. Candidate can attempt only a set of seven 
questions of any one portion.  

 7. J…hb˜ |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… 
  + 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

  §… 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

+l…¥…… 
   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
  Part Question Nos. Marks per question 
   A 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

   B 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

OR 

   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
 8. |…∂x… ∫…ΔJ™…… 22 (J…hb˜-+) i…l…… 30 (J…hb˜-§…) ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛*  
  There are internal choices in Q. No. 22 ( Part-A ) and Q. No. 30  

( Part-B ). 
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J…hb˜ - + 
PART – A  

1. + v…±……¶… E‰Ú +…v……Æ˙ {…Æ˙ J™…… i… E‰Ú ®…⁄±™……ΔEÚx… EÚ“ EÚ…‰<« n˘…‰  ¥… v…™……Â E‰Ú x……®…  ±… J…B* 
 Write down the names of any two methods of valuation of goodwill on 

the basis of super profit. 1 
2. + +…ËÆ˙ §… 3 : 2 +x…÷{……i… ®…Â ±……¶… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* =xΩ˛…Âx…‰ ∫… EÚ…‰ 5

1  ¶……M… E‰Ú  ±…B 

∫……Z…‰n˘…Æ˙ §…x……™……* ∫… +{…x……  Ω˛∫∫…… {…÷Æ˙…x…‰ ∫……Z…‰n˘…Æ˙…Â ∫…‰ §…Æ˙…§…Æ˙-§…Æ˙…§…Æ˙ |……{i… EÚÆ˙i…… ΩË˛* ∫…¶…“ 
∫……Z…‰n˘…Æ˙…Â EÚ… x…™…… ±……¶…-Ω˛… x… +x…÷{……i… Y……i… EÚ“ V…B*  

 A and B are partners sharing profit in 3 : 2 ratio. They admit C as new 
partner for 5

1 th share. C gets his share from old partners equally. 

Calculate the new profit and loss sharing ratio of all partners. 1 
3. BC∫… i…l…… ¥……<« BEÚ °Ú…®…« ®…Â 2 : 1 E‰Ú +x…÷{……i… ®…Â ±……¶… §……Δ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* =x…EÚ“ {…⁄ƒV…“ 

GÚ®…∂…: 60,000 Ø˚0 +…ËÆ˙ 30,000 Ø˚0 ΩË˛* =xΩ˛…Âx…‰ V…‰b˜ EÚ…‰ 4
1   Ω˛∫∫…‰ E‰Ú  ±…B |…¥…‰∂…  n˘™……* 

V…‰b˜ {…⁄ƒV…“ E‰Ú 35,000 Ø˚0 ±……i…… ΩË˛* M…÷{i… J™…… i… EÚ… ®…⁄±™… Y……i… EÚ“ V…B* 
 X and Y are partners in a firm sharing profit in 2 : 1 ratio.             

Their capitals are Rs. 60,000 and Rs. 30,000 respectively. They admit   
Z for 4

1 th share. Z brings Rs. 35,000 as capital. Find out the value of 
hidden goodwill. 1 

4. ∫……Z…‰n˘…Æ˙ EÚ“  x…¥…fi k… {…Æ˙ =i{…z… EÚ…‰<« n˘…‰ ∫…®…∫™……+…Â E‰Ú x……®…  ±… J…B* 
 Write the names of any two problems arising at the retirement of 

partner. 1 
5. ™… n˘ E÷Ú±… ∫…®{… k…™……ƒ 1,00,000 Ø˚0, E÷Ú±… n˘… ™…i¥… 20,000 Ø˚0, ∫…®{… k…™……Â E‰Ú  ¥…GÚ™… ∫…‰ 

|……{i… Æ˙… ∂… 85,000 Ø˚0 i…l…… ¥…∫…⁄±…“ ¥™…™… 2,000 Ø˚0 Ω˛…Â i……‰ ¥…∫…⁄±…“ J……i…‰ EÚ“ ±……¶…/Ω˛… x… 
Y……i… EÚ“ V…B* 

 If total assets are Rs. 1,00,000, total liabilities are Rs. 20,000, amount 
realised on sale of assets is Rs. 85,000 and realisation expense is    Rs. 
2,000, what will be the profit or loss on realisation ? 1 

6. ¥…Ω˛ n˘…‰ |…EÚ…Æ˙ E‰Ú +Δ∂… EÚ…Ëx…-∫…‰ ΩÈ˛  V…xΩÂ˛ BEÚ ∫……¥…«V… x…EÚ EÚ®{…x…“  x…M…« ®…i… EÚÆ˙ ∫…EÚi…“ ΩË˛ ? 
 What are the two types of shares which a public company can issue ? 
   1 
7. EÚ®{…x…“ E‰Ú Œ∫l… i…  ¥…¥…Æ˙h… ®…Â +Δ∂……Â E‰Ú  x…M…«®…x… {…Æ˙ §…^ı… EÚ…‰  EÚ∫… |…EÚ…Æ˙  n˘™…… V……i…… ΩË˛ ? 
 How is discount on issue of shares shown in the Balance Sheet of a 

company ? 1 
8. ®……Ω‰˛∑…Æ˙“  ±… ®…]‰ıb˜ x…‰ 100 Ø˚0 ¥……±…‰ 5000, 7% @Òh…{…j… 6% |…“ ®…™…®… {…Æ˙  x…M…« ®…i…  EÚB 

 V…x…EÚ… ∂……‰v…x… 4 ¥…π…« {…∂S……i… 5% |…“ ®…™…®… {…Æ˙  EÚ™…… V……x…… ΩË˛* ∂……‰v…x… {…Æ˙ n‰˘™… |…“ ®…™…®… J……i…‰ 
®…Â  EÚi…x…“ Æ˙… ∂… b‰˜ §…]ı EÚ“ V……BM…“ i…l…… b‰˜ §…]ı Ω˛…‰x…‰ ¥……±…‰ J……i…‰ EÚ… x……®…  ±… J…B* 
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 Maheshwari Limited issued 5000, 7% debentures of Rs. 100 each at a 
premium of 6% which are redeemable after 4 years at a premium of 
5%. What amount will be debited in premium on redemption account 
and write debit account name. 1 

9. +¥…Ëv… ∫……Z…‰n˘…Æ˙“ EÚ“ EÚ…‰<« n˘…‰ {… Æ˙Œ∫l… i…™……ƒ §…i……<B* 

 State any two situations of illegal partnership. 2 

10. ∫…“i…… i…l…… Æ˙“i…… 3 : 2 E‰Ú +x…÷{……i… ®…Â ±……¶…-Ω˛… x…  ¥…¶……V…x… EÚÆ˙i…‰ Ω÷˛B BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛* 
¥…‰ ®…“i…… EÚ…‰ ∫……Z…‰n˘…Æ˙“ ®…Â ∂…… ®…±… EÚÆ˙i…‰ ΩÈ˛ V……‰ ±……¶……Â E‰Ú 5

1   Ω˛∫∫…‰ E‰Ú  ±…B 20,000 Ø˚0 

J™…… i… E‰Ú ∞¸{… ®…Â ±……i…… ΩË˛* {…÷∫i…EÚ…Â ®…Â J™…… i… J……i……  ¥…t®……x… x…Ω˛” ΩË˛* +…¥…∂™…EÚ V…x…«±… 
|… ¥…Œπ]ı™……ƒ n˘“ V…B* 

 Sita and Rita are partners sharing profits and losses in the ratio of        
3 : 2 in a firm. They admit Mita into partnership who brings             
Rs. 20,000 as goodwill for 5

1 th share of profit. No goodwill account 

exists in the books. Give necessary journal entries. 2 

11. EÚ…‰<« S……Æ˙ ®…n˘…Â E‰Ú x……®…  ±… J…B V……‰ ®…fii…EÚ ∫……Z…‰n˘…Æ˙ E‰Ú =k…Æ˙… v…EÚ… Æ˙™……Â EÚ…‰ n‰˘™… Æ˙… ∂… EÚ“ M…h…x…… 
EÚÆ˙x…‰ E‰Ú  ±…B =∫…E‰Ú J……i…‰ ®…Â V…®…… EÚ“ V……i…“ ΩÈ˛* 

 Write the names of any four items which are credited to the account of 
a deceased partner while calculating the amount due to his legal 
representatives. 2 

12. °Ú®…« E‰Ú ∫…®……{…x… {…Æ˙  S…_‰ˆ ®…Â n‰˘x…n˘…Æ˙ 50,000 Ø˚0 E‰Ú ΩÈ˛  V…∫…EÚ“ ¥…∫…⁄±…“ 80% {…Æ˙ EÚ“ V……i…“ 
ΩË˛* ∫l……x……xi…Æ˙h… B¥…Δ ¥…∫…⁄±…“ ®…⁄±™… EÚ“ |… ¥…Œπ]ı n˘“ V…B* 

 At the dissolution of a firm debtors are shown in Balance Sheet of      
Rs. 50,000 which was realised on 80%. Give necessary entries of 
transfer and realised amount. 2 

13. V…Ëx…  ±…0 x…‰ 6,00,000 Ø˚0 EÚ“ ®…∂…“x… EÚ®…±… ∫…‰ J…Æ˙“n˘“* 50% ¶…÷M…i……x… S…ËEÚ u˘…Æ˙…  EÚ™…… 
M…™…… i…l…… ∂…‰π… E‰Ú  ±…B EÚ®{…x…“ ∫…®…i…… +Δ∂… 10 Ø˚0 ¥……±…‰ 20% |…§™…… V… {…Æ˙  x…M…« ®…i…  EÚ™…‰*  

 ={…Æ˙…‰HÚ ¥™…¥…Ω˛…Æ˙…Â EÚ“ V…Ëx…  ±…0 EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı n˘“ V…B* 

 Jain Ltd. purchased a machine of Rs. 6,00,000 from Kamal. 50% of 
the payment was made by cheque and for the remaining the company 
issued equity shares of Rs. 10 each at a premium of 20%. 

 Give necessary journal entries in the books of Jain Ltd. for the above 
transactions. 2 
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14. ∫…ΔV…™…  ±…0 x…‰ 1000, |…i™…‰EÚ 100 Ø˚0 ¥……±…‰ 10%  @Òh…{…j……Â EÚ…  x…M…«®…x… 10% §…^‰ı {…Æ˙ 
 EÚ™…… l……* <x… @Òh…{…j……Â EÚ… ∂……‰v…x… 5 ¥…π…« {…∂S……i… 10 Ø˚0 ¥……±…‰ ∫…®…i…… +Δ∂……Â ®…Â ∫…®…®…⁄±™… {…Æ˙ 
{… Æ˙¥…i…«x… u˘…Æ˙…  EÚ™……* ∂……‰v…x… E‰Ú ∫…®§…xv… ®…Â EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ |… ¥…Œπ]ı™……ƒ 
n˘“ V…B* 

 Sanjay Ltd. issued 1000, 10% debentures of Rs. 100 each at 10% 
discount. These debentures were redeemed after 5 years by converting 
into equity shares of Rs. 10 each at par. Make necessary journal 
entries regarding redemption in the books of the company. 2 

15. {…¥…x… i…l…… Æ˙…V…⁄ BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛  V…xΩ˛…Âx…‰ 1 +|…Ë±…, 2012 EÚ…‰ {…⁄ƒV…“ E‰Ú           
2,00,000 Ø˚0 ¥… 3,00,000 Ø˚0 GÚ®…∂…: ±…M……B* ¥…π…« E‰Ú n˘…ËÆ˙…x… =xΩ˛…Âx…‰ ∫……Z…‰n˘…Æ˙“ ®…Â  x…®x… 
|…EÚ…Æ˙ + i… Æ˙HÚ {…⁄ƒV…“ ±…M……™…“*  
{…¥…x… u˘…Æ˙… ±…M……™…“ M…™…“ {…⁄ƒV…“ : 
1 V…÷±……<«, 2012 EÚ…‰ 50,000 Ø˚0 +…ËÆ˙˙ 1  n˘∫…®§…Æ˙, 2012 EÚ…‰ 1,00,000 Ø˚0*  
Æ˙…V…⁄ u˘…Æ˙… ±…M……™…“ M…™…“ {…⁄ƒV…“ :  
1  ∫…i…®§…Æ˙, 2012 EÚ…‰ 1,20,000  Ø˚0 * 

 ¥…π…« 2012-2013 E‰Ú  ±…B {…¥…x… i…l…… Æ˙…V…⁄ EÚ“ {…⁄ƒV…“ {…Æ˙ 10 |… i…∂…i… EÚ“ ¥……Ãπ…EÚ n˘Æ˙ ∫…‰ §™……V… 
EÚ“ M…h…x…… EÚ“ V…B* 

 Pawan and Raju are partners in a firm. They contributed Rs. 2,00,000 
and Rs. 3,00,000 respectively as capital on 1st April, 2012. They 
invested additional capital in the partnership during the year as  
under : 
Capital invested by Pawan : Rs. 50,000 on 1st July, 2012 and  
  Rs. 1,00,000 on 1st December, 2012 
Capital invested by Raju :    Rs. 1,20,000 on 1st September, 2012. 

 Calculate interest on Pawan's and Raju's capital @ 10% p.a. for the 
year 2012-2013. 4 

16.  EÚÆ˙h… B¥…Δ ∫…÷±…‰J…… ∫……Z…‰n˘…Æ˙ ΩÈ˛  V…x…EÚ“ {…⁄ƒV…“ GÚ®…∂…: 1,00,000 Ø˚0 i…l…… 80,000 Ø˚0 ΩË˛* 
{…⁄ƒV…“ {…Æ˙ §™……V… 10% ¥……Ãπ…EÚ EÚ“ n˘Æ˙ ∫…‰  ®…±…i…… ΩË˛* ¥…‰ ±……¶……Â EÚ…‰ 2 : 1 ®…Â  ¥…¶……V…x… EÚÆ˙i…“ 

ΩÈ˛* =xΩ˛…Âx…‰ Æ‰˙h…⁄ EÚ…‰ ∫……Z…‰n˘…Æ˙ §…x……™…… +…ËÆ˙ =∫…‰ ±……¶……Â ®…Â 4
1  ¶……M…  n˘™…… i…l…… =∫…‰ M……Æ˙h]ı“ n˘“  EÚ 

=∫…EÚ… ±……¶… EÚ…  Ω˛∫∫…… 40,000 Ø˚0 ¥……Ãπ…EÚ ∫…‰ EÚ®… x…Ω˛” Ω˛…‰M……* Æ‰˙h…⁄ 60,000 Ø˚0 +{…x…“ 

{…⁄ƒV…“ E‰Ú ∞¸{… ®…Â ±……<«* Æ‰˙h…⁄ EÚ…‰ +{…x…‰ 4
1   Ω˛∫∫…‰ ∫…‰ + v…EÚ |……{i… Ω˛…‰x…‰ ¥……±…‰ ±……¶……Â (M……Æ˙x]ı“ EÚ… 

+xi…Æ˙) EÚ…‰  EÚÆ˙h… B¥…Δ ∫…÷±…‰J…… 4 : 1 ®…Â ¥…Ω˛x… EÚÆÂ˙M…“* ¥…π…« E‰Ú +Δi… ®…Â {…⁄ƒ V…™……Â {…Æ˙ §™……V… n‰˘x…‰ 
∫…‰ {…Ω˛±…‰ ±……¶… 1,44,000 Ø˚0 Ω÷˛B* ±……¶…-Ω˛… x…  x…™……‰V…x… J……i…… §…x……<B* 
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 Kiran and Sulekha are partners with capital of Rs. 1,00,000 and      
Rs. 80,000 respectively. They are entitled to get interest at 10% p.a. 
They divided profit in the ratio of 2 : 1. They took Renu into 

partnership with 4
1 th share of profit and guaranteed her share of 

profits will not be less than Rs. 40,000 annually. Renu brought       Rs. 
60,000 as her capital and the excess profit received ( difference of 

guarantee ) by Renu over her 4
1  th share will be borne by Kiran and 

Sulekha in the ratio of 4 : 1. Profit at the end of the year before 
allowing interest on capital amounted to Rs. 1,44,000. Prepare Profit & 
Loss Appropriation Account. 4 

17. Ω˛Æ˙“∂…, ®…÷E‰Ú∂… +…ËÆ˙ ∫…Æ˙…°Ú BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛ V……‰ 2 : 1 : 1 E‰Ú +x…÷{……i… ®…Â ±……¶…-Ω˛… x… 
 ¥…¶……V…x… EÚÆ˙i…‰ ΩÈ˛* °Ú®…« EÚ“ {…÷∫i…EÂÚ |… i… ¥…π…« 31 ®……S…« EÚ…‰ §…Δn˘ EÚ“ V……i…“ ΩÈ˛* 31 +M…∫i…, 
2013 EÚ…‰ Ω˛Æ˙“∂… °Ú®…« ∫…‰ +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛* 31 ®……S…«, 2013 EÚ…‰ ∫…®……{i… M…i… 
±…‰J……¥…π…« ®…Â °Ú®…« x…‰ 2,00,000 Ø˚0 EÚ… ±……¶… EÚ®……™……* S……±…⁄ ¥…π…« ®…Â ±……¶… M…i… ¥…π…« EÚ“ i…÷±…x…… 
®…Â 20% + v…EÚ Ω˛…‰x…‰ EÚ“ ∫…Δ¶……¥…x…… ΩË˛*  
+¥…EÚ…∂… O…Ω˛h… EÚ“  i… l… EÚ…‰ S……±…⁄ ¥…π…« EÚ… ±……¶… ®…Â Ω˛Æ˙“∂… EÚ…  Ω˛∫∫…… Y……i… EÚ“ V…B i…l…… V…x…«±… 
|… ¥…Œπ]ı EÚ“ V…B* 

 Harish, Mukesh and Saraf are partners in a firm sharing profits and 
losses in the ratio of 2 : 1 : 1. The books of the firm are closed on 31st 
March every year. Harish retires from the firm on 31st August, 2013. 
The firm earned a profit of Rs. 2,00,000 during the previous 
accounting year ended on 31st March, 2013. It is estimated that 
current year's profit would be 20% more over than previous year's 
profit. 

 On the date of taking retirement determine the share of Harish in the 
current year's profit and also make journal entries. 4  

18. {…“ ¥… C™…⁄ n˘…‰ ∫……Z…‰n˘…Æ˙ ΩÈ˛* 31 ®……S…«, 2013 EÚ…‰ ∫……Z…‰n˘…Æ˙…Â EÚ“ {…⁄ƒV…“ GÚ®…∂…: 2,00,000 Ø˚0 ¥… 
1,00,000 Ø˚0 ΩË˛ i…l…… ±…‰x…n˘…Æ˙ 60,000 Ø˚0 ΩË˛* <∫…“  i… l… EÚ…‰ °Ú®…« E‰Ú ∫…®……{…x… {…Æ˙ 
∫…®{… k…™……Â EÚ… ¥…∫…⁄±…“ ®…⁄±™… 1,80,000  Ø˚0 ΩË˛* ¥…∫…⁄±…“ J……i…… §…x……<B* 

  P and Q are two partners. On 31st March, 2013 capital of the partners 
are Rs. 2,00,000 and Rs. 1,00,000 respectively and creditors worth   
Rs. 60,000. Realisable value of assets is Rs. 1,80,000 on the same 
date, at the time of dissolution of the firm. Prepare Realisation 
Account. 4 
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19. ∫…®…i…… +Δ∂… +…ËÆ˙ {…⁄¥……« v…EÚ…Æ˙ +Δ∂… ®…Â EÚ…‰<« S……Æ˙ +Δi…Æ˙  ±… J…B* 
 Write any four differences between Equity Share and Preference Share.4 
20. +n˘Æ˙“∂…  ±…0 x…‰ 2000 ∫…®…i…… +Δ∂… 10 Ø˚0 |… i… +Δ∂… ¥……±…‰ EÚ… Ω˛Æ˙h…  EÚ™……,  V…x… {…Æ˙      

10 Ø˚0 |… i… +Δ∂… ®……ƒM…… M…™…… l……* <x… +Δ∂……Â {…Æ˙ 3 Ø˚0 |… i… +Δ∂…  u˘i…“™… ®……ƒM… E‰Ú §…EÚ…™…… l…‰* 
EÚ®{…x…“ x…‰ <xΩÂ˛ 9 Ø˚0 |… i… +Δ∂… {…⁄h…« n˘k… {…Æ˙ {…÷x…: x…M…« ®…i… EÚÆ˙  n˘™…‰* +…¥…∂™…EÚ V…x…«±… 
|… ¥…Œπ]ı™……ƒ §…x……<B* 

 Adrish Ltd. forfeited 2000 equity shares of Rs. 10 each on which      
Rs. 10 per share was called up. There were arrears of Rs. 3 each of 
Second Call on these shares. Company reissued these shares at       
Rs. 9 per share as fully paid up. Make necessary journal entries. 4 

21. §……‰ Ω˛i…  ±…0 x…‰ 10000, 9% @Òh…{…j… 100 Ø˚0 ¥……±…‰ ∫…®…®…⁄±™… {…Æ˙  x…M…« ®…i…  EÚ™…‰* @Òh…{…j……Â 
EÚ… ∂……‰v…x… 6% |…“ ®…™…®… {…Æ˙  x…®x……x…÷∫……Æ˙  EÚ™…… V……x…… ΩË˛ : 

 |…l…®… ¥…π…« — ∂…⁄x™…,  u˘i…“™… ¥…π…« — 5,00,000 Ø˚0, i…fii…“™… ¥…π…« — ∂…⁄x™…,                
S…i…÷l…« ¥…π…« — 5,00,000 Ø˚0 * 

 |… i… ¥…π…« +{… ±… J…i… EÚ“ V……x…‰ ¥……±…“ @Òh…{…j……Â E‰Ú  x…M…«®…x… {…Æ˙ §…^‰ı EÚ“ Æ˙… ∂… EÚ“ M…h…x…… 
EÚ“ V…B*  

 Bohit Ltd. issued 10000, 9% debentures of Rs. 100 each at par. 
Debentures are to be redeemed at a premium of 6% as follows : 

 1st year — Nil, 2nd year — Rs. 5,00,000, 3rd year — Nil,                 
4th year — Rs. 5,00,000. 

 Calculate the amount of discount on issue of debentures which should 
be written off in each year. 4 

22. ∫…⁄Æ˙V… +…ËÆ˙ S…Δn˘… 2 : 1 E‰Ú +x…÷{……i… ®…Â ±……¶…-Ω˛… x… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* 31 ®……S…«, 2013 EÚ…‰ 
=x…EÚ…  S…_ˆ…  x…®x… |…EÚ…Æ˙ l…… : 

31 ®……S…«, 2013 EÚ…  S…_ˆ… 

n˘… ™…i¥… Æ˙… ∂… 
Ø˚0 ∫…®{… k… Æ˙… ∂… 

Ø˚0 
±…‰x…n˘…Æ˙˘ 
∫……®……x™… ∫…ΔS…™…˘ 
{…⁄ƒV…“ J……i…… : 
      ∫…⁄Æ˙V…       1,20,000 
       S…Δn˘…˘         60,000 

30,000 
30,000 

 
 
 

1,80,000 
 
 
 

2,40,000 

x…EÚn˘ ∂…‰π…˘ 
§…ÈEÚ ∂…‰π… 
 ¥… ¥…v… n‰˘x…n˘…Æ˙˘        60,000 
P…]ı…™…… : +…™……‰V…x…    24,000 
Æ˙Ω˛ i…™…… 
®…∂…“x…˘ 
°Úx…‘S…Æ˙˘ 
J™…… i… 

20,000 
19,000 

 

36,000 
90,000 
29,000 
10,000 
36,000 

2,40,000 
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 1 +|…Ë±…, 2013 EÚ…‰ ¥…‰ i……Æ˙… EÚ…‰ 3
1   Ω˛∫∫…‰ E‰Ú  ±…B |…¥…‰∂… n‰˘i…‰ ΩÈ˛* ¥…Ω˛ +{…x…‰  Ω˛∫∫…‰ EÚ“ 

J™…… i… E‰Ú  ±…B ¥™……{……Æ˙ ®…Â x…EÚn˘ ¶…÷M…i……x… EÚÆ˙i…“ ΩË˛ i…l…… <i…x…“ {…™……«{i… {…⁄ƒV…“ ±……i…“ ΩË˛  V…∫…∫…‰  EÚ 

=∫…‰ x…<« °Ú®…« EÚ“ E÷Ú±… {…⁄ΔV…“ EÚ… 3
1  ¶……M…  n˘™…… V…… ∫…E‰Ú* °Ú®…« EÚ“ J™…… i… EÚ… ®…⁄±™……ΔEÚx… M…i… 

i…“x… ¥…π…« E‰Ú +…Ë∫…i… ±……¶… E‰Ú i…“x… M…÷x…‰ E‰Ú +…v……Æ˙ {…Æ˙  EÚ™…… V……i…… ΩË˛* <x… ¥…π……Á E‰Ú ±……¶… ™…… 
Ω˛… x… GÚ®…∂…: 30,000 Ø˚0, 35,000 Ø˚0 (Ω˛… x…) +…ËÆ˙ 50,000 Ø˚0 l…‰* ™…Ω˛ ¶…“  x…∂S…™… 
 EÚ™…… M…™……  EÚ n‰˘x…n˘…Æ˙…Â {…Æ˙ +…™……‰V…x… EÚ…‰ 9,000 Ø˚0 i…EÚ P…]ı…™…… V……™…‰ +…ËÆ˙ Æ˙Ω˛ i…™…‰ EÚ… 
{…÷x…®…⁄«±™……ΔEÚx… 1,20,000 Ø˚0 {…Æ˙  EÚ™…… V……™…‰* ®…∂…“x… EÚ…‰ 20,000 Ø˚0 i…EÚ P…]ı…™…… V……™…‰* 

 ={…Æ˙…‰HÚ ¥™…¥…Ω˛…Æ˙…Â E‰Ú  ±…B V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B i…l…… {…÷x…®…⁄«±™……ΔEÚx… J……i…… §…x……<B* 
 Suraj and Chanda are partners sharing profit and loss in the ratio of   

2 : 1. Their Balance Sheet as on 31st March, 2013 is as follows : 

Balance Sheet as on 31st March, 2013 

Liabilities 
Amount 

Rs. Assets 
Amount 

Rs. 
Creditors 
General Reserve 
Capital A/c : 
      Suraj    1,20,000 
      Chanda   60,000 

30,000 
30,000 

 
 

1,80,000 
 
 
 

2,40,000 

Cash Balance 
Bank Balance 
Sundry Debtors   60,000 
Less :  Provision  24,000 
Stock 
Machine 
Furniture 
Goodwill 

20,000 
19,000 

 
36,000 
90,000 
29,000 
10,000 
36,000 

2,40,000 
 On 1st April, 2013 they admit Tara for 3

1 rd share. She pays cash in 

the business for her share of goodwill and brings sufficient capital so 

that she can be given 3
1 rd share of the total capital of the new firm. 

The goodwill of the firm is to be valued at three times of average profit 
of the last three years. Profit or loss of these three years were           
Rs. 30,000, Rs. 35,000 (Loss) and Rs. 50,000. It was also decided that 
the Provision on debtors be reduced up to Rs. 9,000 and Stock is to be 
revalued at Rs. 1,20,000. The machine is to be reduced up to            
Rs. 20,000.  

 Pass journal entries for the above transactions and prepare 
Revaluation Account. 6 

+l…¥……  / OR 
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 ∂……±…⁄,  ]ı{∫…“ i…l…… +Δ∂…÷±… 1: 2 : 3 +x…÷{……i… ®…Â ±……¶…-Ω˛… x… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* 31 ®……S…«, 
2013 EÚ…‰ ∫…®……{i… ¥…π…« E‰Ú  ±…B =x…EÚ…  S…_ˆ…  x…®x… |…EÚ…Æ˙ ΩË˛ : 

31 ®……S…«, 2013 EÚ…  S…_ˆ… 

n˘… ™…i¥… Æ˙… ∂…
Ø˚0 ∫…®{… k… Æ˙… ∂… 

Ø˚0 
{…⁄ƒV…“ J……i…… : 
    ∂……±…⁄               36,000 
     ]ı{∫…“              24,000 
    +Δ∂…÷±…             12,000 
∫……®……x™… ∫…ΔS…™… 
n‰˘™…  ¥…{…j… 
±…‰x…n˘…Æ˙ 

 
 
 
 

72,000 
18,000 
18,000 
16,000 

1,24,000 

¶…⁄ ®… B¥…Δ ¶…¥…x…
∫…Δ™…Δj… ¥… ®…∂…“x…Æ˙“ 
°Úx…‘S…Æ˙ 
Æ˙…‰EÚc˜ 
|……{™…  §…±… 
n‰˘x…n˘…Æ˙ 
∫]ı…ÏEÚ 

20,000 
40,000 
16,000 
20,000 
3,000 

13,000 
12,000 

1,24,000 
 ∂……±…⁄ °Ú®…« ∫…‰ 1 +|…Ë±…, 2013 EÚ…‰ +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛* +¥…EÚ…∂… O…Ω˛h…  i… l… EÚ…‰ 

∫…®{… k…™……Â ¥… n˘… ™…i¥……Â EÚ… {…÷x…®…⁄«±™……ΔEÚx…  x…®x… |…EÚ…Æ˙  EÚ™…… M…™…… : 
i) ¶…⁄ ®… ¥… ¶…¥…x… EÚ… ®…⁄±™… 33,000 Ø˚0 i…EÚ §…g¯…x…… ΩË˛ 
ii) {±……Δ]ı ¥… ®…∂…“x…Æ˙“ EÚ… ®…⁄±™… 48,000 Ø˚0 +…ΔEÚ… M…™…… 
iii) °Úx…‘S…Æ˙ EÚ… ®…⁄±™… 10% ∫…‰ P…]ı…x…… ΩË˛ 
iv) n‰˘x…n˘…Æ˙…Â {…Æ˙ 20% EÚ… b⁄˜§…i… @Òh… EÚ… |……¥…v……x… EÚÆ˙x…… ΩË˛ 
v) ∫]ı…ÏEÚ EÚ… ®…⁄±™… 15,000 Ø˚0 +…ΔEÚ… M…™…… 
vi) °Ú®…« EÚ“ J™…… i… EÚ… ®…⁄±™……ΔEÚx… 30,000 Ø˚0 {…Æ˙  EÚ™…… M…™……* ™…Ω˛ ¶…“  x…Œ∂S…i…  EÚ™…… 

M…™……  EÚ ∂……±…⁄ E‰Ú +¥…EÚ…∂… O…Ω˛h… E‰Ú {…∂S……i… ±…‰V…Æ˙ {…÷∫i…EÚ…Â ®…Â J™…… i… x…Ω˛”  n˘J……™…“ 
V……™…‰M…“* ( ±…‰J…… ®……x…EÚ 26 E‰Ú +x…÷∫……Æ˙) 

∂……±…⁄ E‰Ú +¥…EÚ…∂… O…Ω˛h… {…Æ˙ {…÷x…®…⁄«±™……ΔEÚx… J……i…… i…l…… ∫……Z…‰n˘…Æ˙…Â E‰Ú {…⁄ƒV…“ J……i…‰ §…x……<B* 
 Shalu, Tipsy and Ansul are partners sharing profits and losses in the 

ratio of 1 : 2 : 3. Their Balance Sheet as on 31st March, 2013 is as 
follows : 

Balance Sheet as on 31st March, 2013 

Liabilities 
Amount 

Rs. Assets 
Amount 

Rs. 
Capital A/c 
    Shalu            36,000 
    Tipsy             24,000 
    Anshul          12,000 
General Reserve 
Bills Payable 
Creditors 

 
 
 

72,000 
18,000 
18,000 
16,000 

1,24,000 

Land and Building 
Plant and Machinery 
Furniture 
Cash 
Bills Receivable 
Debtors 
Stock 

20,000 
40,000 
16,000 
20,000 
3,000 

13,000 
12,000 

1,24,000 
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 Shalu retires from the firm on 1st April, 2013. The Assets and 
Liabilities on retirement date was revalued as follows : 

i) Value of Land and Building is increased up to Rs. 33,000 

ii) The Plant and Machinery is valued at Rs. 48,000 

iii) The value of Furniture is reduced by 10% 

iv) Provide 20% on Debtors as Provision for doubtful debts 

v) The value of stock is to be valued at Rs. 15,000 

vi) The Goodwill of the firm is valued Rs. 30,000. It is also decided 
that after retirement of Shalu, Goodwill not be shown in the 
books. (As per Accounting Standard 26 ) 

 Make Revaluation Account and Partners' Capital Account on the 
retirement of Shalu. 6 

23. ®……‰ Ω˛x…“  ±…0 x…‰ 10 Ø˚0 ¥……±…‰ 10000 ∫…®…i…… +Δ∂……Â E‰Ú 10% |…“ ®…™…®… {…Æ˙  x…M…«®…x… Ω‰˛i…÷ 
+…¥…‰n˘x… {…j… +…®…Δ j…i…  EÚ™…‰* Æ˙… ∂… <∫… |…EÚ…Æ˙ n‰˘™… l…“ : 

 +…¥…‰n˘x… {…Æ˙ 4 Ø˚0 (|…“ ®…™…®… ∫… Ω˛i…), §…Δ]ıx… {…Æ˙ 4 Ø˚0 +…ËÆ˙ ∂…‰π… |…l…®… B¥…Δ +Δ i…®… ®……ƒM… {…Æ˙* 
25000 +Δ∂……Â E‰Ú  ±…B +…¥…‰n˘x… {…j… |……{i… Ω÷˛B* 5000 +Δ∂……Â E‰Ú  ±…B +{…⁄h…« +…¥…‰n˘x… {…j… Æ˙n¬˘n˘ 
EÚÆ˙  n˘™…‰ +…ËÆ˙ Æ˙… ∂… ±……Ë]ı… n˘“* ∂…‰π… +…¥…‰n˘x… {…j……Â {…Æ˙ ™…l……x…÷{……i… §…Δ]ıx…  EÚ™……* +…¥…‰n˘x… EÚ“ 
+ v…EÚ |……{i… Æ˙… ∂… EÚ… §…Δ]ıx… E‰Ú  ±…B |…™……‰M… EÚÆ˙i…‰ ΩÈ˛* ®……‰Ω˛x…  V…∫…x…‰ 2000 +Δ∂……Â E‰Ú  ±…B 
+…¥…‰n˘x…  EÚ™…… l…… §…Δ]ıx… i…l…… |…l…®… B¥…Δ +Δ i…®… ®……ƒM… Æ˙… ∂… EÚ… ¶…÷M…i……x… x…Ω˛” EÚÆ˙ ∫…EÚ… +…ËÆ˙ 
=∫…E‰Ú +Δ∂… V…§i… EÚÆ˙  ±…™…‰* <x… ∫…¶…“ +Δ∂……Â E‰Ú 8 Ø˚0 |… i… +Δ∂… EÚ“ n˘Æ˙ ∫…‰ {…⁄h…« |…n˘k… ®……x…i…‰ 
Ω÷˛B {…÷x…Ãx…M…« ®…i…  EÚ™…‰* EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

 Mohini Ltd. invited applications for the issue of 10000 equity shares of 
Rs. 10 each at 10% premium. The amount was payable as follows : 

 On Application Rs. 4 (including premium), on Allotment Rs. 4 and 
remaining on First and Final Calls. 

 Applications were received for 25000 shares. Incomplete applications 
of 5000 shares were cancelled and amount refunded. Remaining 
applications were allotted on pro-rata basis. Excess application money 
is used for allotment. Mohan who applied for 2000 shares could not 
pay allotment and First and Final Call money and his shares were 
forfeited. All these shares were re-issued @ Rs. 8 per share as fully 
paid up. Give necessary journal entries in the books of the company.  

   6 
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J…hb˜ - §… 

PART – B 

 J…hb˜ "§…' E‰Ú n˘…‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ ¶……M… 

E‰Ú ∫…¶…“ ∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛* 

 Part 'B' has two portions. Every portion has a set of seven questions. 

Candidate can attempt only one set of seven questions of any one 

portion. 

24. Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… EÚ…Ëx…-∫…‰ ±…‰J……ΔEÚx… |…®……{… E‰Ú +x…÷∫……Æ˙ §…x……™…… V……i…… ΩË˛ ? 

 Under which Accounting Standard, is Cash Flow Statement made ? 1 

25.  ¥… x…™……‰M… ∫…®§…xv…“  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ §… Ω˛¥……«Ω˛˛ EÚ“ n˘…‰ ®…nÂ˘  ±… J…B* 

 Write two items of cash outflows from investing activities. 1 

26. Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… EÚ… +l…«  ±… J…B* 

 Write the meaning of Cash Flow Statement. 2 

27. EÚ®{…x…“ E‰Ú Œ∫l… i…  ¥…¥…Æ˙h… ®…Â S……±…⁄ ∫…®{… k… ∂…“π…«EÚ E‰Ú +xi…M…«i…  n˘J……<« V……x…‰ ¥……±…“ EÚ…‰<« n˘…‰ ®…nÂ˘ 
 ±… J…B* 

 Write any two items which are shown under the heading of Current 

Assets in the Balance Sheet of company. 2 

28.  x…®x… ∫…⁄S…x…… ∫…‰ i…÷±…x……i®…EÚ +…™…  ¥…¥…Æ˙h… §…x……<B : 

 31.3.2012 
Ø˚0 

31.3.2013 
Ø˚0 

 §…GÚ“ 
§…‰S…‰ M…™…‰ ®……±… EÚ… ±……M…i… ®…⁄±™… 
{… Æ˙S……±…x… ¥™…™… 
±……¶……Δ∂… |……{i… 
+…™…EÚÆ˙ n˘Æ˙ 

2,00,000 
1,00,000 

10,000 
20,000 

∂…÷r˘ ±……¶… EÚ… 50% 
EÚÆ˙ ∫…‰ {…⁄¥…« 

2,50,000 
1,30,000 

12,000 
20,000 

∂…⁄r˘ ±……¶… EÚ… 50% 
EÚÆ˙ ∫…‰ {…⁄¥…« 
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 From the following information, prepare a comparative Income 
Statement : 4 
 31.3.2012 

Rs. 
31.3.2013 

Rs. 
Sales 
Cost of goods sold 
Operating Expenses 
Dividend Received 
Income Tax Rate 

2,00,000 
1,00,000 

10,000 
20,000 

50% of Net Profit 
before tax 

2,50,000 
1,30,000 

12,000 
20,000 

50% of Net Profit 
before tax 

29.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ {… Æ˙S……±…x…  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… i…Ë™……Æ˙ EÚ“ V…B :  
   Ø˚0 

  S……±…⁄ ¥…π…« EÚ… ∂…÷r˘ ±……¶… 1,00,000 

  ∫……®……x™… ∫…ΔS…™… EÚ… Ω˛∫i……xi…Æ˙h… 10,000 

  n‰˘x…n˘…Æ˙…Â ®…Â EÚ®…“ 25,000 

  n‰˘™…  ¥…{…j……Â ®…Â EÚ®…“ 20,000 

  +{… ±… J…i… +Δ∂……Â {…Æ˙ §…^ı… 5,000 

  ∫]ı…ÏEÚ ®…Â ¥…fi r˘ 18,000 

  ®…∂…“x… §…‰S…x…‰ ∫…‰ Ω˛… x… 12,000 

   ¥… x…™……‰M… §…‰S…x…‰ ∫…‰ ±……¶… 4,000 

 From the following information, prepare Cash Flow Statement from 
operating activities : 4 

   Rs. 

  Net Profit of current year 1,00,000 

  Transferred to General Reserve 10,000 

  Decrease in Debtors 25,000 

  Decrease in Bills Payable 20,000 

  Discount on shares written off 5,000 

  Increase in Stock 18,000 

  Loss on sale of machine 12,000 

  Profit on sale of investment 4,000 
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30.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ M…h…x…… EÚ“ V…B : 
i) |… i… +Δ∂… +V…«x… ii) |… i… +Δ∂… ±……¶……Δ∂… 
iii) ®…⁄±™… +V…«x… +x…÷{……i… iv) ∫…EÚ±… ±……¶… +x…÷{……i… 
v) ∫¥…… ®…i¥… +x…÷{……i… vi) ∫EÚxv… +…¥…i…« +x…÷{……i…* 
     
 EÚÆ˙ ∫…‰ {…⁄¥…« ±……¶… Ø˚0  2,00,000  
 +…™… EÚÆ˙ EÚ“ n˘Æ˙ 40% 
 |…∫i…… ¥…i… ±……¶……Δ∂… 25% 
 10% + v…®……x… +Δ∂… Ø˚0  1,00,000 
 20000 ∫…®…i…… +Δ∂… |… i… +Δ∂… 10 Ø˚0 Ø˚0  2,00,000 
 ∫…®…i…… +Δ∂… EÚ… S……±…⁄ §……V……Æ˙ ®…⁄±™… 27·50 Ø˚0 |… i… +Δ∂… ΩË˛* 
 §…‰S…‰ M…™…‰ ®……±… EÚ… ±……M…i… ®…⁄±™… Ø˚0   6,00,000 
 E÷Ú±… ∫…®{… k… Ø˚0   5,00,000 
 Æ˙Ω˛ i…™…… Ø˚0   1,50,000 
  §…GÚ“ Ø˚0 10,50,000 
  ¥…GÚ™… ¥……{…∫…“ Ø˚0     50,000 

 From the following information calculate : 
i) Earning per share ii) Dividend per share 
iii) Price earning ratio iv) Gross profit ratio 
v) Proprietory ratio vi) Stock turnover ratio. 
   6 
 Profit before tax Rs.   2,00,000 
 Rate of Income Tax 40% 
 Proposed dividend 25% 
 10% Preference Share Rs.   1,00,000 
 20000 Equity Shares of Rs.10 each Rs.   2,00,000 
 The current market price of the equity Share is Rs. 27·50 per share 
 Cost of goods sold Rs.  6,00,000 
 Total Assets Rs.  5,00,000 
 Stock  Rs.  1,50,000 
 Sales Rs.10,50,000 
 Sales Return Rs.     50,000 

+l…¥…… / OR 
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  x…®x… ∫…⁄S…x……+…Â ∫…‰ ∫…®……x……EÚ…Æ˙  S…_ˆ… §…x……<B : 
 31 ®……S…«, 2012 

Ø˚0 
31 ®……S…«, 2013 

Ø˚0 
∫l……™…“ ∫…®{… k…™……ƒ 
 ¥… x…™……‰M… 
S……±…⁄ ∫…®{… k…™……ƒ 
∫…®…i…… +Δ∂… {…⁄ΔV…“ 
∫…ΔS…™… B¥…Δ +… v…C™… 
S……±…⁄ n˘… ™…i¥… 

2,50,000 
1,20,000 
1,30,000 
3,00,000 
1,25,000 

75,000 

5,60,000 
1,12,000 
1,28,000 
5,20,000 
1,36,000 
1,44,000 

 From the following information prepare the common size Balance 

Sheet : 6 
 31st March,2012 

Rs. 
31st March, 2013 

Rs. 
Fixed Assets 
Investments 
Current Assets 
Equity Share Capital 
Reserve & Surplus 
Current Liabilities 

2,50,000 
1,20,000 
1,30,000 
3,00,000 
1,25,000 

75,000 

5,60,000 
1,12,000 
1,28,000 
5,20,000 
1,36,000 
1,44,000 

+l…¥…… / OR 

J…hb˜ - §… 
PART – B 

24. AIS E‰Ú EÚ…‰<« n˘…‰ i…i¥…  ±… J…B* 

 Write any two elements of AIS. 1 

25. b‰˜]ı…  b˜C∂…x…Æ˙“ EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B* 

 Define Data Dictionary. 1 

26. EÚ®{™…⁄]ıÆ˙…<«Vb˜ ±…‰J……ΔEÚx… E‰Ú ±……¶… C™…… ΩÈ˛ ? 

 What are the advantages of Computerised Accounting ? 2 

27. ®……x…¥…“EfiÚi… ±…‰J……ΔEÚx… i…l…… EÚ®{™…⁄]ıÆ˙…<«Vb˜ ±…‰J……ΔEÚx… |…h……±…“ ®…Â +xi…Æ˙ §…i……<B* 

 Differentiate between Manual accounting and Computerised 
accounting systems. 2 
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28. DML ¥… DCL EÚ… BEÚ =n˘…Ω˛Æ˙h… ∫… Ω˛i… ¥…h…«x… EÚ“ V…B* 

 Explain DML and DCL each with one example. 2 + 2  

29. <±…ËC]≈ı…Ï x…EÚ ∫|…‰b˜∂…“]ı E‰Ú ±……¶……Â EÚ… ¥…h…«x… EÚ“ V…B* 

 Explain the benefits of electronic spread sheet. 4 

30. a) MS-Excel ®…Â BEÚ S……]«ı §…x……x…‰ E‰Ú S…Æ˙h…  ±… J…B* 

 b) BEÚ i…… ±…EÚ…  'STUDENT' E‰Ú ∫…fiV…x… E‰Ú  ¥… ¶…z… S…Æ˙h…  ±… J…B* 

 a) Write the steps of creating a chart in MS-Excel. 

 b) Write the various steps to create a table 'STUDENT'. 3 + 3 
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 x……®……ΔEÚ Roll No. 
  

 
 

      

No. of Questions — 30  SS—30–Accountancy 

No. of Printed Pages — 15 
 

=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2015 
SENIOR SECONDARY EXAMINATION, 2015 

±…‰J……∂……∫j… 
ACCOUNTANCY  

∫…®…™… :  3 
4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 80 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… :  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â*  
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ∫…¶…“ |…∂x… + x…¥……™…« ΩÈ˛*  
  All the questions are compulsory.  
 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙ {…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  
  Write the answer to each question in the given answer-book 

only. 
 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 
  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ / 

 ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ Ω˛“ ∫…Ω˛“ ®……x…Â*  
  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 

 6. i) ™…Ω˛ |…∂x… {…j… n˘…‰ J…hb˜…Â ®…Â  ¥…¶…HÚ ΩË˛ — + +…ËÆ˙ §…* 
  ii) J…hb˜ "+' ∫…¶…“ UÙ…j……Â E‰Ú  ±…B + x…¥……™…« ΩË˛* 
  iii) J…hb˜ "§…' E‰Ú n˘… ‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ 

¶……M… E‰Ú ∫…¶…“ ∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛*   
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  i) This question paper contains two Parts — A and B. 
  ii) Part 'A' is compulsory for all candidates. 
  iii) Part 'B' has two portions. Every portion has a set of seven 

questions. Candidate can attempt only a set of seven 
questions of any one portion.  

 7. J…hb˜ |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… 
  + 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

  §… 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

+l…¥…… 
   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
  Part Question Nos. Marks per question 
   A 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

   B 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

OR 

   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
 8. |…∂x… ∫…ΔJ™…… 22 (J…hb˜-+) i…l…… 30 (J…hb˜-§…) ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛*  
  There are internal choices in Q. No. 22 ( Part-A ) and Q. No. 30  

( Part-B ). 
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J…hb˜ - + 
PART – A  

1. °Ú®…« ®…Â x…™…‰ ∫……Z…‰n˘…Æ˙ u˘…Æ˙… J™…… i… EÚ“ Æ˙EÚ®… x…EÚn˘ ±……x…‰ {…Æ˙ {…÷Æ˙…x…‰ ∫……Z…‰n˘…Æ˙…Â ®…Â  EÚ∫… +x…÷{……i… 
®…Â §……ƒ]ı“ V……i…“ ΩË˛ ? 

 In which ratio amount of goodwill is divided among the old partners 
when new partner brings cash for goodwill ? 1 

2. ""x…™…‰ ∫……Z…‰n˘…Æ˙ E‰Ú |…¥…‰∂… {…Æ˙ ∫……®……x™… ∫…ΔS…™… {…÷Æ˙…x…‰ ∫……Z…‰n˘…Æ˙…Â EÚ…‰ §……ƒ]ı… V……i…… ΩË˛*'' C™……Â ?  

 "General reserve is distributed at the admission of new partner to old 
partners." Why ? 1 

3. + v…±……¶… +…ËÆ˙ +…Ë∫…i… ±……¶… ®…Â BEÚ +xi…Æ˙  ±…J…Â* 

 Write one difference between super profit and average profit. 1 

4. +Δ EÚi…, ®……‰ Ω˛i… +…ËÆ˙ n˘“{…EÚ 2 : 2 : 1 +x…÷{……i… ®…Â ±……¶… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* ®……‰ Ω˛i… 
+¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛, =∫…EÚ…  Ω˛∫∫…… n˘“{…EÚ ±…‰i…… ΩË˛* x…™…… +x…÷{……i… Y……i… EÚÆÂ˙* 

 Ankit, Mohit and Deepak are partners sharing in the ratio of 2 : 2 : 1. 
Mohit takes retirement and his share is taken by Deepak. Calculate 
the new ratio. 1 

5. BEÚ ∫……Z…‰n˘…Æ˙“ °Ú®…« E‰Ú ∫…®……{…x… EÚ“ n˘∂…… ®…Â "b⁄˜§…i… @Òh… +…™……‰V…x… J……i…‰' E‰Ú ∂…‰π… EÚ…‰ EÚΩ˛…ƒ B¥…Δ 
 EÚ∫… {…I… ®…Â Ω˛∫i……xi… Æ˙i…  EÚ™…… V……i…… ΩË˛ ? 

 On dissolution of a partnership firm, where and in which side is the 
balance of 'the provision for Bad debts Account' transferred ? 1 

6. |……Ãl…i… {…⁄ƒV…“ EÚ… +l…«  ±…J…Â* 
 Write the meaning of subscribed capital. 1 

7. +Δ∂……Â E‰Ú {…÷x…: x…M…«®…x… {…Æ˙ + v…EÚi…®… U⁄Ù]ı  EÚi…x…“ n˘“ V…… ∫…EÚi…“ ΩË˛ ? 
 What is the maximum amount of discount which may be allowed on 

reissue of shares ?   1 

8. @Òh… {…j……Â E‰Ú ∂……‰v…x… {…Æ˙ ±……¶… EÚ…‰  EÚ∫… J……i…‰ ®…Â Ω˛∫i……xi… Æ˙i…  EÚ™…… V……i…… ΩË˛ ? 

 Profit on redemption of debentures is transferred to which Account ?  

   1 
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9. EÚ ¥…i…… +…ËÆ˙ ®…x…“π…… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛* EÚ ¥…i…… °Ú®…« ∫…‰ |…i™…‰EÚ ®……Ω˛ E‰Ú |…l…®…  n˘x…    
500 Ø˚0 B¥…Δ ®…x…“π…… |…i™…‰EÚ ®……Ω˛ E‰Ú +Œxi…®…  n˘x… 600 Ø˚0 +…Ω˛Æ˙h… EÚÆ˙i…“ ΩË˛* §™……V… 10% 

¥……Ãπ…EÚ n˘Æ˙ ∫…‰ ¥…∫…⁄±…  EÚ™…… V……i…… ΩË˛* EÚ ¥…i…… +…ËÆ˙ ®…x…“π…… E‰Ú +…Ω˛Æ˙h… {…Æ˙ BEÚ ¥…π…« EÚ… §™……V… 
EÚ“ M…h…x…… EÚÆÂ˙* 

 Kavita and Manisha are partners in a firm. Kavita withdrew Rs. 500 on 

the first day of every month and Manisha withdrew Rs. 600 on the last 

day of every month. The interest is charged @ of 10% per annum. 

Calculate the interest for one year on the drawings of Kavita and 

Manisha. 2 

10. BEÚ °Ú®…« ®…Â  ¥… x…™……‰ V…i… {…⁄ƒV…“ 5,00,000 Ø˚0 ΩË˛* ±……¶… EÚ“ ∫……®……x™… n˘Æ˙ 8% ΩË˛* °Ú®…« E‰Ú 
+…Ë∫…i… ±……¶… 45,000 Ø˚0 (5,000 Ø˚0 +∫……®……x™… Ω˛… x… E‰Ú {…∂S……i… ) ΩÈ˛* + v…±……¶… E‰Ú {……ƒS… 
M…÷x…‰ E‰Ú §…Æ˙…§…Æ˙ J™…… i… E‰Ú ®…⁄±™… EÚ“ M…h…x…… EÚ“ V…B* 

 Invested capital is Rs. 5,00,000 in a firm. Normal rate of profit is 8%. 

Average profits of the firm are Rs. 45,000 ( after an abnormal loss of 

Rs. 5,000 ). Calculate the value of goodwill at five times of the super 

profit. 2 

11. ±……±……,  ¥…GÚ®… +…ËÆ˙ {……±… ±……¶…-Ω˛… x… EÚ…‰ 2 : 3 : 4 E‰Ú +x…÷{……i… ®…Â §……ƒ]ıi…‰ ΩÈ˛* =x…EÚ“ {…÷∫i…EÚ…Â ®…Â 
36,000 Ø˚0 ∫…‰ J™…… i… J……i……  ¥…t®……x… ΩË˛* {……±… +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛* =∫…  n˘x… J™…… i… 
EÚ… ®…⁄±™……ΔEÚx… 63,000 Ø˚0 {…Æ˙  EÚ™…… M…™……* J™…… i… J……i…… {…÷∫i…EÚ…Â ®…Â x…Ω˛” Æ˙J…x…… ΩË˛* J™…… i… 
E‰Ú |… i…{……n˘x… Ω‰˛i…÷ +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

 Lala, Vikram and Pal are sharing profits in the ratio of 2 : 3 : 4. 

Goodwill is appearing in the books of them at a value of Rs. 36,000. 

Pal takes retirement. On that day goodwill is valued at Rs. 63,000. No 

goodwill account is maintained in the books. Pass the necessary 

journal entries for recording the treatment of goodwill. 2 
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12. Æ˙…v……  ±… ®…]‰ıb˜ ®…Â BC∫… x…‰ 1,000 +Δ∂… {…Æ˙ 5 Ø˚0 |… i… +Δ∂… EÚ“ n˘Æ˙ ∫…‰, n‰˘™…  i… l… ∫…‰ BEÚ 
®……Ω˛ {…⁄¥…« Ω˛“ + O…®… Æ˙… ∂… S…÷EÚ… n˘“* ∫……Æ˙h…“ "+' E‰Ú +x…÷∫……Æ˙ EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â §™……V… EÚ“ 
M…h…x…… EÚÆÂ˙ i…l…… §™……V… E‰Ú x…EÚn˘ ¶…÷M…i……x… EÚ“ |… ¥…Œπ]ı EÚ“ V…B* 

 X paid Rs. 5 per share on 1,000 shares in advance to Radha Ltd. one 
month before from due date. Calculate interest in the books of the 
company according to 'Table A' and pass necessary entry for Interest 
paid in cash. 2 

13.  x… v… ]ı“  ±… ®…]‰ıb˜ x…‰ +{…x…‰ 8,000, 12% @Òh…{…j… 100 Ø˚0 ¥……±…‰ 96 Ø˚0 |… i… @Òh…{…j… EÚ“ 
n˘Æ˙ ∫…‰ Æ˙q˘ EÚÆ˙x…‰ E‰Ú  ±…B GÚ™…  EÚ™…‰* =HÚ ¥™…¥…Ω˛…Æ˙ EÚ“ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* 

 Nidhi Tea Ltd. purchased for cancellation its 8,000, 12% debentures of 
Rs. 100 each at Rs. 96. Make Journal entries for the above 
transactions. 2 

14.  x…®x… ∫…⁄S…x……+…Â E‰Ú +…v……Æ˙ {…Æ˙ BEÚ ∫……Z…‰n˘…Æ˙ EÚ…‰ ¶…÷M…i……x… EÚ“ V……x…‰ ¥……±…“ Æ˙… ∂… EÚ“       
M…h…x…… EÚ“ V…B B¥…Δ <∫…EÚ“ +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* {…⁄ƒV…“ J……i…‰ EÚ… x……®… ∂…‰π… 
15,000 Ø˚0, ¥…∫…⁄±…“ J……i…‰ ®…Â ±……¶… EÚ…  Ω˛∫∫…… 35,000 Ø˚0, =∫…x…‰ °Ú®…« EÚ“ ∫…®{… k… J…Æ˙“n˘“ 
11,000 Ø˚0 ®…Â* 

 On the basis of the following information calculate the amount to be 
paid to a partner and pass necessary Journal entries of it. Debit 
balance of capital account is Rs. 15,000, his share of profit on 
realisation is Rs. 35,000, assets of the firm taken over by him for      
Rs. 11,000.  2 

15.  ¥…¥…‰EÚ +…ËÆ˙ ¥…‰n˘μ…i… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛* ¥…‰ <xp˘Æ˙…V… EÚ…‰ 4
1  ¶……M… E‰Ú ±……¶… E‰Ú  ±…B °Ú®…« 

®…Â ∂…… ®…±… EÚÆ˙i…‰ ΩÈ˛  V…∫…‰ x™…⁄x…i…®… 60,000 Ø˚0 ¥……Ãπ…EÚ ±……¶… EÚ“ M……Æ˙x]ı“ n˘“ V……i…“ ΩË˛* =∫…‰ 

M……Æ˙x]ı“ E‰Ú +xi…M…«i…  n˘B M…™…‰ 4
1  ¶……M… ∫…‰ + v…EÚ ±……¶… EÚ“ Æ˙… ∂… EÚ…‰ n˘…‰x……Â {…÷Æ˙…x…‰ ∫……Z…‰n˘…Æ˙ 

GÚ®…∂…: 3 : 2 E‰Ú +x…÷{……i… ®…Â ¥…Ω˛x… EÚÆÂ˙M…‰* 31 ®……S…«, 2014 EÚ…‰ ∫…®……{i… Ω˛…‰x…‰ ¥……±…‰ +r«˘ ¥…π…« 
®…Â °Ú®…« EÚ…‰ 1,00,000 Ø˚0 EÚ… ±……¶… Ω˛…‰i…… ΩË˛*  

 ±……¶…-Ω˛… x…  x…™……‰V…x… J……i…… §…x……<B i…l…… ±……¶…  ¥…i…Æ˙h… EÚ“ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* 



 6 

SS—30–Accountancy SS-6030 

 Vivek and Vedavrata are partners in a firm. They admit Indra Raj for 

4
1 th share of profit in the firm, who is given a guarantee for minimum 

profit of Rs. 60,000 yearly. The excess amount of profit given to him 

above 4
1 th of the share under guarantee will be borne by old partners 

in the ratio of  3 : 2 respectively. In the half year ending on 31st 

March, 2014 the firm's profit amounted to Rs. 1,00,000.  

 Prepare Profit & Loss Appropriation Account and pass journal entry for 

the distribution of profits. 4 

16. +…Ω˛Æ˙h… B¥…Δ ∂…÷r˘ ±……¶……Â E‰Ú  ±…B +…¥…∂™…EÚ ∫…®……™……‰V…x… EÚÆ˙x…‰ E‰Ú {…∂S……i… +, §… +…ËÆ˙ ∫… EÚ“ 

{…⁄ƒV…“ ¥…π…« E‰Ú +xi… ®…Â GÚ®…∂…: 25,000 Ø˚0, 20,000 Ø˚0 B¥…Δ 15,000  Ø˚0 l…“* §……n˘ ®…Â 

{…i…… ±…M……  EÚ {…⁄ƒV…“ {…Æ˙ 10% ¥……Ãπ…EÚ §™……V… +…ËÆ˙ +…Ω˛Æ˙h… {…Æ˙ §™……V… GÚ®…∂…: 150 Ø˚0,    

100 Ø˚0 B¥…Δ 50 Ø˚0 ±…M……x…… ¶…⁄±… M…™…‰* ¥…π…« EÚ… ±……¶… 10,000 Ø˚0 l……* =x…E‰Ú +…Ω˛Æ˙h… 

GÚ®…∂…: 1,500 Ø˚0, 1,000 Ø˚0 B¥…Δ 500 Ø˚0 l…‰* ∫……Z…‰n˘…Æ˙ ±……¶…-Ω˛… x… EÚ…‰ 2 : 1 : 1 E‰Ú 

+x…÷{……i… ®…Â §……ƒ]ıi…‰ ΩÈ˛*  

 J……i……Â EÚ…‰ ∫…÷v……Æ˙ E‰Ú  ±…B ¥…π…« E‰Ú +xi… ®…Â +…¥…∂™…EÚ |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

 The capitals of A, B and C stood at Rs. 25,000, Rs. 20,000 and         

Rs. 15,000 respectively after the necessary adjustments at the end of 

the year in respect of drawings and net profits.  Subsequently it was 

found that interest on capital at 10% per annum and interest on 

drawings Rs. 150, Rs. 100 and Rs. 50 respectively have been forgotten. 

The profit of the year was Rs. 10,000. Their drawings were Rs. 1,500, 

Rs. 1,000 and Rs. 500 respectively. Partners share profits and losses 

in the ratio of  2 : 1 : 1.  

 Pass necessary entries at the end of the year to rectify the accounts. 4 
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17. BC∫…, ¥……<« +…ËÆ˙ V…‰b˜ ∫……Z…‰n˘…Æ˙“ ®…Â 2 : 3 : 1 +x…÷{……i… ®…Â ±……¶…-Ω˛… x… §……ƒ]ıi…‰ ΩÈ˛* ¥…π…« E‰Ú |……Æ˙®¶… 
®…Â BC∫… +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛ +…ËÆ˙ +{…x…‰  Ω˛∫∫…‰ EÚ…‰ ¥……<« +…ËÆ˙ V…‰b˜ EÚ…‰ 1,60,000 Ø˚0 
®…Â §…‰S… n‰˘i…… ΩË˛,  V…∫…®…Â ∫…‰ 60,000 Ø˚0 ¥……<« n‰˘i…… ΩË˛ +…ËÆ˙ 1,00,000 Ø˚0 V…‰b˜ n‰˘i…… ΩË˛* BC∫… 
E‰Ú +¥…EÚ…∂… O…Ω˛h… E‰Ú §……n˘ °Ú®…« EÚ… =HÚ ¥…π…« EÚ… ±……¶… 2,40,000 Ø˚0 l……*  

 x…™…‰ ±……¶…-Ω˛… x… §…Δ]ıx… +x…÷{……i… EÚ“ M…h…x…… EÚÆÂ˙ B¥…Δ  Ω˛∫∫…… §…‰S…x…‰ i…l…… ±……¶… §……ƒ]ıx…‰ EÚ“ |… ¥…Œπ]ı™……ƒ 
EÚ“ V…B* 

 X, Y and Z are partners sharing profits and losses in the ratio            of 

2 : 3 : 1. At the beginning of the year X retires after selling his share to 

Y and Z for Rs. 1,60,000, out of which Rs. 60,000 being paid by Y and 

Rs. 1,00,000 by Z. The profit of the firm for the year after X's 

retirement is Rs. 2,40,000.  

 Calculate new Profit & Loss sharing ratio and pass entries for sales of 

share and distribution of profit. 4  

18. ∫……Z…‰n˘…Æ˙“ E‰Ú ∫…®……{…x… +…ËÆ˙ °Ú®…« E‰Ú ∫…®……{…x… ®…Â EÚ…‰<« S……Æ˙ı +xi…Æ˙  ±… J…B* 

  Write any four distinctions between dissolution of partnership and 

dissolution of firm. 4 

19. |… i…¶…⁄ i… |…§™…… V… E‰Ú EÚ…‰<« S……Æ˙ ={…™……‰M…  ±… J…B* 

 Write any four uses of securities premium. 4 

20. ®…‰P……  ±…0 x…‰ 5 Ø˚0 |…“ ®…™…®… {…Æ˙ 10 Ø˚0 ¥……±…‰ 40,000  ∫…®…i…… +Δ∂……Â E‰Ú  ±…B +…¥…‰n˘x… ®……ƒM…‰ 
l…‰* 6 Ø˚0 |… i… +Δ∂… E‰Ú +…v……Æ˙ {…Æ˙ |……{i… E÷Ú±… +…¥…‰n˘x… Æ˙… ∂… 3,00,000 Ø˚0 |……{i… Ω÷˛<«* 
+ ¶…n˘…x… E‰Ú |…EÚ…Æ˙ E‰Ú x……®… EÚ… =±±…‰J… EÚ“ V…B B¥…Δ +…¥…‰n˘x… {…Æ˙ EÚ“ V……x…‰ ¥……±…“ |… ¥…Œπ]ı™……ƒ 
EÚ“ V…B V…§… EÚ + i… Æ˙HÚ Æ˙… ∂… EÚ…‰ ±……Ë]ı…  n˘™…… V……i…… ΩË˛* 

 Megha Ltd. had invited applications for 40,000 equity shares of           

Rs. 10 each at a premium of Rs. 5 each. The total application money 

received at Rs. 6 per share was Rs. 3,00,000. Specify the kind of 

subscription and pass entries for application, while extra amount is to 

be refunded. 4 
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21. BC∫…  ±… ®…]‰ıb˜ x…‰ 100 Ø˚0 ¥……±…‰ 2,000, 12% @Òh…{…j……Â EÚ…‰ 10% |…§™…… V… {…Æ˙  x…M…« ®…i… 

 EÚ™……, ±…‰ EÚx… ∂……‰v…x… 5% |…“ ®…™…®… {…Æ˙  EÚ™…… V……x…… ΩË˛* EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ 

V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B, ™… n˘ @Òh…{…j……Â {…Æ˙  x…M…«®…x… EÚ“ Ω˛… x… EÚ…‰ +{… ±… J…i… EÚÆ˙x…… ΩË˛* 

 2,000, 12% debentures of Rs. 100 each were issued at 10% premium 

by X Ltd. but redeemable at 5% premium. Pass necessary journal 

entries in the books of company if loss on issue of debentures is to be 

written off.  4 

22. + +…ËÆ˙ §… BEÚ ¥™…¥…∫……™… E‰Ú ±……¶……Â EÚ…‰ 5 : 3 ®…Â §……ƒ]ıi…‰ ΩÈ˛* ¥…‰ ∫… EÚ…‰ ±……¶… ®…Â 4
1   Ω˛∫∫…‰ E‰Ú 

 ±…B ∂…… ®…±… EÚÆ˙i…‰ ΩÈ˛, V……‰  EÚ + i…l…… §… u˘…Æ˙… §…Æ˙…§…Æ˙  n˘™…… V……™…‰M……* ∫… E‰Ú |…¥…‰∂… E‰Ú ∫…®…™… 

°Ú®…« EÚ…  S…_ˆ…  x…®x… |…EÚ…Æ˙ l…… : 

 Ø˚0  Ø˚0 

+ EÚ“ {…⁄ƒV…“ 

§… EÚ“ {…⁄ƒV…“ 

∫……®……x™… ∫…ΔS…™… 

±…‰x…n˘…Æ˙ 

50,000 
30,000 
16,000 
4,000 

1,00,000 

®…∂…“x…Æ˙“ 

°Úx…‘S…Æ˙ 

∫]ı…ÏEÚ 

§…ÈEÚ 

35,000 
15,000 
10,000 
40,000 

1,00,000 

 ∫… E‰Ú |…¥…‰∂… EÚ“ ∂…i…Á  x…®x… l…” : 

 i) ∫… +{…x…‰  Ω˛∫∫…‰ EÚ“ {…⁄ƒV…“ i…l…… J™…… i… E‰Ú  ±…B 30,000 Ø˚0 ±……BM……*  

 ii) °Ú®…« EÚ“ J™…… i… EÚ… ®…⁄±™……ΔEÚx… + v…±……¶… 8,000 Ø˚0 E‰Ú i…“x… ¥…π……Á E‰Ú GÚ™… E‰Ú §…Æ˙…§…Æ˙ 

 EÚ™…… M…™…… ΩË˛*  

 iii) ®…∂…“x…, °Úx…‘S…Æ˙ B¥…Δ ∫]ı…ÏEÚ EÚ… {…÷x…®…⁄«±™……ΔEÚx… GÚ®…∂…: 30,000 Ø˚0, 12,000 Ø˚0 B¥…Δ 

8,000 Ø˚0 {…Æ˙  EÚ™…… M…™…… ΩË˛* 

 ={…Æ˙…‰HÚ ∫…⁄S…x……+…Â ∫…‰ +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 
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 A and B share the profits of a business in the ratio of 5 : 3. They 

admitted C into the firm for 4
1 th share in profits which is to be 

contributed equally by A and B. On the date of admission of C the 

Balance Sheet of the firm was as follows : 

 Rs.  Rs. 

A's Capital 
B's Capital 
General Reserve 
Creditors 

50,000 
30,000 
16,000 
4,000 

1,00,000 

Machinery 
Furniture 
Stock 
Bank 

35,000 
15,000 
10,000 
40,000 

1,00,000 

 Terms of C's admission were as follows : 

 i) C will bring Rs. 30,000 for his share of capital and goodwill.  

 ii) Goodwill of the firm has been valued at 3 years' purchase of the 

super profit Rs. 8,000. 

 iii) Machinery, furniture and stock are revalued at Rs. 30,000,            

Rs. 12,000 and Rs. 8,000 respectively. 

 Pass necessary journal entries from the above information. 6 

+l…¥……  / OR 

 + +…ËÆ˙ §… ±……¶……Â EÚ…‰ 2 : 3 E‰Ú +x…÷{……i… ®…Â §……ƒ]ıi…‰ ΩÈ˛* 31 ®……S…«, 2014 EÚ…‰ =x…EÚ…  S…_ˆ…  x…®x… 
|…EÚ…Æ˙ l…… : 

 S…_ˆ… 
  Ø˚0  Ø˚0 

±…‰x…n˘…Æ˙ 
{…⁄ƒV…“ 
+      60,000 
§…       90,000 
+ EÚ“ {…ix…“ EÚ… @Òh… 
  

18,000 
 
 
 

1,50,000 

32,000 

 
2,00,000 

Æ˙…‰EÚc˜ 
n‰˘x…n˘…Æ˙            40,000 
– +…™……‰V…x…         2,000 
∫]ı…ÏEÚ 
®…∂…“x…Æ˙“ 
¶…⁄ ®… B¥…Δ ¶…¥…x… 
 

5,000 
 
 

38,000 
52,000 
40,000 
65,000 

2,00,000 
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 +O… ±… J…i…  i… l… EÚ…‰ ∫……Z…‰n˘…Æ˙…Â x…‰ °Ú®…« EÚ…‰ ¶…ΔM… EÚÆ˙x…‰ EÚ…  x…h…«™…  EÚ™……* ∫…®{… k…™……Â ∫…‰  x…®x… 

Æ˙… ∂…™……ƒ ¥…∫…⁄±… Ω÷˛<» : 

 ∫]ı…ÏEÚ ∫…‰ 45,000 Ø˚0, ®…∂…“x…Æ˙“ ∫…‰ {…÷∫i…EÚ ®…⁄±™… EÚ… 20% EÚ®…, n‰˘x…n˘…Æ˙…Â ∫…‰ 35,000 Ø˚0, 

¶…⁄ ®… i…l…… ¶…¥…x… ∫…‰ {…÷∫i…EÚ ®…⁄±™… ∫…‰ 35,000 Ø˚0 + v…EÚ* ±…‰x…n˘…Æ˙…Â x…‰ 17,000 Ø˚0 ±…‰x…… 

∫¥…“EÚ…Æ˙  EÚ™……* + x…‰ {…ix…“ EÚ… @Òh… 33,000 Ø˚0 ®…Â S…÷EÚ…x…‰ EÚ… n˘… ™…i¥…  ±…™……* ¥…∫…⁄±…“ ¥™…™… 

1,500 Ø˚0 Ω÷˛B* 

 ¥…∫…⁄±…“ J……i……, ∫……Z…‰n˘…Æ˙…Â E‰Ú {…⁄ƒV…“ J……i…‰ i…l…… Æ˙…‰EÚc˜ J……i…… i…Ë™……Æ˙ EÚÆÂ˙* 

 A and B are sharing profits in the ratio of 2 : 3. Their Balance Sheet as 

on 31st March, 2014 was as follows : 

Balance Sheet  
 Rs.  Rs. 

Creditors 

Capitals 

     A         60,000 

     B         90,000 

A's wife's loan  

18,000 

 

 

1,50,000 

32,000 

 

2,00,000 

Cash 

Debtors            40,000 

– Provision         2,000 

Stock 

Machinery 

Land & Building 

5,000 

 

38,000 

52,000 

40,000 

65,000 

2,00,000 

 Partners decide to dissolve the firm on the above date. Assets were 

realised as follows : 

 Stock Rs. 45,000, Machinery 20% less than book value, Debtors        

Rs. 35,000, Land & Building Rs. 35,000 more than book value. 

Creditors agreed to accept Rs. 17,000. A took the liability to pay              

Rs. 33,000 for his wife's loan. Realisation expenses amounted to       

Rs. 1,500. 

 Prepare Realisation Account, partners' Capital Accounts and Cash 

Account. 6 



 11   

SS—30–Accountancy SS-6030 [ Turn over 

23. ®…÷E‰Ú∂…  ±… ®…]‰ıb˜ x…‰ 100 Ø˚0 ¥……±…‰ 1,000 ∫…®…i…… +Δ∂… 5% §…^‰ı {…Æ˙  x…M…« ®…i…  EÚB* ¶…÷M…i……x… 

<∫… |…EÚ…Æ˙ Ω˛…‰x…… l…… : 

 +…¥…‰n˘x… {…Æ˙ 30 Ø˚0, +…¥…Δ]ıx… {…Æ˙ 35 Ø˚0 B¥…Δ ™……S…x…… {…Æ˙ 30 Ø˚0* 980 +Δ∂……Â E‰Ú  ±…B 

+…¥…‰n˘x… |……{i… Ω÷˛B* ∫…¶…“ +…¥…‰n˘EÚ…Â EÚ…‰ +…§…Δ]ıx… EÚÆ˙  n˘™…… M…™……* BEÚ +Δ∂…v……Æ˙“  V…∫…E‰Ú {……∫… 

30 +Δ∂… l…‰ x…‰ +…§…Δ]ıx… EÚ… ¶…÷M…i……x… x…Ω˛”  EÚ™……* =∫…E‰Ú +Δ∂……Â EÚ…‰ V…§i… EÚÆ˙  ±…™…… M…™……* BEÚ 

+x™… +Δ∂…v……Æ˙“  V…∫…E‰Ú {……∫…˙ 20 +Δ∂… l…‰ x…‰ ™……S…x…… EÚ… ¶…÷M…i……x… x…Ω˛”  EÚ™……* =∫…E‰Ú +Δ∂……Â EÚ…‰ 

¶…“ V…§i… EÚÆ˙  ±…™……* §……n˘ ®…Â V…§i…  EÚB ∫……Æ‰˙ +Δ∂… 90 Ø˚0 |… i… +Δ∂… EÚ“ n˘Æ˙ ∫…‰ {…⁄h…«n˘k… ∞¸{… 

®…Â {…÷x…: x…M…« ®…i… EÚÆ˙  n˘™…… M…™……*  

 EÚ®{…x…“ EÚ“ Æ˙…‰EÚc˜ §…Ω˛“ §…x……<B B¥…Δ V…x…«±… ®…Â ±…‰J…‰ EÚ“ V…B* 

 Mukesh Ltd. issued 1,000 equity shares of Rs. 100 each at               

5% discount payable as follows : 

 Rs. 30 on application, Rs. 35 on allotment and Rs. 30 on call. 

Applications were received for 980 shares and full allotment was made. 

One shareholder holding 30 shares failed to pay allotment money and 

his shares were forfeited. Another shareholder holding    20 shares 

failed to pay call money and his shares were also forfeited. Later on all 

the forfeited shares were reissued @ Rs. 90 per share as fully paid up. 

 Prepare company's Cash Book and make journal entries. 6   



 12 

SS—30–Accountancy SS-6030 

J…hb˜ - §… 

PART – B 

 J…hb˜ "§…' E‰Ú n˘…‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ ¶……M… 

E‰Ú ∫…¶…“ ∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛* 

 Part 'B' has two portions. Every portion has a set of seven questions. 

Candidate can attempt only one set of seven questions of any one 

portion. 

24. "Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h…' ∫…‰ +…{… C™…… ∫…®…Z…i…‰ ΩÈ˛ ? 

 What do you mean by 'Cash flow statement' ? 1 

25. Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… EÚ“ EÚ…‰<« BEÚ ∫…“®……  ±… J…B* 

 Write any one limitation of cash flow statement. 1 

26.  x…®x… ∫…⁄S…x……+…Â ∫…‰ "EÚÆ˙ +…™……‰V…x… J……i……' §…x……EÚÆ˙ EÚÆ˙ ¶…÷M…i……x… EÚ“ Æ˙… ∂… Y……i… EÚÆÂ˙ : 

 EÚÆ˙ +…™……‰V…x… EÚ… |……ÆΔ˙ ¶…EÚ ∂…‰π… 60,000 Ø˚0 i…l…… +Œxi…®… ∂…‰π… 20,000 Ø˚0* ¥…π…« E‰Ú n˘…ËÆ˙…x… 

80,000 Ø˚0 EÚ… EÚÆ˙ E‰Ú  ±…™…‰ |……¥…v……x…  EÚ™……* 

 Calculate the amount of Tax paid by preparing Provision for Tax 

Account from the following information : 

 Opening balance of provision for tax Rs. 60,000 and closing balance 

Rs. 20,000. During the year provision made for tax Rs. 80,000. 2 

27. ∫…®……x……EÚ…Æ˙  S…_‰ˆ ∫…‰ +…{… C™…… ∫…®…Z…i…‰ ΩÈ˛ ? 

 What do you mean by common size Balance Sheet ? 2 

28.  x…®x… ∫…⁄S…x……+…Â ∫…‰ (i) ∫…EÚ±… ±……¶… +x…÷{……i…, (ii)  {… Æ˙S……±…x… +x…÷{……i…, (iii)  {… Æ˙S……±…x… ±……¶… 

+x…÷{……i…, (iv)  ∂…÷r˘ ±……¶… +x…÷{……i… Y……i… EÚ“ V…B : 

  ¥…GÚ™… 2,00,000 Ø˚0, §…‰S…‰ M…™…‰ ®……±… EÚ“ ±……M…i… 1,20,000 Ø˚0, |…∂……∫… x…EÚ ¥™…™… 

20,000 Ø˚0,  §…GÚ“ ¥™…™… 15,000 Ø˚0, +ŒMx… ∫…‰ Ω˛… x… 10,000 Ø˚0,  ¥… x…™……‰M… ∫…‰ +…™… 

5,000 Ø˚0* 
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 Calculate (i)  Gross profit ratio, (ii) Operating ratio, (iii)  Operating 
profit ratio, (iv) Net profit ratio from the following information : 

 Sales Rs. 2,00,000, Cost of Goods sold Rs. 1,20,000, Administration 
expenses Rs. 20,000, Selling expenses Rs. 15,000, Loss by fire             
Rs. 10,000, Income from investment Rs. 5,000. 4 

29.  x…®x… ±… J…i…  ¥…¥…Æ˙h……Â ∫…‰ {… Æ˙S……±…x…  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ |…¥……Ω˛ Y……i… EÚ“ V…B :  

  ¥…π…« 2014 
(Ø˚0) 

¥…π…« 2013 
(Ø˚0) 

±……¶…-Ω˛… x… J……i…… 
|……{™… J……i…‰ 
+n˘k…  EÚÆ˙…™…… 
J™…… i… 
{…⁄¥…«n˘k… §…“®…… 
n‰˘™…i…… J……i…‰ 

1,10,000 
50,000 
24,000 
80,000 
8,000 

26,000 

1,20,000 
62,000 
42,000 
76,000 
4,000 

38,000 
 Compute cash flow from operating activities from the following     

details :  4 

  Year 2014 
( Rs. ) 

Year 2013 
( Rs. ) 

Profit and Loss Account 
Accounts receivable 
Outstanding Rent 
Goodwill 
Prepaid Insurance 
Accounts payable 

1,10,000 
50,000 
24,000 
80,000 
8,000 

26,000 

1,20,000 
62,000 
42,000 
76,000 
4,000 

38,000 
      

30.  x…®x… ∫…⁄S…x……+…Â ∫…‰ ∫…®……x……EÚ…Æ˙ +…™…  ¥…¥…Æ˙h… §…x……<B : 

 ¥…π…« 2013 
(Ø˚0) 

¥…π…« 2014 
(Ø˚0) 

 ¥…GÚ™… 
§…‰S…‰ M…™…‰ ®……±… EÚ“ 
±……M…i… 
+|…i™…I… ¥™…™… 
+…™…EÚÆ˙ 

5,00,000 
 ¥…GÚ™… EÚ… 60%  

∫…EÚ±… ±……¶… EÚ… 40%  
EÚÆ˙ ∫…‰ {…⁄¥…« ∂…÷r˘ ±……¶… EÚ… 30%  

6,00,000 
 ¥…GÚ™… EÚ… 70% 

∫…EÚ±… ±……¶… EÚ… 30%  
EÚÆ˙ ∫…‰ {…⁄¥…« ∂…÷r˘ ±……¶… EÚ… 30% 
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 Prepare common size Income statement from the following  
information : 6 

 Year 2013 
( Rs. ) 

Year 2014 
( Rs. ) 

Sales 

Cost of Goods sold 

Indirect Expenses 

Income Tax  

5,00,000 

60% of Sales 

40% of Gross Profit 

30% of Net Profit  
before Tax 

6,00,000 

70% of Sales 

30% of Gross Profit 

30% of Net Profit  
before Tax 

+l…¥…… / OR 

 x…“S…‰ n˘“ M…<« ∫…⁄S…x……+…Â ∫…‰ i…÷±…x……i®…EÚ +…™…  ¥…¥…Æ˙h… i…Ë™……Æ˙ EÚ“ V…B : 

 31 ®……S…«, 2013 
(Ø˚0) 

31 ®……S…«, 2014 
(Ø˚0) 

 ¥…GÚ™… 

GÚ™… 

§…‰S…‰ M…™…‰ ®……±… EÚ“ ±……M…i… 

|…∂……∫… x…EÚ ¥™…™… 

+…™… EÚÆ˙ 

2,00,000 

1,00,000 

1,20,000 

∫…EÚ±… ±……¶… EÚ… 10%  

30%  

3,00,000 

2,00,000 

2,10,000 

∫…EÚ±… ±……¶… EÚ… 5%  

30%  

 From the information given below prepare comparative Income 
statement : 6 

 31st March, 2013 
( Rs. ) 

31st March, 2014 
( Rs. ) 

Sales 

Purchases 

Cost of Goods Sold 

Administrative Expenses  

Income Tax 

2,00,000 

1,00,000 

1,20,000 

10% of Gross Profit 

30% 

3,00,000 

2,00,000 

2,10,000 

5% of Gross Profit 

30% 

+l…¥…… / OR 



 15   

SS—30–Accountancy SS-6030 [ Turn over 

J…hb˜ - §… 

PART – B 

24. ∫……Ï}]ı¥…‰™…Æ˙ C™…… ΩË˛ ? 

 What is software ? 1 

25. CAS EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B* 

 Define CAS. 1 

26. EÚ®{™…⁄]ıÆ˙ ±…‰J……ΔEÚx… EÚ“ +…¥…∂™…EÚi…… E‰Ú  ±…™…‰ EÚ…‰<« S……Æ˙  §…xn÷˘  ±… J…B* 

 Write any four points of need for computer accounting. 2 

27. ±…‰J……ΔEÚx… ∫……Ï}]ı¥…‰™…Æ˙ E‰Ú x……®…  ±… J…B* 

 Write the names of accounting softwares. 2 

28. ±…‰J……ΔEÚx… ∫…⁄S…x…… |…h……±…“ E‰Ú =q‰˘∂™……Â EÚ… ¥…h…«x… EÚ“ V…B* 

 Explain the purposes of Accounting Information System. 4  

29. ±…‰J……ΔEÚx… ®…Â <±…‰C]≈ı…Ï x…EÚ ∫|…‰b˜∂…“]ı EÚ“ ={…™……‰ M…i…… EÚ… ¥…h…«x… EÚ“ V…B* 

 Explain the utility of electronic spreadsheet in accounting. 4 

30. SQL ®…Â |…™……‰M…  EÚ™…‰ V……x…‰ ¥……±…‰  x…®x… ±… J…i… EÚ®……hb¬˜∫… EÚ… =q‰˘∂™… i…l……  ∫…x]‰ıC∫…  ±… J…B : 

 i) SELECT 

 ii) CREATE 

 iii) INSERT 

 iv) DELETE. 

 Write the purpose and syntax of the following commands used in    

SQL :  6 

 i) SELECT 

 ii) CREATE 

 iii) INSERT 

 iv) DELETE.  
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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) �������	
��
��	����	
��	��	��	�������	���������	����	�

Candidate must write first his / her Roll No. on the question paper
compulsory.

2) 
��	
��	�������	 !	�
All the questions are compulsory.

3) 
"����	
��	���	#$��	%�	&'�	#$��(�)*+����	��	 �	����	�
Write the answer to each question in the given answer-book only.

4) �,�	
����	��	��-�.���	�/01	 !2	#�	
��	���	#$��	3��	
��	 �	�����
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) 
��	��	���	� -%�	�	��&�4,�	5��-��	��	���
�	
����	��6	�)�71	/	�-��	/ �����8���
	 ����	��	� -%�
��9�	���	
��	����	 �	
 �	�����
If there is any error/difference/contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.
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6) i) � 	
��	��	%��	�/01��	��	���;�	 <	(	�	��<�	=�
ii) �/01	>�?	
��	@1����	���	��3	�������	 <�
iii) �/01	>=?	���	%��	��&	 !2	
"����	��&	��	
��	
��	 !�	�������	����	���
�	3��	��&	���	
��	
��


����	����	 �	�����	 <�
i) This question paper contains two Sections - A and B.
ii) Section 'A' is compulsory for all candidates.
iii) Section 'B' has two portions. Every portion has a set of seven questions.

Candidate can attempt only a set of seven questions of any one portion.
7) �/01 
��	
�A�� ����	
"����	
��

� 1-8 1
9-14 2

15-21 4
22-23 6

= 24-25 1
26-27 2
28-29 4

30 6
����

24-25 1
26-27 2
28-29 4

30 6
Section Q. Nos. Marks per question
A 1-8 1

9-14 2
15-21 4
22-23 6

B 24-25 1
26-27 2
28-29 4

30 6
OR

24-25 1
26-27 2
28-29 4

30 6
8) 
��	
�A��	22	B�/01(�C	���	30 	B�/01(=C	��	��-�.���	����D�	 !�

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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SECTION - A

1) �������	
����
��3 : 3 : 4 ������������������������
1

3
�������������������������������������������

 �!"�����#��$�����#����

X, Y, Z are partners sharing profit 3 : 3 : 4 Ratio. They admitted N for 
1

3
 share.

Calculate new profit & loss sharing ratio? [1]

2) �� �����%�����&�'
�'(�4 : 7 �������������������&�'
�'(��%������	�� �)���"��������������������������
��������� �!"����������������*���� �!"�����#��$�����#����

A and B are partners in a firm sharing profits in 4 : 7 Ratio. They admitted C
into the firm on the basis that new profit & loss sharing ratio will be equal,
calculate the sacrificing ratio? [1]

3) ���+��� �,
�� �+�� ���� �-
� 2015 ���� .!/� ���� 80,000��  �0�� 	�� &�'
� ��#� ����������
"1+�%�4,00,000 �2"�������	�%�3�������#� 4��&�'�5�'����'�4��3*��"���#����15%�����&�'
���#
6�������#��$�����#��������6����� �)�����(�����"�+7��!�����������������

The Net Profit for 2015 of M/s Niranjan & Sons was Rs. 80,000 and its capital
employed was 4,00,000 Rs. The Normal Rate of Return for such Type of
Business is 15%. Compute the amount of Goodwill if goodwill is five times of
the super profit. [1]

4) �8������� ���������������������������������1 : 2 : 3 '(���+9��������&�'
���#������(�'(�6�����60,000 2:
�.�
	
��;	
���������&�'
���� ����.��<�$�������������� ����.��<�$�������"��6��������������'������
3���=�������3�������#������%>

[Turn Over
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Hari, Ravi and Kavi are partners sharing profits and losses in the Ratio 1 : 2 : 3.
The Goodwill Appears at Rs. 60,000 in the books of the firm. Ravi retires from
the firm.

How Adjustment entry of goodwill will be made at the time of retirement. [1]

5) ����������#����?�@�����'?*�!�"�������A�������%��'B���(�C*"D�����%���>�E����	
�������4�;���F(G

What problems do arise on retirement or death of a partner? (Write Two points
only). [1]

6) ������%���H"�%���#�"8���-���%�����

Define Government Company. [1]

7) 3��IH�������
���������
'�������B"=����#����

Explain the term "initial public offer". [1]

8)  +.���'J�K�$"L�'(����� 4����%����

Write two Distinction between share and debenture. [1]

9) ��%���'J���%�����&�'
�'(����������������&�'
����3*�����'�����#� +��'����%F�������<�'.M�6,000�N�:
��'J�8,000�N�:� ���$������������'����������������O����14%����-
�����#���������1������������
������F��"!B��(��31����H���������4����#����%�������%���'J���%����� ���$�"��O������#��$��
��#����

Hari and Ravi are partners in a firm. They withdraw Rs. 6,000 and 8,000
respectively from the firm at the end of each month. The interest charged @14%
p.a. on their drawings, the books of the firm are closed on 31st Dec. Calculate
the interest on drawing of Hari and Ravi? [2]
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10) ��1�%�F����������>

What is Realisation Account? [2]

11) ��������������� ����.��<�$�������"�� I4�'��!�����������B���$���������������%���������%� �)
1932���#�)����37����� �!����C����� �)��������	��>

When final payment of retiring partner is not settled at the time of retirement.
Write right of partner under section 37 of Indian partnership Act 1932. [2]

12) ��H��+�����P������(��������� ��Q������
��3���=���%����A

�����0����	
�3 : 2����� �!"���'(������������������������;�����������������'�������������%�'(

�IH'���������������������(�����
1

5
���B�����������2,50,000�N�"���"1+�%�����N�"�'(��0��1,50,000

N�"���3%�'�'�����N�"�'(����������"!B����(�'(�����	
�6�����F������R'�����S����

Journalise the following transactions:

x and y are partners sharing profit and losses in the Ratio of 3 : 2. They Admitted
M into partnership, who brings Rs. 2,50,000 as his capital and Rs. 1,50,000 as

Premium for 
1

5
th share of profit. No Goodwill Account exists in the books.[2]

13) �������'�+����+� ��<'�'�+�������B"=����#����

Describe the calls-in-Arrears and calls-in-Advance. [2]

14) K�$"L�(�"��O�����������'����	��>

Explain the rules regarding interest on debentures. [2]

 [Turn Over
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15) ������+���	
�3 : 2�'(������������+9�����;���������%�'(�3��.����������������������
���S�����������
����%�2015������5,00,000�N�"���"1+�%�������������	
���<���.%�����������������������%�'(�����

������B�%����������������������%��+��F�'(�P��B0���������"1+�%�"��8%���#�������O������'J�3*����
����
.%���������������2,000�N�:���#�������3��'����������������"+1�%�"��O�����0����������(���������
���"1�
�&�'
������-
�2015���������1,20,000�N�"���0������������9��������#����>

x and y are entered into partnership sharing the profit and losses in the ratio of
3 : 2 x being a non-working partner contributed Rs. 5,00,000 as His Capital on
1st January 2015. y being a working partner agreed to work for the firm. The
partnership deed provides for interest on capital @8% and salary to every
working partner @Rs. 2,000p.m. Net Profit before providing for interest on
capital and partner's salary for the year 2015 was 1,20,000 Rs. Show the
distribution of profit. [4]

16) ��� �����%�1� 3���2015������5,00,000�N�"�����'J�3,00,000�N�"�����#�"1+�%����P��"��� ��H�
����������������� ���$�"��10%�3���-
���#�������31����H���2015�������'�T��-
���������O���
��#��$�����#����A
i) ������3*�����'�������'U��'(�2,000�N�:� ���$����������
ii) ������3*�����'�������3��H��'(�2,000�N�"��� ���$����������
Mr. A and B started Business on 1st April 2015 with capital of Rs. 5,00,000 and
Rs. 3,00,000 Respectively.
Calculate the interest on drawing of A@10% p.a. for the year ending 31st Dec.
2015 in each of the following alternative cases: [4]
i) If A draws Rs. 2,000 permonth at the Middle of the each month.
ii) If he withdraw Rs. 2,000 p.m. in the beginning of every month.

17)  ����.��<�$� 0���'?*�!�"��������������&�'
�'(����������3�������)�
8����������������>�����7��
��#�����
How is a partner's share determined on the Retirement or death? Explain. [4]
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18)  ���� ����������&�'
�'(�����������������������&�'
������'�V�����������7W�����H��0�A
�7XJ�X��

� �

������ 11,000 ���� 3,000

������ 1,000 3�V����� 2,000

������K�$ 2,000 �������� 8,000

"1+�%�M ������ 16,000

 36,000 B9��Y�� 28,000

� 24,000 &��Z7� 6,000

� 2,000 '.%��% 13,000

76,000 76,000

�H"�@���(���#���1�%M����������+�3�V����� 17,000 N�:��������� 7,600 N�: ������ 25,000�N�:
&��Z7� 6,600 N�:���+�'.%��% 8,600, N�:������*��(������!���������������������1�%�P�� 500
N�:��;��

��1�%�F�������	�(�

A, B and C are equal partners. The Balance Sheet on the date of dissolution was
as follows: [4]

Balance Sheet
Rs. Rs.

Creditors 11,000 Bank 3,000
Bills Payable 1,000 Bills Receivables 2,000
B's Loan 2,000 Investments 8,000
Capital Debtors 16,000

A 36,000 Stock 28,000
B 24,000 Furniture 6,000
C 2,000 Machinery 13,000

76,000 76,000
Assets Realised: Debtors and B/R Rs. 17,000 investment Rs. 7,600, stock
Rs. 25,000, Furniture Rs. 6,600 and Machinery Rs. 8,600, Liabilities were Paid,
Realisation Expenses were Rs. 500.
Prepare Realisation Account.

[Turn Over
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19) ������H"�%������+7�����(����20�N�:������2000�	
���9�%� +.���������$�����������"��15�N�"���'�+�����
7!����0���0��10�N�"��� +.)�8���(�[�����!���������������0���C4��(���	�� +.��������15�N�"���3�@��'����
�;����H����F��3��������"!�\���
�'�����������
i) C"���]��'(����500� +.��''1�'�"��"!�\���
�'���������������
ii) C"���]��'(����300�	
���9�%� +.�1�N�:�3�� +.�3%�'�'�"��"!�M����
�'������������
iii) C"���]��'(��������#�	
���9�%� +.�8�N�:�3�� +.�"��"!�\���
�'������������
"!�\���
'��"�����.������'(�3�T������	
����H"�%����5�N�:�3��� +.���#� +��'�'�+����#��0�������H"�%
�����3�T������	
�
��H"�%���#���
��'(�P������(��������F�	���
The directors of a company forfeited 2000 equity shares of Rs. 20 each, Rs. 15
called up on which Rs. 10 has been paid by the shareholders. They Reissued
these shares at Rs. 15 paid up as follows: [4]
i) 500 equity shares of the Above were Re-issued at par.

ii) 300 equity shares of the Above were Re-issued at A premium of Rs. 1 per
share.

iii) The Rest of the Above were Re-issued at Rs. 8 per share.

The Amounts on Re-issue were Received in cash. The company made a Final
call of Rs. 5 per share and this is Received by the company.

Show the Transactions in the Journal of the company.

20) ��H"�%�3���1���3O����������C"�����'(����%����B"=�����(�
Describe the purpose for which a company can use Securities Premium. [4]

21)  �����:��������������100�N�:������2,000, 14%�K�$"L�(�����10%��9J�9���"�����
'��������
��H"�%��������� �Y&��	I,
�������4,00,000�N�:�����K�$������ ����5,000, 14%�K�$"L���������
"����'"�IQ�
���3���1�������N�"�'(��'����������� �"���H"�%���#�"!B����(�'(�K�$"L�(��������
'�����
P������(�������F����
���%����>������'"�IQ�
���3���1�������N�"�'(����%�K�$"L�(���#�3���^����#
���%����
Ajay Ltd. issued 2,000. 14% Debentures of Rs. 100 each to the Public at a
discount of 10%. The company also took a loan of Rs. 4,00,000 from the Bank
of India and deposited 5,000. 14% Debentures with the Bank as a collateral
security. How will you deal with the issue of Debentures in the Books of the
company journal. If entry is being passed for issue of debentures as collateral
security. [4]
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22) 31 '�7
 2015 ������'�T��-
��������� ������������7XJ�X�����H����F��0������������������������0��A
����*� Amount (Rs.) �H"�@� Amount (Rs.)

������ 3,300 �����_
� 600
������ 6,000 ������ 10,800
"1+�%�M B9��Y�� 11,400

 16,800 &��Z7� 2,400
� 12,600 ��� 19,500
� 6,000

44,700 44,700

���
�%������
1

4
���������������H����F��.��`�"���������%�'(�.��'���������������'�����������M

i) 
�% 9,000 N�:�6���������N�"�'(���'J 15,000 N�"���"1+�%������������
ii) "!�������������(�[���� �)%�6�����&�'
������������%������%�
iii) B9��Y�����+�&��Z7��"� 10% '1a�b����������������
iv) �+��c)�K�$����������������(�"� 5% ���� ��������������������
v) �!����������������� ���[���������� 1,080 N�"�����������*��C*"D��; ��
vi) ��������'1a��+��� 8,500 N�:�����d������������
�'�������(������U����'(��F����;�� ��Q����3���=����#�������+���%�&�'
�����3��IH�����7XJ�J�X������	���

 0��
�'e���e� ����<�'.�M 3 : 1 : 1 ���� �!"���'(��������%�'(������������������������ 31 '�7
 2015
������������%�������f9���������$
�����������31�'�7
������C������7XJ�X�����H����F��IB0���������0��A

�7XJ�X�� (as on 31st March 2015)
����*� Amount Rs. �H"�@� Amount Rs.
������ 10,000 ��� 41,000

����A�9�9J����������
���� ����������400 9,600 V��,9��& '.%��% 20,000

&��Z7� 6,000
���������&�,
� 400 �������                   12000
"1+�%�M �'�A 40,000 A�
1����K�$� ������  2000

����A 20,000                             10000
� ���A 20,000             80,000       A��������(�"�

�9J�9����������� ��������1000 9,000
�������� 4,000
�����
�������'( 10,000

90,000 90,000

[Turn Over
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��f9�����#���H����F��.�`������#��	
�A
i) ����40,000 N�:���'J�'.%��% 15,000 N�:�'(���7%��	
�
ii) �'����&��Z7� 5,000 N�:�'(��0���������� 3,000 N�:�'(�����
iii) B9��Y������[��� 8,000 N�:�'(����������
iv)  ������������ 8,000 N�:�'(������
v) �������(������"1$
��!�����'(�8,000 N�:�7!���������
vi) ��1�%�F7
 800 N�:�7!������������'(��� 300 N�"����'�������%���)��(����7!�����

 ��Q����F�����������������;��&�'
���#�"!B��(���+����#����

The following was the Balance Sheet of A, B and C who were equal partners on
31st March 2015.        [6]

Liabilities Amount (Rs.) Assets Amount (Rs.)
Bills Payable 3,300 Cash 600
Creditors 6,000 Debtors 10,800
Capital A/c: Stock 11,400

A 16,800 Furniture 2,400
B 12,600 Building 19,500
C 6,000

44,700 44,700

They agreed to take D into partnership and give him one-fourth share in the
profits on the following terms:

i) That D should bring in Rs. 9,000 for Goodwill and Rs. 15,000 as capital.

ii) That one half of the goodwill shall be withdrawn by the old partners.

iii) That stock and Furniture be depreciated by 10%.

iv) That the Provision of 5% on Debtors be created for doubtful debts.

v) That a liability for Rs. 1,080 be created Against bills discounted which was
dishonoured.

vi) That the value of Building is over valued by Rs. 8,500.

Give the necessary entries to give effect to the above arrangement and prepare
the opening Balance Sheet of the Firm as Newly constituted.

OR
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M, N and O were in partnership sharing Profits in the proportion of 3 : 1 : 1
respectively. They agreed to dissolve their partnership on 31st March 2015,
when their Balance Sheet shows the following position:

Balance Sheet (as on 31st March 2015)
Liabilities             Amount Rs. Assets    Amount Rs.

 Creditors        10,000 Building 41,000
 – Reserve for Plant & Machinery 20,000
 discount    400 9,600 Furniture 6,000
 Investment Fund 400 Debtors       12,000
 Capital : M 40,000 -Prov. for

N 20,000 B.Debts         2,000
O 20,000                                                   10,000

80,000 -Prov. For
Discount          1000 9,000
Investment 4,000
Cash at Bank 10,000

90,000 90,000
The following conditions of dissolution were Agreed upon:-
i) Building were sold for Rs. 40,000 and Machinery For Rs. 15,000.
ii) M took over furniture at Rs. 5,000 and investment at Rs. 3,000.
iii) Stock was taken over by N at Rs. 8,000.
iv) O took over debtors at Rs. 8,000.
v) Rs. 8,000 were paid over to creditors in full settlement.
vi) Rs.800 were paid as cost of Realisation, out of which Rs. 300 were paid by

M from his private sources.
Close the Books of the Firm by preparing necessary ledger accounts.

23) �.������'9��
�����100�N�"��������10,000, 9%� �)'��� +.�10%�3%�'�'�"�����
�'�����������
	��3���������0�� ������"��25�N�"���� ��+9���"��30�N�:�E3%�'�'�����G��30'�'�+��25�N�:���[�%�
 +��'�'�+��30�N�"����12,500� �)'��� +.�(�������<�'����������!� ������"L�3�T��;�����%� �������(
������0��!"��� ��+9�������������� ������"L�(�������0�3�T� ��8�]��)����.����� ��+9���"���������.
�����!�����'(�3������������������%'���������100� +.�(����� ��+9�������������0���'�+��(������!����
������'(� �'0
������C"�!
���P������(��������H"�%���#�"!B����(�'(�3���=����#�����E��$������g���
����G
Shiva Ltd issued 10,000, 9% Preference share of Rs. 100 each at a premium of
10% Payable as : Rs. 25 on Application; Rs. 30 on Allotment (including premium)
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Rs. 25 on First call, Rs. 30 on Second & Final call. Application were Received for
12,500 preference share, allotment was made Pro-Ratio to all the Application and
excess Application money being applied towords. The amount due on allotment.
Rahim to whom 100 share were allotted, failed to pay the amount of calls. Journalise
the above transactions in the books of the company, (excluding forfeiture). [6]

�������	
SECTION - B

F,
��h�i���������������+��3*���������'(�����3Q������"�%j��0
��(����������%�����������������3Q��(�����
������������
Section B has two portions. Every portion has a set of seven questions candidate
can attempt only one set of seven questions of any one portion.

24) �����_
��3��������$������������F�+����3'�"����� �!������������������������
Under which Accounting standard, cash flow statement is prepared? [1]

25) �����������<��� �(���#��.��'(������_
������ +�
��������C*"D���������������	
�����'�����F��
Write any two items, when does the situation of inflow of cash arise in the case of
investing activities. [1]

26) �����_
��3��������$���#�����	
�������.�-���(����F��
Write any two characteristics of cash flow statement. [2]

27) �7XJ�X�����������*��"j�'(�7��1�����*��.%-
���'(���F�	
���������%�����	
�7���'��(�������'����F��
In the balance sheet of liabilities side write any four items which are shown in
current liabilities heading. [2]

28) ��H���17�� �(���
i) 7��1� �!"��
ii) ���� �!"��
iii) ��������� �!"��
iv) "8�7���� �!"���k�����#����
���<�� 80,000 �, ��7������'�����#����� 48,000 �,  +��'�B9��Y�� 16,000 �, "8�7����P��
12,000 �, ������ 14,000 �, ������ 16,000 �, "1�
�@�� P�� 2,000 �,  a"����%�� ��������
18,000 �.
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Calculate: [4]

i) Current Ratio

ii) Liquid Ratio

iii) Gross Profit Ratio

iv) Operating Ratio from the following information.

Sales 80,000 �, cost of goods sold 48,000 �, Closing stock 16,000 �, operating
Expenses 12,000 �, Debtors 14,000 �, Creditors 16,000 �,� Prepaid Expenses
2,000 �, Short term investment 18,000�.

29) ��H����F������$�(����"8�7������<��� �(���������_
��3����k�����#����

31-3-2015 31-3-2014

� �

������ 85,000 70,000

������ 1,40,000 2,00,000

3�V����"L 15,000 10,000

 a"����%��K�$ 20,000 -


1����K�$� ������ 7,000 10,000

����� �)����-
 50,000 40,000

��H"�%�������-
����������� 37,000 N�:���#���Y����;	
�

Compute cash flow from operating activities from the following details. [4]

31-3-2015 31-3-2014

� �

Creditors 85,000 70,000

Debtors 1,40,000 2,00,000

Bills Receivable 15,000 10,000

Short term loan 20,000 -

Provision for Bad debts 7,000 10,000

Bank overdraft 50,000 40,000

The company incurred a loss of �37,000 during the year.
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30) ��H���17�� �(�����'���������7XJ�X������	���
31-3-2014 31-3-2015

� �
B0��%��H"�@� 2,50,000 6,50,000
�������� 50,000 1,00,000
7��1��H"�@� 1,00,000 2,50,000
�'��� +.�"1l�% 2,00,000 7,00,000
�+7����+� ��)�� 75,000 1,00,000
7��1�����*� 1,25,000 2,00,000

  0��
��H���17�� �(�����'�������� �������$����	��

31-3-2014   31-3-2015
�������������������������������������������������������������������������������������

���<�� 4,00,000 6,00,000
��7������'�����#�����  ���<�������60%  ���<�������70%
 3*�j�P�� �������������50%  �������������40%
 ����� �������"1�
�.!/���������50%  �������"1�
�.!/���������50%

Prepare common size Balance Sheet from the following information: [6]
31-3-2014 31-3-2015

� �
Fixed Assets 2,50,000 6,50,000
Investments 50,000 1,00,000
Current Assets 1,00,000 2,50,000
Equity Share Capital 2,00,000 7,00,000
Reserve of Surplus 75,000 1,00,000
Current Liabilities 1,25,000 2,00,000

OR
Prepare common size Income Statement from the following information.

31-3-2014 31-3-2015
�����������������������������������������������������������������������������������

Sales 4,00,000 6,00,000
Cost of goods sold 60% of sales 70% of sales
Indirect Expenses 50% of Gross 40% of Gross

Profit  Profit
Income Tax 50% of Net Profit 50% of Net Profit

before Tax before Tax
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SECTION - B

24) DBMS �����"8����-����#����
Define DBMS. [1]

25) CAS ������>
What is CAS? [1]

26) &<�49���4
����'J���������4
��'�� 4�����#����
Differentiate between Front end and Back end. [2]

27) 
��9����������'�*��������>
What is the significance of database? [2]

28) ��F�+����'(�	���9m�������B3�
�.%9����#�C"��������������'��	��
Explain the applications of Electronic spread sheet in accounting. [4]

29) ��HV�19���	n
����F�+����"/�����#���.�-���(���'J��C"�����������F��
Explain the advantages and purpose of computerized Accounting system. [4]

30) SQL '(�3�����������������������H����F����'�,
J�������Co�Q����'J���49��������F���
Write the purpose and syntax of the following commands used in SQL: [6]
a) SELECT
b) Insert Into
c) Drop  Table

�����
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����: 3¼����	


��
�����: 80

�������	
��� 
��� ���� �����
� ������ �
GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) �������	
��
��	����	
��	��	��	�������	���������	����	�

Candidate must write first his / her Roll No. on the question paper
compulsory.

2) 
��	
��	�������	 !	�
All the questions are compulsory.

3) 
"����	
��	���	#$��	%�	&'�	#$��(�)*+����	��	 �	����	�
Write the answer to each question in the given answer-book only.

4) �,�	
����	��	��-�.���	�/01	 !2	#�	
��	���	#$��	3��	
��	 �	�����
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) 
��	��	���	� -%�	�	��&�4,�	5��-��	��	���
�	
����	��6	�)�71	/	�-��	/ �����8���
	 ����	��	� -%�
��9�	���	
��	����	 �	
 �	�����
If there is any error/difference/contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.

�����������
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6) i) � 	
��	��	%��	�/01��	��	���;�	 <	(	�	��<�	=�
ii) �/01	>�?	
��	@1����	���	��3	�������	 <�
iii) �/01	>=?	���	%��	��&	 !2	
"����	��&	��	
��	
��	 !�	�������	����	���
�	3��	��&	���	
��	
��


����	����	 �	�����	 <�
i) This question paper contains two Sections - A and B.
ii) Section 'A' is compulsory for all candidates.
iii) Section 'B' has two portions. Every portion has a set of seven questions.

Candidate can attempt only a set of seven questions of any one portion.
7) �/01 
��	
�A�� ����	
"����	
��

� 1-8 1
9-14 2

15-21 4
22-23 6

= 24-25 1
26-27 2
28-29 4

30 6
����

24-25 1
26-27 2
28-29 4

30 6
Section Q. Nos. Marks per question
A 1-8 1

9-14 2
15-21 4
22-23 6

B 24-25 1
26-27 2
28-29 4

30 6
OR

24-25 1
26-27 2
28-29 4

30 6
8) 
��	
�A��	22	B�/01(�C	���	30 	B�/01(=C	��	��-�.���	����D�	 !�

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).



�

�����������
��
��  !"

��������

SECTION - A

1) ��������	�
���
������������������
�����������������������
������

Why does pay a new partner, the amount of goodwill to the firm? [1]

2) ����������	�
�������
����� !������"�#���
���$
�%���&��'� ��$��������#������������(�������

Why does gaining ratio calculate at retirement of any partner from the firm? [1]

3) � 	)����*���������+,-����!!
#�
���������	.����(�������

How does calls in arrear show in the Balance-Sheet? [1]

4)  /�0�
��1!/�2�#�$3�0�
��
������4��1��� 5�
��%.��6

Write any one difference between share holder and debenture holder. [1]

5) &�����1!/���!���1�����
��
������	�
��76�85���������!��������¼����������%1���������	�
�9����6
&�����1!/���!�������:�������� ��$���;�����
��6

Pratibha and Savita are partners in a firm. They admitted Kavita as a new partner
for ¼th share. Find out the sacrificing ratio of Pratibha and Savita. [1]

6)  <�9� ��
���%�������������2 : 3 : 4����� ��$���
��9�=>?����@1�1�����
��
������	�
��76���
������$�,�����

��36,000�A�B����������.�����!C
�����6�����
����� !������"�#���
�����6�������.��������
 $�%�.����
�������&�!�D?���
��6

A, B and C are partners in a firm sharing profit & loss in 2 : 3 : 4 ratio. Goodwill
account is appearing at a value of �36,000 in the books of firm. C takes retirement
from the firm. Pass entry to write off the goodwill account. [1]

[Turn Over



#

�����������
��
��  !"

7) ��
�������
�$��$
�1��� �%�.���E$+:��2,000�A�B�����-�<��(���1�������	�
����2,500 A�B�
�/�%�
�%��6�(��%�&�!�D?���
��6

On dissolution of a firm there was an unrecorded asset of �2,000 which was
taken over by a partner at �2,500. Pass Journal entry. [1]

8) 
���������1,000��
��� /����$
�9/>?��
����3�A�B�&��� �/������������&-
�!� +5�
�
�/��������-
4 
���9�	������6���E$�������$�,������
��F��(�����&�!�D?���
#�� ����� ����
���
��6

Mohit paid allotment money @�3 per share on 1,000 equity shares with first
and final call after 4 months. Record entry of interest in the books of company
according to table 'A'. [1]

9) 1��� ��
�!�4��1�����
��
������	�
��76�8�����,-����$G/(���"�
�H�2,00,000 A�B�1!/�3,00,000 A�B
��6�*�%G�!I������ 5��
��!��10%�����!��I����	
����$G/(��$
�F��(�%������G%����6�8$
��J�������%1
 �%��!I������&-
��	��1����
����(��&�!�D?���
��6

x and y are partners in a firm. Their fixed capital are �2,00,000 and �3,00,000
respectively. They forgot to charge interest on capital @10% p.a. at the end of
the current year. Pass one adjustment entry on first day of the next year. [2]

10) $�� ��
���G�����	�
��7�(���%��������2 : 1����� ��$���
��9�=>?����76�85������ �
��������
��
������	�

9����6����� ��$���9
�9
������6� �
�$G/(������20,000�A�B�1!/�����������10,000�A�B����	�%����
��
������$�,������
�� �!K����(��%�&�!�D?��/L�����(��6

p and q are partners sharing profits and losses in the ratio of  2 : 1. They admitted
'R' as a partner in the firm. New ratio will be equal. R brings in cash �20,000, as
capital and �10,000 as goodwill. Pass necessary journal entries in the books of
the firm. [2]
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11)  <�9� ��
���1�����
��
������	�
�-�6� +5�
�.����&��!I��31 �	�E9
������9�����(������6�*�%G�!I�

��30 (G���������������
M:����������6�
M��������	�
������%���
����,������!I������ �0�
�$
��	���(���
��6����!I��
����
������%���36,000 A�B�-�6�
M:����������-�������������%���������,��������#�����
��
�-��4�����(��%�
�� �!K����&�!�D?���
��6

A B and C were partners in a firm. Final Accounts are prepared on 31st December
every year. C died on 30th June in the current year. Deceased partner's share of
profit is calculated on the basis of last year's profit. Last year's profit of firm was
�36,000. Calculate C's share of profit till date of death and record necessary
Journal entry for this. [2]

12) ��
�������
�$��$
��%��	�
�50,000 A�B�$G/(��1,50,000 A� 1!/����	�
����10,000 A�B�-�6��!�!0
�E$�)��������1,30,000 A�B�!�G%��@16�!�G%�����������1!/��!�!0��E$�)���������
GN�������#�����
��6

On dissolution of a firm creditors were �50,000 capital was �1,50,000 and cash
balance was �10,000. �1,30,000 realised from sundry assets.

Calculate the amount of sundry assets and loss on realisation. [2]

13)  /�������� ���$������9/>?������ -���%.��6

Write the meaning of 'Pro-rata' allotment. [2]

14) 1�����E$������
��������1���
����.
�	�6���E$������
�����������������
��1,000 A�B�!�%��100- 8%
2�#$3�10% &�
��
�$
�(�
�������6� �!K����(��%�&�!�D?��/L�����(��6

A company purchased one machine from Mohan. The company issued 100-8%
Debentures of �1,000 each @ 10%  premium to Mohan.

Pass necessary journal entries. [2]

15) ����	�
������ -���%�.���1!/�4��������5���2 �!��I�� �������!#�����
��6

Write the meaning of partnership and describe any two characteristics of its. [4]
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16) 9������
�/��1!/� ��"
�&�'�
�/��
������4��*�
� 5�
��%.���

Write any four distinction between calls in arrear and calls in Advance. [4]

17) 1���!�4�� ��
�(�OP?�1�����
��
������	�
��76�1� &�%�2015 �����8�����$G/(��.�����������I��"�
�H
50,000 A�B<�40,000 A�B<�1!/�10,000 A�B�-�6�����	�
���/%�.�
�����Q�!,-����R

1) (�OP?������5,000 A�B�!���������"��P?>?�������(�����6

2) ��������	�
��������$G/(��$
�F��(�10% !��I�����
%���6

3) ��I�%�����������	�
���
��9
�9
�9�/>?��(�����6

4) 8$
��J���
����(�������$G!����
������%���31 
�*��2016 �����45,000 A�B�-��%�������
�����(��.����9�� ��6

x, y and z are partners in a firm. On 1st April 2015 theirs capital balances were
�� 50,000,  �40,000 and �10,000 respectively. The partnership agreement
provides

1) z shall be credited with a salary of �5,000.

2) 10% per annum interest on capital is given to all partners.

3) The balance of profit would be divided equally in all partners.

4) The profits for the year to 31 March 2016 (before making any provisions for
the above) were �45,000. Prepare profit & loss appropriation Account. [4]

18) ��E���G*������� �0�
�$
���
�������
�$�������
������	�
�����$G/(��.����9�� ��6

$G/(��.����������
���I�20,000 A�B�!�G%��.��������%���
��8���������45,000 A�B<�8������
������
1����E$�)��18,000 A�B�
��.
�	�6

On the basis of following data prepare capital Account of  a partner on dissolution
of the firm:- Debit Balance of capital Account �20,000, share of his profit on
realisation �45,000. He purchased one asset of firm for �18,000. [4]
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19)  �0�M��� �/�$G/(��1!/������
�� �/�$G/(��������
�� ��6
Clarify the Authorised capital and Issued capital. [4]

20) ��E��%�.��	�� ���
��2�#$3�����������
������(��%�&�!�D?��L�	��(��6

i) 2,000-10% 2�#$3�������(�������&:�����100 A�B������������
��5% &�
��
�$
����������
�(��������0���

GN��$
������6

ii) 5,000-12% 2�#$3�������(�������&:�����100 A�B������������
��5% &�
��
�$
����������
�(��������0��10% &�
��
�$
������6

Give Journal entries for the issue of Debentures in the following conditions:

i) Issued 2,000 - 10% debentures of �100 each at a premium 5% redeemable
at par.

ii) Issued 5,000-12% debentures of �100 each at a premium 5%, redeemable
at a premium 10%. [4]

21) ��E���G*�� ��������������
M:���$
���
������$�,������
�/� �!K����(��%�&�!�D?��/L�	��(��6

1)  <�9� ��
���3:2:1 ���� ��$���
�/�%��������9=�>?����@1�����	�
��76

2) $G�
G�N��/����.����������
���I�15,000 A�B�&��>?��@ �6

3) $�,������
�/�������.����12,000 A�B�$
��!C
���-�6

4) ��
�5���/*������
GN��24,000 A�B�-�6

5) ���!I�������*S?��
��%��������.�����E$�)��$T�
��6,000 A�B�-�6
Give necessary journal entries in the books of firm on death of 'C' from the
following informations:

1) A, B and C are partners sharing profits & losses in the ratio of 3 : 2 : 1.

2) Revaluation Account disclosed �15,000 (Debit).

3) Goodwill  Account �12,000 was shown in the books.

4) The value of General Reserve was �24,000.

5) �6,000 of profit & loss account  was in Assets side of last year Balance
sheet. [4]
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22)  � ��
�9�3:2 ���� ��$���
��%��������9�/>?����@1�����	�
���6

1  &�%�2016 �����8������*>U?V?����E��&���
���H

� �

%��	�
 30,000 
����P? 2,000

$G/(��.��� 	��	�
 25,000

 50,000 –  ����(� 3,000 22,000

9 40,000 ,��50 28,000

���W*
 18,000

�!� 50,000

1,20,000 1,20,000

1  &�%�2016 �����85���������������E�����X�$
�����	�
�9����6

1) �� $���$G/(��1!/������������"�
�H�50,000 A�B�1!/�10,000 A�B����	�%�����6

2) ����%�������� ��$���2:2:1 �����6

3) �/�	Y0�2�#� ����(�������1,000 A�B�����Z>?����(���6

4) ,>?��������$��
��N��/����25,000 A�B��-���!������$G�
G�N��/����60,000 A�B�������(���6

5) ��������	�
�����$G/(������ �0�
�$
���
������$/G(�������
����(��$�
��������	�
���[�
�����	���
������(���6

$G�
�GN��/����.����$G/(��.�����-��������
�������*S?��9��4��6

 -!�
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1���!�4�� ��
�(�P?�����	�
��
��%��\�����5:3:2  ��$���
��9�=>??�����6�85����������	�
����
�����
�!Z>?��������K*����������!Z>?���������-�$
�%��	�
�26,200 A�B���� ��
��!Z>?������	��
��
2,500 A�B�����1����E���!��	��	�
�����(���$�,������
�������	.�����4��$]
$�!��������� ��

4��������������
��������6�8�����$G/(���"�
�H�18,000 A�B�10,000 A�B�1!/�12,000 A�B���6
!�4�����$G/(������ ��]
J����
�������13,800 A�B�80�
�	��
.���/�6��E$�)��������86,000 A��&�'��@16
!�G%��.����1!/�!�4������2�#�.��������
���
��6

A and B are partners sharing profits & losses in the ratio of 3:2. On 1st April
2016 their Balance Sheet is as follows:

� �

Creditors 30,000 Cash 2,000

Capital A/c Debtors 25,000

A 50,000 – Provision 3,000 22,000

B 40,000 Stock 28,000

Furniture 18,000

Building 50,000

1,20,000 1,20,000

On 1st April 2016 they admitted C on following terms.

1)  C will bring cash for capital and Goodwill �50,000 and �10,000 respectively.

2) New profit & loss ratio will be 2 : 2 : 1.

3) Provision for Doubtful debts be reduced upto �1,000.

4) The stock be revalued at �25,000 and Building be revalued at �60,000.

5)  On the basis of New partner's capital, the firm capital to be adjusted in cash
by old partners. Prepare revaluation account, Capitals Account and Balance
Sheet of New firm.  [6]

OR

[Turn Over
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x, y and z are in partnership sharing profit & loss in 5 : 3 : 2. They decided to
dissolve the partnership firm at the date of dissolution their creditors amounted
to �26,200 and in the course of dissolution a contingent liability of �2,500 not
brought into the accounts matured and had to be met. Their capitals stood at
�18,000, �10,000 and �12,000respectively. y had lent to the firm in addition
to capital �13,800 the assets realised �86,000.

Prepare  the realisation Account and y's loan Account. [6]

23)  �
����%�
>?�P?����100 A�B�!�%��20,000 �
��� �/�5% &�
��
�$
�(�
��������(���4��&���
�	��
-�� �!�	��$
�40 A�B�&��� �/�&�
��
�����<� �!/>?��$
�30 A�B�&��� �/<���I�
����&-
�1!/
 +5�
�
/���$
�45,000  /���������%1� �!�	�� ���6�5,000  /�������� �!�	����������9/>?�����������
���6���I� �!�	�����������-���$���9/>?�������6� �!�	��$3���������-�&�'� ��]
J��
�������� �!/>?�
�-��
/���
���
����(�����������6�����
�����/��-���
��&�'���������$
5���

���(����400  /���
���� �%1�  �!�	�� ������ -�� ���  �!�	�� ����  ��]
J�� ������ ��� 
���� ���� ������� ���� �����6
 �!K����(��%�&�!�D?��L/�����(��6

Arti Limited issued 20,000 Equity shares of �100 each at a premium of 5%,
payable as �40 per share on application, including premium, �30, on  allotment
and Balance on first and final call. Application were received for 45,000 shares.
5,000 shares were not alloted to the applicants and pro-rata allotment was made
to the remaining applicants. Extra amount received on application were adjusted
in allotment and First & Final call respectively. All amount were received in due
time except Rama who applied for 400 shares not paid any amount except
application. Pass necessary journal entries. [6]
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SECTION - B

.^P?�9�����	���������/<�&:���������
�/�7 &K���/��$]
T��-����������������1���������������&K����������%
��
�����6

Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

24) �/*�%����"��� ����-����!�����"��� ���
��1��� 5�
��%.���6

Write one difference between an operating activity and an investing activity.[1]

25) 
����P?�&!����!!
#�����
���
�����������4��1���8_�K���%�.��6

Write any one objective of cash flow statement. [1]

26) �!)�����!!
#��������!K%�I#��������4��	���%���9��4��6

List any two advantages of analysing the financial statements. [2]

27) ��*��	�������G*�� ��������
������������
����;�����
��

1) ��
������%1� ����(��&�
+E������I�20,000 A�B

2) ��
������%1� ����(�� +5�
���I�15,000 A�B

3) !I������	��
�����
������%1� ����(��9�����25,000 A�B

Find out the amount of Tax paid from the following given informations:

1) Opening Balance of provision for tax �20,000.

2) Closing balance of provision for tax �15,000.

3) Provision for tax create during the year �25,000. [2]

[Turn Over
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28) ��*��	���4���G*�� ������2�#��
��� ��$��<�2�#����%��E$�)�� ��$��<�,!��
:!� ��$����-��*�%G
 ��$���;�������(��6

�

�
��� �/�$G/(�< 5,00,000

$G!���0���
� �/�$/G(� 2,00,000

��
�5���/*� 1,00,000

%��������.����`(
�a 1,20,000

2�#�$3 3,00,000

�!�!0�%��	�
 1,80,000

 	)��Q�� 60,000

&�
+E����Q�� 20,000

*�%G��E$�)� 4,00,000

Calculate Debt Equity Ratio, Debt to total Assets Ratio, Proprietory Ratio and
Current Ratio from the following details. [4]

�

Equity share capital 5,00,000

Preference share capital 2,00,000

General Reserve 1,00,000

Profit & Loss Account (Credit) 1,20,000

Debentures 3,00,000

Sundry Creditors 1,80,000

Outstanding Expenses 60,000

Preliminary Expenses 20,000

Current Assets 4,00,000
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29) ��E��%�.���G*�� ������� �0�
�$
��!)������"��� ������
����P?�&!��������#�������(16
2015 2016
� �

�
��� �/�$/G(� 12,00,000 15,00,000
10% $G!���0���
� �/�$G/(� 4,00,000 4,00,000
8% 2�#�$3 2,00,000 1,00,000
9�������2�# 5,00,000 3,00,000

!I������	��
����
��� �/�$G/(������&�
+E������I�$
�20% %���/��$G!���0���
� �/�$/G(��$
�10%
%��/��<�2�#�$3���$
�8% F��(�&�
+E������I�$
�����������������6�9�������2�#�$
�54,000 A�B
����F��(�����������������6

Calculate cash flow from financing activities on the basis of following details.[4]

2015 2016

� �

Equity share capital 12,00,000 15,00,000

10% preference share capital 4,00,000 4,00,000

8% Debenture 2,00,000 1,00,000

Loan from Bank 5,00,000 3,00,000

During the year 20% Dividend was paid on  Opening Balance of Equity share,
10% Dividend was paid on preference share, 8% interest was paid on opening
balance of debenture. �54,000 interest was paid on loan from bank.

30) ��E���G*�� ��������%��:
��� ����!!
#�9��4��

31-3-2015 31-3-2016

� �

�!�"�� 3,00,000 5,00,000

�"�� 1,50,000 3,00,000

���%�%�� �!�"�������40% �!�"�������30%

&��������Q�� ���%�%�������5% ���%�%�������4%

 �����
 ��
����$G!����b�%�������40% ��
����$G!����b�%�������40%

  -!�
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��E���G*�� �������
������
��*S?������
�����(��6
31-3-2015   31-3-2016

�������������������������������������������������������������������������������������

,-�����E$�)� 5,00,000 7,00,000
�!������ 2,00,000 1,00,000
*�%G��E$�)� 3,00,000 5,00,000
�
��� �/�$G/(� � 6,00,000 7,00,000
�/*��1!/� ��0�� 2,00,000 3,00,000
*�%G�	���:! 2,00,000 3,00,000

Prepare comparative income statement from the following informations: [6]
31-3-2015 31-3-2016

� �

Sales 3,00,000 5,00,000
Purchases 1,50,000 3,00,000
Gross profit 40% of sales 30% of sales
Administrative expenses 5% of Gross Profit 4% of Gross Profit
Income Tax 40% of Net Profit 40% of Net Profit

before Tax before Tax
OR

Prepare common size Balance Sheet from the following informations:         [6]
31-3-2015 31-3-2016

                                                  ��������������������������������������������

Fixed Assets 5,00,000 7,00,000
Investment 2,00,000 1,00,000
Current Assets 3,00,000 5,00,000
Equity share capital 6,00,000 7,00,000
Reserve and surplus 2,00,000 3,00,000
Current liabilities 2,00,000 3,00,000

 -!�

OR
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SECTION - B

24) ��,>?
�4�cP?� ���d/��>?����e>?!��
����������������

What is customized software? [1]

25) ,&�P?��>?����������������

What is spread sheet? [1]

26) DBMS �
��4+5>?>?�����������������

What is Entity in DBMS? [2]

27) ,&�P?��>?���������4��	���T
��1��9��4�16

Give any two capabilities of spreadsheets. [2]

28) %�.�/����
��]
$�X>?�9�������������&��"������6

What is the process of creating report in Accounting? [4]

29) ��Ef�G>?
�4�cP?� ���d�g>?��1!/�
��� %� ���d�g>?��&#�%��
�� 5�
�,$h>?�����(1�

Distinguish between Computerized Accounting and Manual Accounting System.[4]

30) %�.�/���������/	���
��P?�>?��&����g�����4���%�����!#�������(16

Explain data processing cycle with reference to Accounting. [6]

�����
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����: 3¼����	

��
�����: 80

�������	
��� 
��� ���� �����
� ������ �
GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) �������	
��
��	����	
��	��	��	�������	���������	����	�

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) 
��	
��	�������	 !	�
All the questions are compulsory.

3) 
"����	
��	���	#$��	%�	&'�	#$��(�)*+����	��	 �	����	�
Write the answer to each question in the given answer-book only.

4) �,�	
����	��	��-�.���	�/01	 !2	#�	
��	���	#$��	3��	
��	 �	�����
For questions having more than one part, the answers to those parts are
to be written together in continuity.

5) 
��	��	���	� -%�	�	��&�4,�	5��-��	��	���
�	
����	��6	�)�71	/	�-��	/ �����8���
	 ����	��
� -%�	��9�	���	
��	����	 �	
 �	:����
If there is any error/difference/contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.

�����������
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6) i) � 	
��	��	%��	�/01��	��	���<�	 =	(	�	��=�	>�
ii) �/01	?�@	
��	A1����	���	��3	�������	 =�
iii) �/01	?>@	���	%��	��&	 !2	
"����	��&	��	
��	
��	 !�	�������	����	���
�	3��	��&	���	
��	
��


����	����	 �	�����	 =�
i) This question paper contains two Sections - A and B.
ii) Section 'A' is compulsory for all candidates.
iii) Section 'B' has two portions. Every portion has a set of seven questions.

Candidate can attempt only a set of seven questions of any one portion.
7) �/01 
��	
�B�� ����	
"����	
��

� 1-8 1
9-14 2

15-21 4
22-23 6

> 24-25 1
26-27 2
28-29 4

30 6
����

24-25 1
26-27 2
28-29 4

30 6
Section Q. Nos. Marks per question

A 1-8 1
9-14 2

15-21 4
22-23 6

B 24-25 1
26-27 2
28-29 4

30 6
OR

24-25 1
26-27 2
28-29 4

30 6
8) 
��	
�B��	22	C�/01(�D	���	30 	C�/01(>D	��	��-�.���	����E�	 !�

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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SECTION - A

1) 3��	F�:�	:�	
�G�%����	��6	��8���:	
%+H��	��6	
�:�	IH�	 =J [1]
What is maximum limit on number of partners in a firm?

2) 
�G�%��	��6	���K��	���	
:H	�)+�����	:�	L��-71	50,000 �	��	�%��H�	&H�	 !	'
���	:MEH	5,000 �

�	>NO1���	 =�	'
	
P>-8	:�	����	
���Q71	��6�,H�� [1]
At the time of retirement of a partner plant is shown in the books at ��50,000. It
is increased by ��5,000. Prepare Journal entry for it.

3) 
�G�%��	��6	���K��	��	
�H)<�	>�:�	�R���
�	����	�ST1�	:�	���
	:MEH	��	�%��H�	,���	 !�	,>	
�G�%��
'
�	�ST1�	:�	�%����	���	���SH	�����	 !� [1]
At the time of retirement of a partner, at which value Joint life policy account is
shown in Balance Sheet. When partners decide to show it in the books.

4) ���
�	����	�9�	���	:UH	
�G�%��	��6	:K"H)	��6	����	���	#
���	�����	:�	� +
�	��6	&V��	�����	��6
���8H��	���	��:	������ [1]
Write down the name of methods from which share of profit of a deceased
partner is calculated during the accounting year upto the date of the death of a
partner.

5) 
:���	��	�)+�����	:�	� W	�%��H�	&H�	%��H"�	���	�)&���	�)+�����	:�	� �	�%��'�	&'�	
P���	
�	�����
��	>��'�	,���	����	
���Q71	����H�� [1]
At the time of dissolution, a liability which is not shown in the books is settled
by asset, which is not shown in the books, write entry which is made for it?

6) 
�.�V�	3F�	��&M	 ����	��	��&4:	
�L�	:��&	��	�%H�	,���	����	XH�,	���	%�	����H�� [1]
Write down the rate of interest, which is given on calls-in-advance, when
Table - F applies.

7) 100 ������	3��	12%	Y�V��	���	��&�:�	110 � ��	���H�	&H�	�,
���	Z��8�	120 �	��	���H�
,���	 !�	Y�V��	��&�:�	��6	3��	
���Q71	>��'H��	C����V	��6	����H����	� WD [1]
One 12% Debenture of ��100 is issued at ��110, which is redeemable at ��120.
Make a Journal entry for issue of debenture. (Narration  is not required).

[Turn Over
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8) H�%	
"H���	
 	
� 
�	����	 �	����	�����	 =	���	3��	
 (
� 
�	[���	#8��	:��	>�S��	��	
�L�
�>�		����	>!��	
�	�)����	��	�%H�	,���	����	>\1�	����	� 	����	�)+�����	:�	���
	����	:�	�%��H�&�J1[1]
A co-venturer sold the goods on credit and received a bill, which is discounted
by bank, in which account he will show the discount on bill charged by the
bank in his books. When each venturer incorporates his own transactions.

9) 3	�	>�	3:2	:�	���	>�;71��	 ]3	
�G�%��	 =�	
�	����	�����	:�	¼ ��&	���	��3	
��Z	%���	
:H	��:�S���
���	�M���	
�SH	���	Z�9	10,000 � %��H"�	��	:�	�%��H�	 ]��	 !�	
��Z	���	
:H	��6	,���	����
��������	
���Q71	��6�,H�2	H�%	'
	
P>-8	:�	�-H	����'�	
MS��	� W	%�	 ���	C����V	��6	����H����
� WD [2]
A and B are partners sharing profit in the ratio of 3:2. At the time of admission
of C for ¼ share, worksmen compensation reserve account is shown for ��10,000
in liability side. Give the accounting entry for it, at the time of admission, if no
other information is given. (Narration is not required)

10) 
�H)I�	
� 
	3��	
�G�%���	:�	����'�	S��	�-��	����H�� [2]
Write down any four differences between joint venture and partnership.

11) >�,��	:MEH	��	:��	���	
�9V	�����	��2	>�,��	:MEH	:�	Z��:�	���	���	
���	����	
:�L�	�����	���
��3	
�9��	��6	�)+���	:�	>��'�	,���	����	S��	
:H��,�	
���Q71H�	%��,H��	C����V	��6	����H����
� WD [2]
When goods are consigned at invoice price, give four journal entries which is
shown in the books of consigner to abolish the effect of profit element in invoice
price. (Narration is not required)

12) 3	��	60,000 �����	>�,��	:MEH	���	:��	
�9V	���H��	
�9V�	��	'
:�	
�	��8�	:��	30,000 �	:�
���	Z�9	:��	40,000 �	:�	>�S	�%H��	� 	5%	
�:�-H	��:�Z�	�	20%	��8����	��:�Z�	
�L�
�����	���	��8�����	 !�	
�:�-H	�	��8����	��:�Z�	��6	��Z�	��6	&V��	������ 	[2]
A consigned goods of ��60,000 at invoice price. Consignee sold half of goods
at �� 30,000 and remaining goods for �� 40,000. He is entitled 5% general
commission and 20% over-riding commission. Calculate the amount of general
and over-riding commission.
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13) 
��L�	�	�)&���	����	>����	
:H	��P�������	:%��	����	'
	����	:�	�� �;	��	�%��H�	,�H�&�� [2]
1) S��M	�9�	���	>���H�	����
2) +��H�	
P���	��6	�>�4�6	��	���Z
3) �)+���	���%	�&%
4) S��M	�9�	:�	����H��&	��	��,��	XH�,	,��	>���H�	 !�
While preparing Receipts and Payments Account, where the following items are
shown in this account:
1) Current year's outstanding salaries
2) Amount received on sale of fixed assets
3) Books purchased in cash
4) Interest earned on investment during year, which is still due.

14) ��H(^HH	����	�	�ST1�	>����	
:H	��P�������	:%��	����	�� �;	��	�%��H�	,�H�&��1 [2]
1) �
�H�	
�	
��L�
2) 
��Z	Z)E��
While preparing Income and Expenditure Account and Balance Sheet, where
the following items will be shown:
1) Legacies
2) Entrance fees

15) �*�:	�	��-7)1	�4�:Z�	50,000 �	�	30,000 �	��6	�M;,�	���	
��	
�G�%��	 !�	��P�	��	��S��	�����

�	�M��	F�:�	���	���	49,200 �	31 :�S�	2017 ����	
:�L�	�9�	���	��3	��� [4]
i) �M;,�	��	5%	���9���	%�	
�	XH�,	�%H�	,���	 !�
ii) �*�:	����	���4�H	��	2%	��:�Z�	�%H�	,���	 =2	���4�H	2,00,000 �	 !�
iii) ��-7)1	����	����V	H��_H	���	���	10%	���:Z�	C'
	���:Z�	�	
�SH	
�	�M��D	�%H�	,���	 !�
iv) H 	��V�H	���H�	&H�	���	����,�	H��_H	���	���	10%	
�SH	:�	�-�.��	���H�	,����
v) �*�:	��	F�:�	����	20,000 ��Y�V	�%�����	1.4.2016	����	�%H�	 =�	���( ���	����	CH�%

����H��	 ��D	���	���( ���	��H��,�	����	31 :�S�	2017 ����	
:�L�	 ����	����	�9�	���	��3
>��'H��

Rashmi and Pintu are partners with capital of �� 50,000 and �� 30,000. The
profit for the year ended 31st March 2017 amounted to � 49,200 before
considering the following :
i) Interest on capital is to be allowed @ 5% p.a.
ii) Rashmi is allowed 2% commission on sales, sales was ��2,00,000.
iii) Pintu is allowed commission @ 10% on divisible profits (before charging

his commission and reserve).
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iv) It is decided to transfer 10% of divisible profit to Reserve Account.
v) Rashmi had advanced a loan of �� 20,000 to firm on 1.4.2016. Prepare

Profit and Loss Account (if necessary) and Profit and Loss Appropriation
Account for the year ending 31st March, 2017.

16) ��2	IHM	�	���	3��	F�:�	:�	2:2:1 :�	���	>��71��	 ]3	
�G�%��	 =	F�:�	��	
��	
�G�%����	���	,���	��
3��	
�H)I�	,���	>�:�	�R���
�	1,00,000	����62	�%�����	1.4.2013	����	���	�R���
�	���	
:��V
:MEH	'
	
����	 !�	31.3.2014 ����	ZM-H2	31.3.2015	����	3,000 �,31.3.2016 ����	8,000 �
3��	31.3.2017 ����	10,000 �	�	F�:�	7,000 � ���9���	
��:H:	
���9�	1 �
��	����	S)�����	 !=�
H�%	
��:H:	����	����H��&	:���	,���	 !	���	IH)	��6	:K"H)	1.7.2017 ����	 ��	&'��	
��	�9�`	���	��3

�H)I�	>�:�	�R���
�	����	>��'H�� [4]
P, Q and R are the partners in a firm sharing profit in the ratio of 2:2:1. The firm
had taken a Joint life policy for ��1,00,000 on the lives of all the partners on
1.4.2013. The Surrender value of policy is as under: on 31.3.2014 Nil ;
31.3.2015 �� 3,000; 31.3.2016 �� 8,000 and on 31.3.2017 �� 10,000. The firm
pays ��7,000 annual premium every year on 1st April. If premium is treated as
investment and Q died on 1.7.2017. Prepare Joint Life Policy Account for all
the years.

17) ���2	3
	�	71�	3��	F�:�	:�	
�G�%��	 !�	31 :�S�	2017 ����	F�:�	���	�ST1�	��P�	
����	 =� [4]
�ST1�	31 :�S�	2017 ����

%��H"� ���ZC�D 
P���H�; ���ZC�D
�M;,��	��� 20,000 ����8	
P���H�� 1,00,000
							3
 20,000 �M;,��	71� 3,000
���%�� 63,000

1,03,000 1,03,000
31 :�S�	2017 ����	71�	���	�%����H�	 ����	��	F�:�	���	
:���	���	�%H�	&H��	71�	
�	�)�A1	��	�
M�	�
 ��	
����	F�:�	��6	
P���H��	
�	40,000 � �
M�	 ]3�	&����	>��:	:��	��H:	��&M	 ����	��	
:���	��
����H��	����	>��'H��	�
M��	��6	 ���	
�G�%��	�&%	� W	����	 !�
R, S and T are Partners in a firm. Balance Sheet as on 31st March 2017 of the
firm is as follows:

Balance Sheet on 31st March, 2017
Liabilities Amount Assets Amount

� �
Capital : R 20,000 Sundry Assets 1,00,000
              S 20,000 Capital: T 3,000
Creditors 63,000

1,03,000 1,03,000



#

�����������
��
�� �� �

The firm is dissolved on 31st March, 2017, due to T became insolvent. None is
realised from T. ��40,000 is realised from the assets of the firm. Prepare necessary
accounts on dissolution, when Garner vs. Murry rule applies. Loss on realisation
is not brought in cash by the partners.

18) 3��	��P���	���	�������	�ST�	:�	��P������	:%��	����	���	����	Z�9���	�	#�	Z�9������	���	�-�&��
�%��H�&�� [4]
1) �H��S�	�����Z
2) 
���M��	
��:H:
3) 
+�����	�����Z
4) +���K���H�;
5) Y�V��
6) ��&4:	:��&
7) ���	���	��3	��H��,�
8) �M��%$�	>�:�
Under which head and sub-head will you show the following items in the Balance
Sheet of a company?
1) Unclaimed dividend
2) Securities Premium
3) Proposed dividend
4) Acceptances
5) Debentures
6) Calls-in-Advance
7) Provision for tax
8) Prepaid Insurance

19) ?���@	�	?��@	:��	���	�4�H	���4�H	���	��3	
�H)I�	
� 
	:�	
��Z	�����	 =	���	���	>��>�(>��>�	>��71��
 !�	?���@	��	40,000 � ���	:��	���%��	?��@	��	��	60,000 �	���	:��	���%��	?���@	��	�)�A1	:��
45,000 �	:�	?��@	��	�)�A1	:��	70,000 �	:�	>�S��	Z�9	:��	?���@	��	8,000 �	:�	��	��H��	
"H���

� 
�	�����	+�H�	���	����	����	 !�	%�����	
 ��
H��	���	�)+�����	:�	����H��	����	>��'H�	���	
�H)I�

� 
	^H� ����	���	���( ���	��6	&V��	 ��)	��	����H��	����	>��'H�� [4]
'K' and 'V' entered into joint venture to purchase and sales of goods, sharing
profit in equal ratio. 'K' purchase goods for ��40,000. 'V' also purchased  goods
for ��60,000. 'K' sold part of goods for ��45,000 and 'V' sold part of goods for
��70,000. Remaining goods is taken by 'K' for ��8,000. Each venturer records
his own transactions only. Prepare necessary accounts in the books of both
venturers and also prepare necessary account to calculate the profit and loss of
Joint venture transactions.

 [Turn Over



$

�����������
��
�� �� �

20) ���V	��	100 
�'������	+��71�	����	2,000 �	
��	
�'�����	���	:MEH	��	
�9V	��	��,��	:�&�	:�	10

�'������	%]a�71��	&4+�	 ��	&'�	���	�4�H	:MEH	���	¼	'�
�	�
M�	 ]���	
�9��6	��	70 
�'������	2,500
�	
��	 
�'�����	��6	%�	
�	>�S	%�	���	:��	
�L�	 ����	��	1,800 � SM�&�	���	�	2,000 �����4�H
^HH	S)���H��	>�:�	��P���	
�	 ���	���	10,000 � �
M�	 ]3�	�
�:�-H	 ���	�	�>��	�>���	+71�R��	���
:MEH�����	��6�,H��	
�9��	��	5,000 � 
�9V	^HH	���	S)���H�� [4]
Karan sent 100 cycles to Sweeti @ ��2,000 per cycle on consignment. On the
way 10 cycles are destroyed and ¼ of the purchase price is received from them.
Consignee sold 70 cycles @ �� 2,500 per cycle and paid octroi �� 1,800 and
selling expenses �� 2,000 after receiving the goods. �� 10,000 is realised from
insurance company for loss. Calculate value of abnormal loss and unsold stock.
Consigner paid ��5,000 for consignment expenses.

21) ��P�������	
MS�����	
�	31 :�S�	2017	����	
:�L�	 ����	����	�9�	���	��H(^HH	����	�	#
	�%�	����
>��H�	,���	����	�ST1�	:�	���	
P>-8�	
MS�����	����	%Z��'H�� [4]

�

��*P���	���	����9 3,00,000
12%	���	����9	����H��&	C
��*P���D 1,50,000
�9�	���	%�=���	���	��	���H�	&H�	^HH 1,00,000
�9�	���	%�=���	���	���H�`	���	��3	
�L�	%�� 40,000
�9�	���	�*-�:	�%�	1,00,000 �	:MEH	��6	71��>�
71���
	��6	71�>�	%��	:�	
�b	��6 (
����9	����H��&	��	
�L�	XH�, 15,000
71��>�	71���
	71�>�	��	:MEH	c�
	%�	10%	���9���	 !� (

From the following information, calculate the amount which will be shown in
Income and Expenditure Account for the year ending 31st March 2017 and in
Balance Sheet on that date for sports events.

�
Opening Games fund 3,00,000
12% Games fund Investment (opening) 1,50,000
Expenses on games during the year 1,00,000
Donation received for games during the year 40,000
On the last date of the year a table for Table -
Tennis received as donation worth ��1,00,000 -
Interest received from fund Investment 15,000
Depreciation is allowed @ 10% per annum on
the value of table of Table Tennis -



%

�����������
��
�� �� �

22) 3	�	>�	2:1	���	��)���	:�	���	>��71��	 !�	31 :�S�	2017 ���	�ST1�	��P�	
����	 !	�( [6]
�ST1�	31 :�S�	2017 ����

%��H"� ���ZC�D 
P���H�; ���Z	C�D
���%�� 21,000 >!�� 10,000

�:�-H	
�SH 9,000 %��%�� 30,000
	�M;,��� 40,000 +71�R�� 20,000

> 30,000 70,000 ��� 30,000
3��+� 10,000

1,00,000 1,00,000
1 �
��	2017 ����	
�	����	
�G�%���	:�	
*P:���	���H�	&H��	�H�	���	����,�	��)���	3 : 2 : 1
 ��&��	��P�������	
:�H��,���	���	>�%	
�	F�:�	:�	����	� +
�	���	��)
��	�M;,�	�&%	����	 !�
1) 
�	BH���	���	��3	10,000 �	�&%	����	 =�
2) ���	���	:MEH	35,000 �	������	&H��
3) �)����	71�'����'�71�	�,
���	:MEH	2,000 �	 !	�)+�����	:�	� W	����	 =	'
�	�>	�)+�����	:�	�����

 !�
4) 3��+�	���	:MEH	ZM-H	 !�

�)��:MEH�����	����2	�);,�	����	�	�'�	F�:�	���	�ST1�	>��'H��
����

3I
2	��'�	���	,�01	3 : 2 : 1	���	��)���	:�	���	>��71��	 =�	31 :�S�	2017 ���	�ST1�	��P���)
��	 =�(
[6]

�ST1�	31 :�S�	2017 ����
%��H"� ���ZC�D 	
P���H�; ���Z	C�D
���%�� 12,000 >!��	:�	�����01 10,000
�M;,��3I
 38,000 %��%�� 20,000

��'� 30,000 +71�R�� 30,000
,�01 20,000 88,000 :Z���� 40,000

1,00,000 1,00,000
'
	����	����	,�01	�����Z	&4 V	�����	 !�	Z�9	
�G�%����	���	�H�	��)���	5 : 4	 ��&��	��P�������	Z�d
�H	 ]'�	�
1) :Z����	���	:MEH	10%	a71�H�	,����
2) +71�R��	28,000 �����	��:	���H�	,����
3) 3I
	���	��'�	��	��V�H	��H�	���	#���6	�M;,�	#����	�H�	���	����,�	��)���	:�	 ��&�	'
���

��3	
�G�%��	�&%	��H�&�	����	��	,�H�&��
4) F�:�	��6	BH���	���	:MEH�����	54,000 �	���H�	&H�	���	�>��	BH���	����	�����	BH���	���


:�H��,�	�����	 !�
5) ,�01	����	�����Z	&4 V	��	8,000 �	�&%	�%H�	&H�	Z�9	���Z	#
���	Y�V	����	:�	 +��-�.��	��6	&'��
#����I�	
MS�����	
�	�)��	:MEH�����	����2	�M;,�	����	�	�H�	�ST1�	>��'H��
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A and B are sharing profit in the ratio of 2:1. The Balance Sheet as on 31st

March, 2017 is as follows:
Balance Sheet as on 31st March, 2017

Liabilities Amount Assets Amount
� �

Creditors 21,000 Bank 10,000
General Reserve 9,000 Debtors 30,000
Capital:   A 40,000 Stock 20,000

B 30,000 70,000 Building 30,000
Patents 10,000

1,00,000 1,00,000
They admitted C into partnership on 1st April, 2017. New profit sharing ratio
will be 3 : 2 : 1. C brings in proportionate capital after the following adjustments:
1) C brings ��10,000 in cash as his share of Goodwill.
2) Building is valued at ��35,000.
3) There is an old typewriter valued ��2,000. It does not appears in the books

of the firm. It is now to be recorded.
4) Patents are valueless.
Prepare Revaluation Account, Partners Capital A/c and the Balance Sheet of
new form.

OR
x, y and z sharing profits in the ratio of 3 : 2 : 1. The Balance Sheet as on 31st

March, 2017 is as follows:
Balance Sheet as on 31st March, 2017

Liabilities Amount Assets Amount
� �

Creditors 12,000 Cash at Bank 10,000
Capital x 38,000 Debtors 20,000
           y  30,000 Stock 30,000
           z  20,000 88,000 Machinery 40,000

1,00,000 1,00,000
z retires on the above date and the new profit sharing ratio between remaining
partners will be 5:4. Following terms were agreed:
1) Machinery be reduced by 10%.
2) Stock is reduced to ��28,000.
3) x and y agreed that their capitals will be adjusted in their new profit sharing

ratio, by bringing in or paying cash to the partners.
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4) Goodwill of the firm be valued at ��54,000 and adjustment in this respect
be made without raising Goodwill A/c.

5) z is paid ��8,000 on the date of retirement in cash and the remaining amount
is transferred to his loan account.

From the above information, prepare Revaluation Account, Capital Accounts
and new Balance Sheet.

23) ���	��e	��	20,000	
:��	��Z	100�	����	120�	
��	��Z	��	,���	���H��	�)&���	'
	
����	%�H
 =�	����%�	��	10�	
��	��Z2	>�71�	��	40�	
��	��ZC�
�:H:	
� �D2	Z�9	
�:	�	�*-�:	:��&
���

����%�	��	
�L�	���8	�H	���Z	���	
H��&	>�71�	�	
�:	�	�*-�:	:��&	��	%�H	���ZH��	���	��3	���H�
,���	 !�	H�%	����'�	��>�71�	� W	���H�	 !	���	
:+�	���Z	��=71���	 !�

33,000 ��Z��	���	��H�	����%�	
�L�	 ]3�	12,000 ��Z��	���	����%����	����	2,000	��Z	���>�71�
���H�2	3,000 ��Z��	���	����%����	����	�M��	���Z	��==71�'�	&'�	Z�9	����%�����	����	�MV�	>�71�	���H�	&H��

:+�	%�H	���ZH��	H��	
:H	
�b	 ��	&'��

#����I�	^H� ����	���	��3	��P���	��6	�)+�����	:�	
��	
���Q71H��	��6�,H��	C����V	��6	����H����
� WD [6]

R Ltd. issued �20,000 equity shares of ��100 each at ��120 per share. Amount
is payable : on application ��10 per share, on allotment ��40 per share (including
premium) remaining with first and final call.

Overpayments on application were to be applied towards sums due on allotment
and first and final call. Where no allotment was made, money was to be refunded
in full.

Application for�33,000 shares were received. Applicants for�12,000 shares were
alloted only� 2,000 shares and applicants for� 3,000 shares was refunded their
amounts in full. Full allotment was made to remaining applicants. All the money
due was received in full within time.

Make all the journal entries to record the above transactions in the books of
company. (Narration is not required)
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SECTION - B

�/01	>	���	%��	��&	 =2	
"����	��&	���	
�� 
��	 =	�����������	����	���
�	3��	��&	���	
��	
����	����
 �	�����	 =�
Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

24) �=��,	�	�P>��	�����9V	:�	����'�	%��	�-��	������ [1]
State any two differences between Horizontal analysis and Vertical analysis.

25) H�%	S��M	%��H"�	1,50,000 �	 =�	���	S��M	��)���	3:1	 ��	���	S��M	
P���H��	f��	������ [1]
If current liabilities �� 1,50,000 and current ratio is 3:1, then calculate current
assets.

26) �.�S���	
�	��H	��6	
MS��	��P���)
��	 ! �9�	2012-13 ����	��8��	:����	 ]3	�9�	2016-17 ���
 ]3	�.�������	���	:���	 ��)	
�K��	
��Z�	f��	�����	� [2]

C�����	�	:�D
�9� 2012-13 2013-14 2014-15 2015-16 2016-17
�.�S���	
�
��H 20 22 25 28 30
Following are the information with regard to revenue from operations. Taking
base 2012-13, upto 2016-17 calculate trend percentage for measuring the changes.

(��in Lakhs)
Year 2012-13  2013-14 2014-15 2015-16 2016-17
Revenue from
operations 20 22 25 28 30

27) 3I
	��e	��6	�)+������	
�	31	:�S�	2017 ����	��P�	Z�9	��H�	&H�	^H���.���	
�LH	�����	��)���	f��
�����	�

�S���	
�	�)��	
���	��&:	��2,00,000;	
�S���	
�	�&%	��&:	��30,000;	
�S���	
�	��&:
���
�	��10,000; 
�e	%��%��	��50,000; �*-�:	%��%��	30,000 �� [2]
The following balances are extracted from the books of x Ltd. on 31st March,
2017. Calculate Trade receivables Turnover ratio. Total gross revenue from
operations����2,00,000; cash revenue from operations ��30,000; Revenue from
operations return ��10,000; opening debtors ��50,000 ; closing debtors ��30,000.
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28) 
�	��e	���	31 :�S� 2016	�	2017	����	
:�L�	 �����	����	�9�	���	��H	����V	C���( ���	����VD
��S�	�%H�	&H�	 =�	
:�������	��H	����V	>��'H�� [4]

����V ���71	
e 31 :�S� 2017 31 :�S� 2016
� �

I  ��H

�S���	
�	��&:	CZ)g	�>�4�6D 24,00,000 20,00,000

II ^HH
�) ^H���.���	� ��H�	���	�4�H 16,00,000 12,00,000
>) � ��H�	:�	�.����� 2,00,000 2,00,000

) :MEH	c�
 2,00,000 2,40,000
%) �-H	^HH 1,00,000 1,60,000

�)��	^HH 21,00,000 18,00,000
III ���	
�	�M��	��� (I-II) 3,00,000 2,00,000
IV a71�'H�	�	��H��� 90,000 60,000
V ���	��S��	��� (III-IV) 2,10,000 1,40,000
Income statement (statement of profit and loss) for the year ending 31st March,
2016 and 2017 of C Ltd. are given below. Prepare common size. Income statement.

Note 31st March 31st March
Particulars No.  2017 2016

� �
I  Income

Revenue from operations (Net sales) 24,00,000 20,00,000
II Expenses

a) Purchases of stock-in-Trade 16,00,000 12,00,000
b) Change in Inventories 2,00,000 2,00,000
c) Depreciation 2,00,000 2,40,000
d) Other expenses 1,00,000 1,60,000

Total expenses 21,00,000 18,00,000
III Profit before tax (I-II) 3,00,000 2,00,000
IV Less : Income Tax 90,000 60,000
V Profit after tax (III-IV) 2,10,000 1,40,000

29) ��������	:�	�=������	���	����'�	S��	h���	������ [4]

Write any four ethics in Accountancy.
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30) ��P�������	
MS�����	
�	�&4�����	��)���	f��	������ [6]
i) S��M	��)���
ii) 
���	���	��)���
iii) �.�S���	��)���
iv) Z)g	���	��)���
v) ����H��&	��	
"H�H

H��	 �	 :�Z�	�� 10,00,000;	 &=�	 S��M	 ^H���.���	 ����H��&	�� 4,00,000;	 S��M	 
P���H�;
��8,00,000;	S��M	%��H"�	��4,00,000;	�.�S���	
�	��&:	��24,00,000	�4�H	��15,00,000;

�e	 +��-8	�� 1,90,000;	 �*-�:	 +��-8	�� 1,80,000;	 :,%i��	�� 90,000;	 ���H���H	 ����
��80,000;	Y�V	����	��	XH�,	��20,000;	��H���	��40,000e

����
��P�������	
MS�����	
�	S��M	��)���2	"�.��	��)���2	Y�V(
:��	��)���2	+���:"�	��)���	3��
Z��8�	�:��	��)���	f��	�����	� [6]
S��M	%��H"�	��1,00,000;	�M;,�	��5,00,000;	
�:�-H	
�SH	��1,00,000;	���( ���	����
���	�4���0171	Z�9	��1,00,000;	10%	Y�V(��	��3,00,000;	&=�	S��M	
P���H�;	��7,00,000;
+��-8	��2,00,000; ^H���.���	
�LH��3	��1,50,000;	�&%	�	�&%	�)EH	��50,000.
Calculate the following ratios with the help of the information given below:
i) Current ratio
ii) Gross Profit ratio
iii) Operating ratio
iv) Net profit ratio
v) Return on investment
Plant and machinery �� 10,00,000; Non current investment  trade �� 4,00,000;
Current assets �� 8,00,000; Current liabilities �� 4,00,000; Revenue from
operations �� 24,00,000; Purchases �� 15,00,000; Opening stock �� 1,90,000;
Closing stock ��1,80,000; Wages ��90,000; Office salaries  ��80,000; Interest
on Debentures ��20,000; Income tax ��40,000.

OR
From the following information, calculate current ratio, quick ratio, Debt-equity
ratio, proprietory ratio and solvency ratio.
Current liabilities ��1,00,000; Capital ��5,00,000; General reserve ��1,00,000;
Credit Balance of P&L Account ��1,00,000; 10% Debentures ��3,00,000; Non
current Assets  �� 7,00,000; Stock �� 2,00,000, Trade receivables �� 1,50,000;
Cash and cash equivalents ��50,000.

����jOR
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SECTION - B

24) ��PLHM71���K��	����	
V���	IH�	 =J [1]

What is computerised accounting system?

25) 01�71�	:�R01�	IH�	 =J [1]

What is data model?

26) 3I
�	+
�01	Z�71	
�	���	IH�	
:G��	 =J [2]

What do you mean by Excel spread sheet?

27) +
�01	Z�71	3��	����	>)��	:�	�-��	����H�� [2]

Write difference between spread sheet and work book.

28) ���-k�H	
��
�l
&	'���'�	
�	���	IH�	
:G��	 !J [4]

What do you mean by central processing unit?

29) 01�71�	>�
	:���,:�71	�
+71:	���	�$����	����	
:G����� [4]

Explain components of Data Base Management System.

30) +
�01	Z�71	���	��������	:�	
H��&	
���L�	:�	
:G�'H�� [6]

����

3:e3
e	3I
�	Z�71	��6	��Z�9�����	����	
:G�'H�� [6]

Explain application of spread sheet in Accounting in brief.

OR

Explain the features of M.S. Excel spread sheet.

�����
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SS–30–AccountancyNo. of Questions – 30

No. of Printed Pages – 15

Cƒ _mÜ`{_H$ narjm, 2019
SENIOR  SECONDARY  EXAMINATION, 2019

boImemó
ACCOUNTANCY

g_` : 3¼ KÊQ>o
nyUmªH$ : 80

narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …
GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^r àíZ A{Zdm ©̀ h¢ &
All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &
Write the answer to each question in the given answer-book only.

4) {OZ àíZm| _| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) àíZ nÌ Ho$ {hÝXr d A§Jo«Or énmÝVa _| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr
^mfm Ho$ àíZ H$mo hr ghr ‘mZ|&
If there is any error/difference/contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.
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6) i) `h àíZ nÌ Xmo IÊS>m| _| {d^º$ h¡ - A Am¡a ~&
ii) IÊS> "A' g^r N>mÌm| Ho$ {bE A{Zdm ©̀ h¡&
iii) IÊS> "~' Ho$ Xmo ^mJ h¢, àË òH$ ^mJ _| gmV àíZ h¢& narjmWu H$mo {H$gr EH$ ^mJ Ho$ g^r gmV àíZm|

H$mo hb H$aZm h¡&
i) This question paper contains two Sections - A and B.
ii) Section 'A' is compulsory for all candidates.
iii) Section 'B' has two portions. Every portion has a set of seven questions.

Candidate can attempt only a set of seven questions of any one portion.
7) IÊS> àíZ g§»`m A§H$ àË òH$ àíZ

A 1-8 1
9-14 2
15-21 4
22-23 6

~ 24-25 1
26-27 2
28-29 4

30 6
AWdm

24-25 1
26-27 2
28-29 4

30 6
Section Q. Nos. Marks per question

A 1-8 1
9-14 2
15-21 4
22-23 6

B 24-25 1
26-27 2
28-29 4

30 6
OR

24-25 1
26-27 2
28-29 4

30 6
8) àíZ g§»`m 22 (IÊS>-A) VWm 30  (IÊS>-~) _| AmÝV[aH$ {dH$ën h¢&

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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IÊS> - A
SECTION - A

1) gmP|Xmar g§boI Ho$ A^md ‘| gmPoXmam| Ho$ doVZ H$m ³¶m àmdYmZ h¡& [1]
What is the provision for salary to the partners, in the absence of Partnership
deed?

2) Vê$Um d ^mdZm 4 : 2 Ho$ AZwnmV ‘| bm^-hm{Z ~m§Q>Vr hþ¶r gmPoXma h¡& CÝhm|Zo 1
3  {hñgo Ho$ {b¶o nyOm H$mo

’$‘© ‘| àdoe {X¶m& nyOm AnZm {hñgm XmoZm| go g‘mZ AZwnmV ‘| àmßV H$aoJr& Z¶o bm^-hm{Z AZwnmV H$s JUZm
H$s{O¶o& [1]
Taruna and Bhavna are partners with sharing profit and loss in the ratio of 4 : 2.

They admitted Pooja into firm for 
rd1

3  share. Pooja received her share equally

from both calculate new profit & loss ratio.

3) ‘‘Vm VWm ‘Zw 5 : 3 Ho$ AZwnmV ‘| bm^ {d^mOZ H$aVr hþ¶r EH$ ’$‘© ‘| gmPoXma h¡, CÝhm|Zo aoIm H$mo Z¶r
gmPoXma ~Zm¶m& CZH$m Z¶m bm^-hm{Z AZwnmV 4 : 2 : 1 {Z{íMV {H$¶m J¶m, Vmo ‘‘Vm d ‘Zw H$m Ë¶mJ
AZwnmV kmV H$s{O¶o& [1]
Mamta and Manu are partners in a firm with sharing profits in the ratio of 5 : 3.
They entered Rekha as new partner. Their new profit-loss sharing ratio is decided
4 : 2 : 1. Find out sacrifice ratio of Mamta and Manu.

4) àm{ßV AZwnmV d Ë¶mJ AZwnmV ‘| H$moB© Xmo AÝVa {b{IE& [1]
Write any two difference between gain ratio and sacrifice ratio.

5) ’$‘© Ho$ g‘mnZ go Amn ³¶m g‘PVo h¡? [1]
What do you mean by dissolution of firm?

6) ¶mew {b{‘Q>oS> Zo Jmo¶b {b{‘Q>oS> go J 6,00,000  ‘| EH$ ‘erZ IarXr Ed§ ¶mew {b{‘Q>oS> Zo J 10 ‘yë¶ dmbo
50,000 g‘Vm A§em| H$mo 20% àr{‘¶‘ na Jmo¶b {b{‘Q>oS> H$mo ŵJVmZ hoVw Omar {H$¶o, A§e Omar H$aZo H$s
à{d{îQ> Xr{O¶o& [1]
Yaashu Ltd. purchased a machinery from Goyal Ltd. for J 6,00,000 and Yaashu
Ltd. issued 50,000 equity shares @ J 10 each at 20% premium for payment to
Goyal Ltd. Give entry for issue of shares.

[Turn Over
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7) H¥$îUm {b{‘Q>oS> Zo 20,000 A§em| H$mo Omar H$aZo hoVw à{ddaU Omar {H$¶m& 30,000 A§em| Ho$ {bE A{^XmZ
àmßV hþAm& 24,000 A§em| Ho$ AmdoXH$m| H$mo ¶WmZwnmV ~§Q>Z {H$¶m& ¶{X amOoe H$mo 400 A§e Am~§{Q>V {H$¶o hmo
Vmo& CgHo$ Ûmam Amdo{XV A§em| H$s g§»¶m kmV H$amo& [1]
Krishna Ltd. issued prospectus to issue 20,000 shares. Subscription received for
30,000 shares. Prorata allotment is made to applicants of 24,000. If 400 shares
were alloted to Rajesh, calculate No. of shares applied by him.

8) g§¶w³V gmhg H$m g‘mnZ H$~ hmoVm h¢? >[1]
When dissolution of the Joint Venture is happen?

9) Ama, Eg VWm Q>r EH$ ’$‘© ‘| 5 : 3 : 2 Ho$ AZwnmV ‘| bm^-hm{Z ~m§Q>Vo h¡& Ama 31 ‘mM© 2018 H$mo AdH$me
J«hU H$aVm h¡& Bg {V{W H$mo ’$‘© Ho$ {MÆ>o ‘| g§M¶ H$m eof J 30,000 VWm bm^-hm{Z ImVo H$m S>o{~Q> eof
J 15,000 Wm&
Ama Ho$ AdH$me J«hU na g§{MV bm^m| d hm{Z¶m| H$mo An{b{IV H$aZo hoVw OZ©b à{d{îQ>¶m± Xr{O¶o& [2]
R, S and T are partners in a firm sharing profits and losses in ratio of 5 : 3 : 2.
R retires from the firm on 31st March, 2018. The Balance Sheet of the firm showed
a balance of Reserve J 30,000 and Dr. Balance of Profit & Loss account
J 15,000 on that date.
Make Journal entries for writing off accumulated profits and losses.

10) nr, ³¶y Am¡a Ama EH$ ’$‘© ‘| gmPoXma h¡ Omo 3 : 2 : 1 Ho$ AZwnmV ‘| bm^-hm{Z {d^mOZ H$aVo h¡& ’$‘© H$s
nwñVH|$ à{Vdf© 31 ‘mM© H$mo ~§X H$s OmVr h¡& 1 OwbmB© 2015 H$mo nr ’$‘© go AdH$me J«hU H$aVm h¡& 31 ‘mM©
2015 H$mo g‘mßV JV boImdf© ‘| ’$‘© Zo J 2,40,000 H$m bm^ H$‘m¶m& Mmby df© ‘| bm^ JVdf© H$s VwbZm
‘| 25% A{YH$ hmoZo H$s g§̂ mdZm h¡& AdH$me J«hU H$s {V{W H$mo Mmby df© Ho$ bm^ ‘| nr H$m {hñgm kmV
H$s{O¶o VWm nr H$mo Xo¶ bm^ H$s à{d{îQ> H$s{O¶o& [2]
P, Q and R partners in a firm sharing Profit & Losses in the ratio of 3 : 2 : 1.
P retires from the firm on 1st July 2015. The firm closes its books on 31st March
each year. The firm earned a profit of J 2,40,000 during the previous accounting
year ended on 31st March, 2015. It is estimated that current year's profit would be
25% more than previous year.
Determine the share of P on the date of retirement in the current year's profit, also
make journal entry for profit given to P.
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11) E³g, dmB© d OoS 3 : 3 : 2> Ho$ AZwnmV ‘| bm^ ~m§Q>Vo h¡& OoS> Ho$ {Zd¥V hmoZo na g§¶w³V ~r‘m nm°{bgr H$m g‘n©U
‘yë¶ J 1,60,000 Am§H$m J¶m, nm°{bgr ImVm ̂ {dî¶ ‘| nwñVH$m| ‘| Zht {XImZm h¡ VWm ̂ {dî¶ ‘| eof gmPoXma
bm^ ~am~a-~am~a ~m±Q>Zm V¶ H$aVo h¡& ’$‘© H$s nwñVH$m| ‘| Amdí¶H$ OZ©b à{d{îQ>/à{d{îQ>¶m± Xr{OE ¶{X
àr{‘¶‘ H$mo ì¶mnm[aH$ IM© ‘mZm OmVm h¡& [2]
X, Y and Z are partners sharing profits in the ratio of 3 : 3 : 2. The surrender value
of joint life policy is J 1,60,000 on the date of retirement of Z. It is decided that
joint life policy will not appear in balance sheet X and Y decide to share future
profits equally. Give necessary journal entry/entries in the books of the firm when
premium treated as trade expenses.

12) pñW{V {ddaU Ho$ "g§M¶ Ed§ Am{Y³¶' erf©H$ Ho$ AÝVJ©V {bIr OmZo dmbr Mma ‘X| {b{I¶o&  [2]
Write four items under the head of 'Reserves and Surplus' of Balance Sheet.

13) amoH$‹S> Vwë¶ H$mo g‘PmB¶o& [2]
Explain Cash Equivalents.

14) g§¶w³V gmhg g§~§Yr ì¶dhmam| H$m boIm aIZo H$s {d{Y¶m± ~VmB¶|& [2]
State the methods of accounting for Joint venture transactions.

15) ‘ZmoO Am¡a ‘wHo$e Zo 1 OZdar 2016 H$mo H«$‘e… J 2,000, J 20,000 H$s ny±Or Ho$ gmW gmPoXmar ’$‘© ewê$
H$s& 1 ‘mM© 2016 H$mo ‘ZmoO Zo J 8,000 H$s A{V[a³V ny±Or bJm¶r& Cg {XZ ‘wHo$e Zo AnZr n±yOr go
J 6,000 {ZH$mbo& ‘wabr Zo 1 OwbmB© 2016 H$mo J 30,000 H$s ny±Or Ho$ gmW ’$‘© ‘| àdoe {H$¶m& Cg {XZ
‘ZmoO Am¡a ‘wHo$e H«$‘e… J 12,000 Am¡a J 10,000 H$s A{V[a³V ny±Or bJm¶r& bm^-hm{Z ny±Or AZwnmV
‘| {d^m{OV {H$¶o OmVo h¡& df© 2016 Ho$ bm^ J 59,600 Wo& nyar JUZm XoVo hþ¶o bm^ Ed§ hm{Z {Z¶moOZ ImVm
~ZmBE& [4]
Manoj and Mukesh started a partnership firm on 1st January, 2016 with a capital of
J 2,000 and J 20,000 respectively. On 1st March 2016 Manoj introduced additional
capital of J 8,000. On that day, Mukesh withdrew J 6,000 from his capital. Murli
entered in the firm on 1st July 2016 with a capital of J 30,000. On that day Manoj
and Mukesh introduced additional capital of J 12,000 and  J 10,000 respectively.
Profit-loss are distributed in capital ratio. The profits for the year 2016 were
J 59,600. Prepare P&L Appropriation Account by giving detailed calculations.

 [Turn Over
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16) g§OZm d a§OZm EH$ ’$‘© ‘| gmPoXma h¡& 31 ‘mM© 2015 H$mo gmPoXmam| H$s ny±Or H«$‘e… J 4,00,000 d
J 2,00,000 h¡ VWm boZXma J 90,000 h¡& Bgr {V{W H$mo ’$‘© Ho$ g‘mnZ na gån{V¶m| H$m dgybr ‘yë¶
J 3,60,000 h¡& dgybr ImVm ~ZmBE& [4]

Sanjana and Ranjana were partners in a firm. On 31st March 2015 capital of the
partners are J 4,00,000 and J 2,00,000 respectively and creditors worth J 90,000.
Realisable value of Assets is J 3,60,000 on the same date, at the time of dissolution
of the firm. Prepare Realisation Account.

17) amo{hV Am¡a amhþb H$n‹S>o Ho$ H«$¶ {dH«$¶ H$aZo hoVw g§¶w³V gmhg ‘| àdoe H$aVo h¡ Am¡a bm^-hm{Z 3 : 2 Ho$
AZwnmV ‘| ~m±Q>Zo H$m {ZíM¶ H$aVo h¡& amo{hV Zo J 50,000 Ho$ H$n‹S>o IarXm VWm J 500 ^m‹S>m, J 100 ~r‘m
ì¶¶, J 400 Jm‹S>r ^m‹S>m VWm J 300 {d{dY ì¶¶ Ho$ MwH$m¶o& amhþb Zo J 30,000 Ho$ H$n‹S>o IarXo, J 200
JmoXm‘ {H$am¶m, J 100 ~r‘m, J 100 Jm‹S>r ^m‹S>m Ho$ MwH$m¶o& amoo{hV Zo Hw$N> H$n‹S>m J 60,000 ‘| VWm amhþb
Zo eof H$nS>m J 38,000 ‘| ~oM {X¶m& amo{hV H$s nwñVH$m| ‘o g§¶w³V gmhg ImVm d amhþb H$m ImVm ~ZmB¶o&[4]

Rohit and Rahul entered in Joint venture to purchase and sales of cloth and decide
to distribute profit or loss in 3 : 2 ratios. Rohit purchased cloth J 50,000 and paid
J 500 Freight, J 100 Insurance Expenses, J 400 carriage and J 300 sundry
expenses. Rahul purchased cloth J 30,000 and paid J 200 godown rent, J 100
insurance premium and J 100 carriage. Rohit sold part of the cloth for worth
J 60,000 and Rahul sold remaining cloth for J 38,000. Prepare Joint Venture
Account and Rahul's Account in the books of Rohit.

18) {ZåZm{H$V na {Q>ßnUr {b{IE - [4]

i) gm‘mÝ¶ H$‘reZ

ii) n[aemoY H$‘reZ

Write the notes on following :

i) Ordinary / General commission.

ii) Del-Credere commission.
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19) gm±Ibm Q´>oS>g© Zo dZñn{V Kr Ho$ 5,000 nrno J 1,200 à{V nrnm bmJV na ‘ogg© ‘oKm Q´>oS>g© H$mo MmbmZr na
^oOo VWm J 50,000 aob^m‹S>m MwH$m¶m& ‘mJ© ‘| 200 nrno Mmoar hmo J¶o {OgHo$ {b¶o ~r‘m H$ånZr go
J 1,80,000 Xmdo Ho$ àmßV hþE& EOoÊQ> Zo eof ‘mb H$s gwnwX©Jr br VWm J 27,000 My§Jr VWm
J 8,000 {~H«$s ì¶¶ Ho$ MwH$m¶o& CgZo 4,250 nrno J 1,500 à{V nrnm H$s Xa go ~oM {X¶o VWm {~H«$s na
J 50 à{V nrnm H$‘reZ dgyb {H$¶m& Agm‘mÝ¶ hm{Z, VWm {~Zm {~Ho$ ñQ>m°H$ H$s am{e H$s JUZm H$aVo hþ¶o
àofH$ H$s nwñVH$m| ‘| àofU ImVm ~ZmB¶o& [4]
Sankhla Traders consigned 5,000 vegetable oil tins @ J 1,200 per tin at cost to
M/s. Megha Traders and paid railway freight J 50,000. In course of transit, 200
tins was theft. A sum of J 1,80,000 is received from insurance company as a
claim. Agent took delivery of remaining goods and paid J 27,000 for octroi and
J 8,000 as selling expenses. He sold 4,250 tins @ J 1,500 per tin and charged
J 50 per tin as commission on sales. Prepare consignment account in the books of
consignor, with calculating amount of unsold stock and abnormal loss.

20) {ZåZm§{H$V gyMZmAm| go àm{á Ed§ ŵJVmZ ImVm 31 ‘mM© 2010 H$mo g‘mßV hmoZo dmbo df© H$m ~ZmB¶o& [4]
J

àmapå^H$ amoH$‹S> emof 40,000
XmZ àmßV {H$¶m 2,00,000
MÝXm àmßV {H$¶m 4,00,000
{~Obr {~bm| H$m ŵJVmZ {H$¶m 80,000
{H$am¶m J 4,000 ‘m{gH$, df© Ho$ Xm¡amZ 11 ‘mh H$m ŵJVmZ {H$¶m
H$åß¶yQ>a ZH$X ‘| H«$¶ {H$¶m 2,00,000
‘mZXo¶ ŵJVmZ 76,000
am‘ go ‘erZar IarXr& 1,00,000
Prepare Receipts and Payments Account for the year ending 31st March, 2010
from the following information.

Rs.
Cash-in-hand opening 40,000
Donation received 2,00,000
Subscription received 4,00,000
Paid for electricity bill 80,000
Rent J 4,000 p.m. actually paid for 11 months during the year
Purchases of computer in cash 2,00,000
Honorarium paid 76,000
Purchases of machinery from Ram 1,00,000

 [Turn Over
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21) {ZåZm§{H$V ‘Xm| H$mo Am¶-ì¶¶ ImVo d {MÆ>o ‘| Xem©B¶o - [4]
i) dgr¶V go àmßV am{e J 50,000
ii) Mmby df© ‘| àmßV MÝXm J 25,000
iii) Mmby df© H$m ~H$m¶m MÝXm J 5,000
iv) àdoe ewëH$ J 20,000 (50% {hñgm ny±OrJV ‘mZm Om¶o)
v) AmOrdZ gXñ¶mVm ewëH$ J 40,000
vi) gm‘mÝ¶ XmZ àmßV {H$¶m J 2,500
Show the following items in Income and Expenditure Account and Balance Sheet -
i) Amount received from Legacy J 50,000
ii) Subscription received in current year J 25,000
iii) Outstanding subscription of current year J 5,000
iv) Entrance fees J 20,000 (50% part should be capitalised)
v) Life membership fees J 40,000
vi) General Donation received J 2,500

22) gmoZy VWm ‘moZy H«$‘e… 3:2 Ho$ AZwnmV ‘| bm^ ~m±Q>Vo hþE gmP|Xma h¢& 31 ‘mM© 2012 H$mo CZH$m {MÆ>m {ZåZ
àH$ma h¢& [6]

{MÆ>m (31 ‘mM©, 2012)
Xm{¶Ëd J gån{V¶m± J
boZXma 7,500 amoH$‹S> 9,750
gm‘mÝ¶ g§M¶ 4,500 XoZXma J 15,000
bm^-hm{Z ImVm 3,000 KQ>m¶o… Am¶moOZ J 6,000 9,000
gmPoXmam| Ho$ ny±Or ImVo ñQ>m°H$ 22,500

gmoZy 30,000 ’$ZuMa 9,750
‘moZy 15,000 »¶m{V 9,000

60,000 60,000

do Q>moZy H$mo 1 Aà¡b 2012 go 1
3  ^mJ Ho$ {bE BZ JVm} na àdoe XoVo h¡ {H$ dh AnZo {hñgo H$s »¶m{V Ho$ {bE

ì¶mnma ‘| aH$‘ H$m ŵJVmZ H$ao VWm BVZr n¶m©ßV ny±Or bm¶o {Oggo {H$ Cgo Z¶r ’$‘© H$s Hw$b ny±Or H$m 1
3

{hñgm àmßV hmo OmE& ’$‘© H$s »¶m{V H$m ‘yb¶m±H$Z JV VrZ dfm} Ho$ Am¡gV bm^ Ho$ Xmo JwZo Ho$ AmYma na H$aVo
hþ¶o g‘m¶mo{OV {H$¶m OmZm h¡& BZ dfm} Ho$ bm^ H«$‘e… J 15,000, J 8,300 hm{Z VWm J 25,000 h¡& AmJo
¶h ^r V¶ {H$¶m OmVm h¡ H$s Sy>~V F$U Am¶moOZ H$mo J 2,000 VH$ KQ>m¶m Om¶o, ñQ>m°H$ H$m nwZ©‘yë¶m±H$Z
J 30,000 na {H$¶m OmE, ’$ZuMa H$mo J 7,500 VH$ KQ>m¶m OmE VWm ~H$m¶m IM© J 2,000 d A{O©V
Am¶ J 500 nwñVH$m| ‘| bm¶o Om¶o& ’$‘© H$s nwñVH$m| ‘| nwZ©‘yë¶m±H$Z ImVm d gmPoXmam| Ho$ ny±Or ImVo ~ZmB¶|&

AWdm
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A, ~ Ed§ g gmP|Xmar ‘o ì¶dgm¶ H$a aho Wo& 31 ‘mM© 2015 H$m ’$‘© H$m {MÆ>m {ZåZ àH$ma Wm& [6]
{MÆ>m 31 ‘mM© 2015

Xm{¶Ëd J gån{V¶m± J
boZXma 13,500 hñVJV amoH$‹S> 5,900
gm‘mÝ¶ g§M¶ 12,000 XoZXma 8,000
~¢H$ F$U 5,000 ah{V¶m 11,600
ny±Or ImVm ^dZ 23,000

A 15,000 »¶m{V 15,000
~ 10,000
g> 8,000 33,000

63,500 63,500
1 Aà¡b 2015 H$mo ~ AdH$me J«hU H$aVm h¡& VWm Cg g‘¶ {ZåZ {ZU©¶ {b¶o J¶o -
i) ^dZ H$m ‘yë¶ J 7,000 go ~‹T>mZm h¡&
ii) {d{dY XoZXmam| na 5% H$s Xa go g§{X½Y F$Um| Ho$ {bE Am¶moOZ H$aZm h¡&
iii) ’$‘© H$s »¶m{V H$m ‘yë¶m§H$Z J 18,000 na {H$¶m J¶m& ¶h ^r {ZíM¶ {H$¶m J¶m {H$ ~ AdH$me

J«hU Ho$ níMmV² boIm nwñVH$m| ‘| »¶m{V Zht {XIm¶r Om¶oJr&
iv) J 5,000 ~ H$mo VwaÝV ŵJVmZ Am¡a eof CgHo$ F$U ImVo ‘| hñVm§V[aV H$a {X¶m Om¶o&
’$‘© H$s nwñVH$m| ‘| nwZ©‘yë¶m§H$Z ImVm, gmP|Xmam| Ho$ ny±Or ImVo VWm {MÆ>m ~ZmB¶o&
Sonu and Monu are in partnership sharing profits in the ratio of 3 : 2. Their Balance
Sheet as on 31st March 2012 is as follows :

Balance Sheet as on 31st March, 2012
Liabilities Rs. Assets Rs.
Creditors 7,500 Cash 9,750
General Reserve 4,500 Debtors J15,000
Profit & Loss Account 3,000 Less : provisionJ 6,000 9,000
Partner's Capital A/c Stock 22,500

Sonu 30,000 Furniture 9,750
Monu 15,000 Goodwill 9,000

60,000 60,000

They decided to admit Tonu on 1st April 2012 for 
rd1

3  share, with the term that he
has to pay cash into the business for his share of goodwill and sufficient capital to
give him a one third share of the total capital of the new firm. The goodwill of the
firm is adjusted by valueing it at two years purchases of the average profits of the
last three years, profit or loss for these years being : J 15,000, J 8,300 (Loss) and
J 25,000. It was further agreed that the provision for Bad debts be reduced to

[Turn Over
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J 2,000, that the stock be revalued at J 30,000, that the furniture be reduced to
J 7,500 and outstanding expenses J 2,000 and accrued income J 500 to be
brought into books.
Prepare Revaluation account and partners capital account in the books of firm.

OR
The partners A, B and C were carrying on business. The Balance Sheet of the firm
as at 31st March 2015 was as under.

Balance Sheet as on 31st March, 2015
Liabilities Rs. Assets Rs.
Creditors 13,500 Cash in hand 5,900
General Reserve 12,000 Debtors 8,000
Bank loan 5,000 Stock 11,600
Capital A/c Building 23,000

A 15,000 Goodwill 15,000
B 10,000
C 8,000 33,000

63,500 63,500
B retires on 1st April 2015. The following decisions were taken at that time -
i) Value of building is increased by J 7,000.
ii) Provision for Bad Debts @ 5% is made on Sundry Debtors.
iii) Goodwill is valued at J 18,000 and it is also committed that after retirement of

B it will not shown in the Books.
iv) Payment made to B J 5,000 immediately and balance is transferred to his loan

account.
Prepare Revaluation account, Partners capital accounts and Balance Sheet in the
books of firm.

23) {h‘m§ew {b. Zo J 10,00,000 Ho$ 9% F$UnÌm| H$m {ZJ©‘Z {ZåZ àH$ma {H$¶m - [6]
i) J 5,00,000 Ho$ 9% F$UnÌm| H$mo 10% ~Å>o na ZH$X Ho$ {bE&

ii) ñZohm {b. go J 2,25,000 ‘erZ H«$¶ H$s, CgHo$ à{V’$bñdê$n CgH$mo J 2,50,000 A§{H$V ‘yë¶
Ho$ 9% F$UnÌ {ZJ©{‘V {H$¶o&

iii) ~¢H$ go J 1,25,000 H$m F$U {b¶m& gånm{œ©H$ à{V ŷ{V Ho$ ê$n ‘| ~¢H$ Ho$ nmg J 2,50,000 Ho$
9% F$UnÌ O‘m H$am¶o&

{h‘m§ew {b. H$s nwñVH$m| ‘| OZ©b à{d{îQ>¶m± Xr{O¶o&
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Himanshu Ltd. issued 9% Debentures of J 10,00,000 as follows -

i) 9% Debentures of J 5,00,000 at 10% discount for Cash.

ii) A machine of J 2,25,000 purchased from Sneha Ltd. For the consideration
of it, 9% debentures were issued with a nominal value of J 2,50,000.

iii) Taken a loan of J 1,25,000 from Bank and deposited to the bank 9%
Debentures of J 2,50,000 as collateral security.

Give Journal entries in the books at Himanshu Ltd.

IÊS> - ~
SECTION - B

IÊS> ~ Ho$ Xmo ^mJ h¡, àË òH$ ^mJ _o§ gmV àíZ h¡ narjm{W©̀ m| H$mo {H$gr EH$ ^mJ Ho$ gmV àíZmo H$mo hb H$aZm
h¡&
Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

24) àd¥{V AZwnmV kmV H$aZo H$m gyÌ {b{IE& [1]
Write formula for calculating Trend Ratio.

25) ¶{X àmapå^H$ ñQ>m°H$J 20,000, ewÕ H«$¶ J 50,000, àË¶j ì¶¶ J 5,000 h¡, VWm A§{V‘ ñQ>m°H$
J 22,500 hmo Vmo ~oMo J¶o ‘mb H$s bmJV kmV H$amo& [1]
If opening stock J 20,000, Net purchase J 50,000, Direct Expenses J 5,000 and
closing stock is J 22,500 then calculate cost of goods sold.

26) g‘mZmH$ma {MÆ>o H$m àmê$n ~ZmB¶o& [2]
Make proforma of Common Size Balance Sheet.

27) {ZåZ{b{IV gyMZmAm| go gH$b bm^ Ed§ ewÕ {dH«$¶ H$s am{e kmV H$s{OE - [2]
J

gån[V¶m± 1,50,000
Am¡gV ñQ>m°H$ 70,000
ñQ>m°H$ Amd©V AZwnmV 4 times
XoZXma 40,000
{dH«$¶ ‘yë¶ bmJV ‘yë¶ go 20% A{YH$
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Find out Gross Profit and Net Sales from the information given below :
J

Fixed Assets 1,50,000
Average stock 70,000
Stock Turnover Ratio 4 times
Debtors 40,000
Selling price 20% above cost

28) {ZåZ{b{IV gyMZmAm| go am‘ {b. H$m VwbZmË‘H$ pñW{V {ddaU ~ZmB¶o - [4]
{ddaU 2011 (J) 2012 (J)

Xm{¶Ëd : A§e ny±Or 80,000 1,20,000
g§M¶ 24,000 20,000
XrK©H$mbrZ F$U 1,00,000 1,20,000

¶moJ 2,04,000 2,60,000
gån{V¶m± : ñWm¶r gån{V¶m± 1,60,000 2,04,000

{d{dY XoZXma 20,000 40,000
~¢H$ eof 24,000 16,000

¶moJ 2,04,000 2,60,000
Prepare comparative Balance Sheet of Ram Ltd. from the above information -

Particulars 2011 (J) 2012 (J)
Liabilities : Share capital 80,000 1,20,000

Reserve 24,000 20,000
Long-Term Loan 1,00,000 1,20,000

Total 2,04,000 2,60,000
Assets : Fixed Assets 1,60,000 2,04,000

Sundry Debtors 20,000 40,000
Bank Balance 24,000 16,000

Total 2,04,000 2,60,000

29) amoH$‹S> àm{ßV Ho$ g§~§Y ‘| Z¡{VH$ AmYma na boIm§H$Z {H$g àH$ma {H$¶m OmVm h¡? (H$moB© Mma {~ÝXþ) [4]
How the accounting of cash receipts can be done on ethical basis? (Any four
points).
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30) {Z{H$Vm {b. H$s nwñVH$m| go {ZåZ{b{IV gyMZmE± àmßV H$s JB© h¡ : [6]
{ddaU 2010-11 2011-12

g§MmbZ go AmJ‘ 10,00,000 15,00,000
ì¶mnm[aH$ àmß¶VmE± : 1 Aà¡b 1,50,000
ì¶mnm[aH$ àmß¶VmE± : 31 ‘mM© 1,75,000 2,50,000
ñH$ÝY  : 1 Aà¡b 1,60,000
ñH$ÝY : 31 ‘mM© 1,80,000 2,20,000
XmoZm| dfm} Ho$ {bE ì¶mnm[aH$ àmß¶ AmdV© AZwnmV Ed§ ñH$ÝY AmdV© AZwnmV H$s JUZm H$s{OE& {dH«$¶ na bm^
25% h¢&

AWdm
ê${M {b. H$s nwñVH$m| ‘| {ZåZm{H$V gyMZm¶| Xr hþB© h¢ :- [6]
12%, 1,000 A{Y‘mZ A§e àË¶oH$ J 100, 25,000 g‘Vm A§e àË¶oH$ J 10 H$a níMmV bm^
J 1,90,000 g‘Vm A§em| na bm^m§e MwH$m¶m 40% H$s Xa go&
Cnamo³V gyMZmAm| Ho$ AmYma na {ZåZ AZwnmVm| H$s JUZm H$s{OE :-
i) à{V A§e AO©Z
ii) à{V A§e bm^m§e
iii) bm^m§e ŵJVmZ AZwnmV
Following information have been obtained from the books of Nikita Ltd.
Particulars 2010-11 2011-12
Revenue from operations 10,00,000 15,00,000
Trade Receivables on 1st April 1,50,000
Trade Receivables on 31st March 1,75,000 2,50,000
Inventory on 1st April 1,60,000
Inventory on 31st March 1,80,000 2,20,000
Calculate Trade Receivables Turnover Ratio and Inventory Turnover Ratio for
both of the years. Assuming that profit on sales is 25%.

OR
Following information given in the books of Ruchi Ltd. :-
1,000, 12% preference shares @ J 100 each, 25,000 Equity shares @ J 10 each,
profit after tax J 1,90,000, Dividend paid on equity shares @ 40%.
Calculate following ratio on the basis of above information :
i) Earning per share.
ii) Dividend per share.
iii) Dividend payout Ratio.

AWdm/OR

[Turn Over
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IÊS> - ~

SECTION - B

24) g§¶w{³VH$aU go Amn ³¶m g‘PVo h? [1]

What do you mean by networking?

25) ¶yOa BÝQ>a’o$g go Amn ³¶m g‘PVo h¡? [1]

What do you mean by user interface?

26) E³gob ‘| ZB© dH©$ ~wH$ ~ZmZ| H$s à{H«$¶m g‘PmAm|& [2]

Explain process of creating a new workbook in Excel.

27) dH©$ ~wH$ g§aMZm ‘| ""gob H$mo hQ>mZm d H$mnr H$aZm'' go Amn ³¶m g‘PVo h¡? [2]

What do you mean by "Moving and Copying Cells" in structure of Work Book?

28) boIm§H$Z gmâQ>do¶a Ho$ àH$mam| H$m CëboI H$amo& [4]

Narrate types of Accounting Software.

29) S>mQ>m~og ‘oZoO‘|Q> {gñQ>‘ Ho$ àH$mam| H$mo g‘PmB¶o& [4]

Explain types of Data base management system.
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30) {dÎmr¶ {díbofU Ho$ A{V[a³V ñàoS>erQ> Ho$ {H$Ýhr N>… Cn¶moJm| H$mo {b{I¶o& [6]
AWdm

{ZåZm§{H$V n[apñW{V¶m| ‘| ñàoS>erQ> Ho$ boIm§H$Z ‘| à¶moJ H$mo g‘PmB¶o - [6]
i) IMm} H$s JUZm

ii) Am¶ H$s JUZm

Explain any six uses of spread sheet except financial analysis.

OR

Discuss the application of spread sheet in accounting in following cases :

i) Calculation of Expenses.

ii) Calculation of Income.


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 Roll No. 

 
No. of Questions – 30    

No. of Printed Pages – 16 

 
 (ACCOUNTANCY) 

  , 2020 
 3¼ 

 80

  

     

GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1)    -      

Candidate must write first his / her Roll No. on the question paper compulsorily.

  (2)      

All the questions are compulsory.

  (3)       -     

Write the answer to each question in the given answer-book only.
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  (4)      ,          

For questions having more than one part, the answers to those parts are to be written 

together in continuity.

(5) -          //       

     

If there is any error / difference / contradiction in Hindi & English versions of the 

question paper, the question of Hindi version should be treated valid. 

(6) (i)  -      –     

  (ii)  ‘’        

  (iii)  ‘’    ,                 

    

(i) This question paper contains two Sections – A and B. 

  (ii) Section ‘A’ is compulsory for all candidates. 

  (iii) Section ‘B’ has two portions. Every portion has a set of seven questions. Candidate 

can attempt only a set of seven questions of any one portion.  
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 (7)       

   1-8 1 

   9-14 2 

   15-21 4 

   22-23 6 

   24-25 1 

   26-27 2 

   28-29 4 

   30 6 

                                  

   24-25 1 

   26-27 2 

   28-29 4 

   30 6    
Section Q. Nos. Marks per question 

A 1-8 1 

 9-14 2 

 15-21 4 

 22-23 6 

B 24-25 1 

 26-27 2 

 28-29 4 

 30 6 

                 OR 

 24-25 1 

 26-27 2 

 28-29 4 

 30 6 

  (8)   22 (-)  30 (-)     

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B). 
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 –  
SECTION – A 

 

1.       -         ?

Why does interest on partners loan is not shown in profit and loss appropriation account ? 1 

 

2.                  ?

What will be the entry for reducing the provision for bad-debts at the time of admission 
of a partner ?   1 

 

3.     ,                

Write down the name of accounts in which general-reserve transfer at the time of 
admission of a partner.   1 

 

4. ,    1/2, 3/10  1/5        ,     
         

Som, Mangal and Yuvraj were partners sharing profit in the ratio of 1/2, 3/10 and 1/5. 

Som retires from the firm. Calculate the gain ratio. 1 

 

5.         ` 50,000           
` 40,000         

At the time of dissolution of a firm a creditor ` 50,000 is shown in the books is settled by 

typewriter ` 40,000 is not shown in the books, write entry which is made it ? 1 

 

6. -         /        
 

Write down the name of methods write-off discount/loss on issue of debentures by 

statement of profit and loss ?   1 
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7.             ?

In which rate, zero coupon rate debentures are issued ? 1 

 

8.         

State the maximum number of ventures in joint venture. 1 

 

9. ,    2 : 2 : 1                 
     ` 40,000               
      

Pushpak, Pankaj and Ravi are partners in sharing profit in the ratio of 2 : 2 : 1. Ravi 

retires from the firm. The profit on revaluation is ` 40,000. Amount of asset and 
liabilities are not to be changed. Pass journal entries of profit on revaluation. 2 

 

10.                   
        ` 1,50,000    ` 1,80,000         
       

Kamlesh and Kishan are co-ventures in an underwriting business. Each one keep record 

of all the transactions in their books. Kishan sold the shares received from a company of     

` 1,50,000 at ` 1,80,000. Give journal entries in the books of both the parties for sold 

shares.   2 

 

11.             

 (i)  

 (ii) 

Distinguish between consignment and sale on the basis of following points : 

 (i) Relation 

 (ii) Remuneration   2 
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12.    ` 40,000     ` 60,000     ` 18,000     
        10          25  
         5           
` 15,000            
A consignee sold goods of invoice price of ` 40,000 at ` 60,000. Which includes credit 
sales ` 18,000. The consignee is entitled to a commission of 10% on invoice price and 
25% of the excess sale value over that. He also receives 5% del credere commission on 
credit value sale. Only ` 15,000 were received from debtors. Prepare commission a/c in 
the book of consignee ?   2 

 
13. -              

Write the name of the books kept for the purpose of finding basic information in non-
trading concern.   2 

 
14.    -       
   ` 8,00,000;   ` 6,50,000;   ` 1,00,000;    ` 1,20,000

Write the following items in income and expenditure account and in balance-sheet : 2 
 Building fund ` 8,00,000; Expenses on building ` 6,50,000; Environment fund                  

` 1,00,000; Expenses on environment ` 1,20,000. 
 
15. ,    2 : 2 : 1    -         

 ` 3,00,000; ` 2,00,000  ` 1,00,000   31 , 2019        
  8      10      ()      
  ,      
Arpita, Archita and Sunita are partners in a firm sharing profit and losses in the ratio of             
2 : 2 : 1. Their fixed capital were ` 3,00,000; s` 2,00,000 and ` 1,00,000 respectively. For 
the year ended 31st March, 2019, interest on capital was credited to them @ 10% per 
annum instead of 8% per annum. Showing your working note clearly, pass necessary 
adjustment journal entry.   4 

 
16. ,    4 : 3 : 2    -       1 , 2019  

                   
` 3,93,000; ` 3,96,000  ` 1,83,000       ` 5,60,000       
     -  5 : 3 ,             
  
Neha, Neeru and Shyamu were partners sharing profit and losses in the ratio of 4 : 3 : 2. 
Neeru retired on 1st April, 2019. On the date their capitals after all such adjustments stood 
at ` 3,93,000; ` 3,96,000; and ` 1,83,000. The entire capital of the firm as newly 
constituted is fixed at ` 5,60,000. Their new profit sharing ratio of 5 : 3. Calculate actual 
cash to be paid off and to be brought in by the remaining partners. 4 
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17. , ,    4 : 3 : 2 : 1             
    ` 50,000 (); ` 40,000 (); ` 30,000 ()  ` 20,000 () 
  31 , 2019               ` 2,000 
        ,         

Rohit, Siddharth, Yash and Yashraj are partners in a firm sharing profit in the ratio of              
4 : 3 : 2 : 1. Their fixed capital balances were ` 50,000 (Cr.); ` 40,000 (Cr.); ` 30,000 
(Dr.) and ` 20,000 (Dr.) respectively The firm dissolved on 31st March, 2019 due to 
Yashraj become insolvent. Only ` 2,000 realised from Yashraj. Prepare partners’ capital 
a/c, if Garner V/s. Murrey rules applies.  4 

 

18.   , 2013  -III -II        , 
-    

Prepare a format of company’s statement of profit and loss with only main heading as per 
the Indian Company Act, 2013 under Schedule III Part II. 4 

 

19.     100    ` 1,000                       
` 10,000   10           ` 8,000        
       ` 2,000   90     ` 1,500        
     ,     25       

Mahadev consigned 100 bales of cotton to Satyam at invoice price of ` 1,000 per bale. 
Consignment expenses were ` 10,000. 10 bales stolen in transit and the insurance 
company accepted the claim amount of ` 8,000. Satyam received the remaining bales and 
paid cart hire ` 2,000. 90 bales were sold by Satyam @ 1,500 per bale. Prepare 
consignment account at cost price, if goods consigned with cost plus 25% on profit.  4 

 

20.              

 (i)  (ii)  

 (iii)  (iv) 

Write down the difference between joint venture and partnership on the basis of 
following points :   4 

 (i) Objects (ii) Registration 

 (iii) Member (iv) Act 
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21.    “  ”           

-  

 `  ` 

  28,000   (      

(+)     2,000 30,000    ) 24,000 

 (10%    ) 4,000  36,000 

- 12,000  (10%    ) 8,000 

 22,000   

 68,000  68,000 

      

    ` 22,000;   ` 8,000;   ` 2,000. 

From the following information, calculate the opening capital fund of “Kiran Welfare 

Club”.   4 

Income and Expenditure Account 

 `  ` 

To  Salary                    28,000 

 (+) Outstanding       2,000 

To Depreciation  

 

30,000 

 

By Rent  

 (including one month 

advance of last year) 

 

 

24,000 

 (@ 10% on Furniture) 4,000 By Subscription 36,000 

To Advertisement Exp. 12,000 By Interest 8,000 

To Surplus 22,000     (@ 10% on F.D.)  

 68,000  68,000 

 Opening balances were : 

 Opening Cash Balance ` 22,000; Outstanding Salary ` 8,000; Advance subscription        

` 2,000. 
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22.       7 : 3    -      31 , 2019  
      

  
 `  ` 

  60,000  36,000 

- 10,000  46,000  

    (–)       2,000 44,000 

  50,000   50,000 

  40,000 90,000  30,000 

 1,60,000  1,60,000 

 1 , 2019                
 (i)     ` 30,000  ` 10,000    
 (ii)    20            
 (iii)      60       
 (iv)  -  21 : 9 : 10   
 (v)                 
          

 
 1-4-2019  ,     ,  2 : 2 : 1    -      

` 2,40,000         ,    ` 8,000 - 
          31        1 , 2019    
           -         
     

 (i)     10         
 (ii)                  
 (iii)                      

      
 (iv) 1 , 2019     ` 3,60,000 ,                 

` 22,000   
 (v)     -  ` 60,000; ` 1,12,000; ` 20,000 ()  ` 1,36,000   
         
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Rohit and Rahul are partners in a firm sharing profits in the ratio of 7 : 3. Their balance 
sheet as on 31st March, 2019 was as follow : 6 

BALANCE SHEET 

Liabilities  ` Assets ` 

Creditor 60,000 Cash 36,000 

General Reserve 10,000 Debtors            46,000  

Capital Accounts :  (–) PBD             2,000 44,000 

 Rohit  –  50,000  Stock 50,000 

 Rahul –  40,000 90,000 Plant 30,000 

 1,60,000  1,60,000 

 On 1st April, 2019 they admitted Bhavesh as a new partner on the following terms : 

 (i) Bhavesh will bring ` 30,000 for his Capital and ` 10,000 for premium. 

 (ii) 20% General Reserve will be transferred to provision for bad-debt account. 

 (iii) Stock and Plant value reduced upto 60%. 

 (iv) New profit and losses ratio will be 21 : 9 : 10. 

 (v) The capital of old-partner are also to be adjusted according to new partner capital. 

 Prepare Revaluation account and partner’s capital accounts. 

OR 

 On 1-4-2019 x, y and z are partners sharing profit and losses in the ratio of 2 : 2 : 1. They 
had a joint life insurance policy of ` 2,40,000 and the annual premium of ` 8,000 has 
been charged to Profit and Loss account every year. Account were closed on 31st March 
annually. z died on 1st August, 2019. Besides his capital and insurance money z’s Legal 
representatives are entitled to :   6 

 (i) Interest on Capital at 10% per annum upto the date of death. 

 (ii) Partner’s share in profit based on average profit of last four completed year. 

 (iii) Partner share in goodwill (premium), which is to be calculated at three years of 
purchase of average profit of the last four years. 

 (iv) z’s Capital on 1st April, 2019 at ` 3,60,000 and his drawings from the date to the 
death amounted to ` 22,000. 

 (v) Profit and Loss for last four years were ` 60,000; ` 1,12,000; ` 20,000 (loss) and                  
` 1,36,000 respectively.  

 Prepare Legal representative’s account of z. 
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23.    ` 100   10,000   10         
   – ` 40   ( ),   ` 40    ` 30  9,500  
               300    ,   
          ,   200    ,     
            

Asha Ltd. issued 10,000 equity shares of ` 100 each at 10% premium, payable as follow : 6 

 ` 40 on application (including premium), ` 40 on allotment and ` 30 on call. Application 
were received for 9,500 shares and full allotment was made. Komal holding 300 shares 
failed to paid allotment and call money. Another shareholder Raj holding 200 shares paid 
call money with allotment in advance. Pass necessary journal entries. 

 

 –  

SECTION – B 

 

24.     ,    (-)    100       ? 

 Write down the name of item which is taken as 100 in common size statement of profit 
and loss (income).   1 

 

25.     ,    87.5   ? 

What will be the operating profit ratio, if operating ratio is 87.5% ? 1 

 

26. -         

What is trend-analysis and write down the name of its methods. 2 

 

27.      4 : 1     ` 75,000        
    

Current ratio of a company is 4 : 1 and working capital is ` 75,000. Calculate the amount 
of Current Assets and Current Liabilities.  2 

 

28.   -   ?      

What is window-dressing in ethics ? Write down any three examples of it. 4 
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29.              

 
 

 

      % 

2018 (`) 2019 (`) % 2018 %  2019 

(A)          

     3,00,000 ………. 60.00 40.00 

     ………. 1,95,000 ………. ………. 

    ………. ………. 20.00 ………. 

            5,00,000 6,50,000 100.00 100.00 

(B)        

    2,00,000 ………. ………. 50.00 

   ………. 2,60,000 30.00 ………. 

    1,50,000 ………. ………. ………. 

               ………. 6,50,000 ………. 100.00 

Fill the blanks from the following information for common-size Balance Sheet : 4 

Particulars 
Note 

No. 

Absolute Amounts % of Balance Sheet Total 

2018 (`) 2019 (`) % for 2018 % for 2019 

(A) Equities & Liabilities :      

 Equity Share Capital  3,00,000 ………. 60.00 40.00 

 Res. & Surplus  ………. 1,95,000 ………. ………. 

 Current Liabilities  ………. ………. 20.00 ………. 

              Total :  5,00,000 6,50,000 100.00 100.00 

(B) Assets :      

 Fixed Assets  2,00,000 ………. ………. 50.00 

 Investment  ………. 2,60,000 30.00 ………. 

 Current Assets   1,50,000 ………. ………. ………. 

            Total :  ………. 6,50,000 ………. 100.00 
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30.           

  ` 

   40,00,000 

  4,00,000 

10%  16,00,000 

  28,00,000 

  16,00,000 

  2,00,000 

  4,00,000 

  3,00,000 

        20     

   ` 50,000 

       

 (i)   (ii)   

 (iii)   (iv)    

 

 (i)    “   ”  “- ”     

    (    ) ` 3,50,000 

  10   ` 5,00,000 

    50% 

    ` 40,00,000 

 (ii)             

    ` 12,00,000;     1/3;    5 ;   

   ` 24,000    
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 Following are the information of Shree Sanwaliya Ltd : 6 

  ` 

Equity Share Capital 40,00,000 

Capital Reserve 4,00,000 

10% Debenture 16,00,000 

Net Sales 28,00,000 

Gross Profit 16,00,000 

Selling Expenses 2,00,000 

Current Assets 4,00,000 

Current Liabilities 3,00,000 

Closing Stock is 20% excess on Opening 

Stock 

Opening Stock 50,000 

 Calculate the following ratios : 

 (i) Liquidity ratio (ii) Proprietary ratio 

 (iii) Operating ratio (iv) Stock Turnover ratio

OR 

 (i) Calculate the Rate of Return on investments and “Debt-Equity ratio” from the 

following information : 

  Net Profit (after interest and tax) ` 3,50,000 

  10% Debentures ` 5,00,000 

  Tax Rate  50% 

  Capital employed ` 40,00,000 

 (ii) Calculate the amount of opening and closing inventory (stock) from the following 

information : 

  Total Sales ` 12,00,000; Gross Profit 1/3 of cost; Stock turnover ratio = 5 times; 

Closing Stock is ` 24,000 excess over the Opening Stock. 
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 -  

SECTION – B 

 

24.              
Write the name of function used for calculation of straight depreciation method. 1 

  

25.      
Define the work book.   1 

  

26. ....      
Write any two disadvantages of DBMS.  2 

 

27.  ()       
Write any four examples of input devices.  2 

  

28. -        
Write any four applications of spread-sheet in accounting. 4 

  

29.         
Explain the various steps of computerized accounting process. 4 

  

30.       

 (i)  (ii)  

 (iii)   (iv)   

 

 “  ,       ”          

 (i)  (ii)  

 (iii)  (iv)  

 (v)  (vi)  
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Write short notes on following :   6 

 (i) MIS (ii) AIS 

 (iii) Accounting Report (iv) Exception Report 

OR 

 “Computerized accounting system is better than Manual accounting system.” Explain it 
with help of following points :   6 

 (i) Speed (ii) Cost 

 (iii) Back-up (iv) Security 

 (v) Classification (vi) Adjustment entry   

___________  


